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ABSTRACT

The Special Theory of Relativity takes us to two results that presently are considered “inexplicable” to many
renowned scientists, to know:

-The dilatation of time, and
-The contraction of the Lorentz Length.

The solution to these have driven the author to the development of the Undulating Relativity (UR) theory,
where the Temporal variation is due to the differences on the route of the light propagation and the lengths
are constants between two landmarks in uniform relative movement.

The Undulating Relativity provides transformations between the two landmarks that differs from the
transformations of Lorentz for: Space (x,y,z), Time (t), Speed (u ), Acceleration (&), Energy (E), Momentum

(p), Force (17“ ), Electrical Field (E), Magnetic Field (E ), Light Frequency ( y ), Electrical Current (j) and
“Electrical Charge” ( p ).

From the analysis of the development of the Undulating Relativity, the following can be synthesized:

- It is a theory with principles completely on physics;

- The transformations are linear;

- Keeps untouched the Euclidian principles;

- Considers the Galileo’s transformation distinct on each referential;

- Ties the Speed of Light and Time to a unique phenomenon;

- The Lorentz force can be attained by two distinct types of Filed Forces, and

- With the absence of the spatial contraction of Lorentz, to reach the same classical results of the special
relativity rounding is not necessary as concluded on the Doppler effect.

Both, the Undulating Relativity and the Special Relativity of Albert Einstein explain the experience of Michel-
Morley, the longitudinal and transversal Doppler effect, and supplies exactly identical formulation to:
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Undulating Relativity
§ 1 Transformation to space and time

The Undulating Relativity (UR) keep the principle of the relativity and the principle of Constancy of light
speed, exactly like Albert Einstein’s Special Relativity Theory defined:

a) The laws, under which the state of physics systems are changed are the same, either when referred to a
determined system of coordinates or to any other that has uniform translation movement in relation to the
first.

b) Any ray of light moves in the resting coordinates system with a determined velocity c, that is the same,
whatever this ray is emitted by a resting body or by a body in movement (which explains the experience of
Michel-Morley).

Let's imagine first that two observers O and O’ (in vacuum), moving in uniform translation movement in
relation to each other, that is, the observer don’t rotate relatively to each other. In this way, the observer O
together with the axis x, y, and z of a system of a rectangle Cartesian coordinates, sees the observer O’
move with velocity v, on the positive axis x, with the respective parallel axis and sliding along with the x axis
while the O’, together with the x’, y’ and z’ axis of a system of a rectangle Cartesian coordinates sees O
moving with velocity —v’, in negative direction towards the x’ axis with the respective parallel axis and sliding
along with the x’ axis. The observer O measures the time t and the O’ observer measures the time t' (t # t').
Let's admit that both observers set their clocks in such a way that, when the coincidence of the origin of the
coordinated system happens t = t' = zero.

In the instant that t = t = 0, a ray of light is projected from the common origin to both observers. After the
time interval t the observer O will notice that his ray of light had simultaneously hit the coordinates point A (x,
y, z) with the ray of the O’ observer with velocity ¢ and that the origin of the system of the O’ observer has
run the distance v t along the positive way of the x axis, concluding that:

x2+y2+22—02t2=0 1.1
X=x-vt. 1.2
The same way after the time interval t' the O’ observer will notice that his ray of light simultaneously hit with
the observer O the coordinate point A (x’, y’, Z') with velocity ¢ and that the origin of the system for the
observer O has run the distance v't' on the negative way of the axis x’, concluding that:
x’2+y’2+z’2—czt’2=0 1.3
x=x+Vvt. 1.4
Making 1.1 equal to 1.3 we have

X2+y2+22—02t2=x’2+y’2+z'2—czt'2. 15
Because of the symmetry y =y’ end z = Z, that simplify 1.5 in

X -t =x?-c’t? 1.6

To the observer O X’ = x — v t (1.2) that applied in 1.6 supplies

X —c*t= (x-v t)2 — ¢ t” from where

, v 2w
t=t 1+—2——2. 1.7
c ct

To the observer O’ x = x’ + V' t' (1.4) that applied in 1.6 supplies

(X + Vvt —c?? = x? - c? t? from where
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' v12 2V,x,
t=t,1+ + : 1.8

2 2
c c't
Table |, transformations to the space and time
X =x-vt 1.2 x=xX+vt 1.4
y=y 1.2.1 y=y 1.4.1
z=z 1.2.2 z=7 14.2
2 2
v 2wx Ve 2v'x!
'=t 1+—2——2 1.7 r=t' 1+—2+T 1.8
¢ c't c ct'
From the equation system formed by 1.2 and 1.4 we find
vt=vtor |v|t = |v'|t' (considering t>o0 e t'>0) 1.9

what demonstrates the invariance of the space in the Undulatory Relatitivy.
From the equation system formed by 1.7 and 1.8 we find
v 2w vy
1+—2——2. 1+—2+T=1. 1.10
c- ct c c’t'
Ifin 1.2 x’ = 0 then x = v t, that applied in 1.10 supplies,

2
v 2
= 1 = 1.11
c c

Ifin 1.10 x = ct and x’ = ¢ t’ then

(I—X}(HLJ:I. 112
C C

To the observer O the principle of light speed constancy guarantees that the components ux, uy and uz of
the light speed are also constant along its axis, thus

=_=ux’—=—=uy—=—=uz 113

x _dx y dy z dz
¢ dt ¢ dt t o dt

and then we can write

vi o 2wx v 2vux
It =tz 114
c ct c c
With the use of 1.7 and 1.9 and 1.14 we can write
|V| t vi o 2wx v 2vux
_ = 1+—2 2 = 1+—2— B ) 115
|v’| t c ct c c

Differentiating 1.9 with constant v and v', or else, only the time varying we have

vidt =p\dt' o | | 1.16
e =1
Iv'l
butfrom115| 1/ 2V”x then df'= dt1/1 _ v 1.47
v
Being v and v’ constants, the reazons % and ? in 1.15 must also be constant because fo this the
V!

2

. . 2vx x dx _
differential of 1+—2——2 must be equal to zero from where we conclude ? = E =ux, that is exactly
c c't

the same as 1.13.
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To the observer O’ the principle of Constancy of velocity of light guarantees that the components u'x’, u’y’,
and u’z’ of velocity of light are also constant alongside its axis, thus

xdx "dy z' dZ
—=—=UX',L y u'y"_z—zu'z', 1.18
t dt' t dt' ¢ dt'

and with this we can write ,

1 Vi vy . Vi 2v'u'x!
st = . 1.19

c ct c c

With the use of 1.8, 1.9, and 1.19 we can write

vl ¢ v;2 2V’ x/ v|2 2V' ' v
P~ = I+ + = [1+—+ . 1.20
|v| t ¢t c’ c?

Differentiating 1.9 with v’ and v constant, that is, only the time varying we have

|V|de'=v|dt or = M 1.21

|v| dt
|V'| v12 2v'u'x' v|2 2'u'x'
but from 1.20 l+—+——F—then dt =di"\[1+—F+———. 1.22
|v| ¢’ c c c
v t
Being v’ and v constant the divisions H and - in 1.20 also have to be constant because of this the
v
V|2 2V|x| x' {
differential of 1+_2+T must be equal to zero from where we conclude —'=?=u'x', that is
c ct t t

exactly like to 1.18.

Replacing 1.14 and 1.19in 1.10 we have

v 2vux v 2v'u'x!
1+—2— —. 1+—2+ — =1 1.23
c c c c

To the observer O the vector position of the point A of coordinates (x,y,z) is
R=xi +y +zk , 1.24

and the vector position of the origin of the system of the observer O’ is
Ro'=vti +0j +0k = Ro'=vti . 1.25

To the observer O’, the vector position of the point A of coordinates (x',y’,Z’) is

R=xi+yj+z'k, 1.26
and the vector position of the origin of the system of the observer O is

Ro=—v1i+0j+0k =>Ro=—V'1'i . 1.27
Due to 1.9, 1.25, and 1.27 we have, Ro'=—R'0. 1.28

As 1.24 is equal to 1.25 plus 1.26 we have

— —

R=Ro'+R = R'=R—-Ro'. 1.29

— — —

Applying 1.28 in 1.29 we have, R=R'-R'o. 1.30
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To the observer O the vector velocity of the origin of the system of the observer O’ is
. dRO' - - - _ -
v:—tzvz+0]+0k:>v=vz. 1.31

To the observer O’ the vector velocity of the origin of the system of the observer O is

- dé'o - = - — g
v'= Py =Vi+0j+0k =>v'=—V'"i . 1.32
t
From 1.15, 1.20, 1.31, and 1.32 we find the following relations between v and V'
'
v = 4 1.33
12 [
v 2V'u'x
\/1+2+2
c c
Y= —Vv ) 1.34
2vux
-
c c

Observation: in the table | the formulas 1.2, 1.2.1, and 1.2.2 are the components of the vector 1.29 and the
formulas 1.4, 1.4.1, and 1.4.2 are the components of the vector 1.30.

§2 Law of velocity transformations u and u'

Differentiating 1.29 and dividing it by 1.17 we have

R' dR - dRo' u-v -V
P : 2.1
d 2vux 2vux \/_
2 o o2
Differentiating 1.30 and dividing it by 1.22 we have
dR dR'—dR'0 B, T T
dt v'2 Wu'x' v'2 Wu'x' \/_'
ar'\[1+—+——— I+—+——
c c c c
Table 2, Law of velocity transformations # and u'
=t 2.1 it 2.2
gyl Y 03 = u'x'+v' 04
o Wy u'y'
uy=-—r— 2.31 uy = 241
VK JK'
u'z'=-"=2 232 |uz= ik 242
M V]
V=" 1.15 V= 1.20
K VK’
2 2
v: 2vux v 2v'u'x!
VK = ]+_2__2 25 1/[{':\/14__24_ > 2.6
c c c c
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Multiplying 2.1 by itself we have

2vux
u1f1+—— 5
' u u

u= 2.7
v 2vux
1+— 5
c c
Ifin 2.7 we make u = c then U’ = ¢ as it is required by the principle of constancy of velocity of light.
Multiplying 2.2 by itself we have
' V12 2v'u'x'
u', 1+ 7 + "
u= 4 4 2.8
v 2v'u'x!
I+—+—F
c c

Ifin 2.8 we make u’ = ¢ then u = c as it is required by the principle of constancy of velocity of light.

c—V
If in 2.3 we make ux = ¢ then u'x'=
1 2ve
P
velocity of light.
c+v'
If in 2.4 we make u’x’ = ¢ then ux =
Vi v'e
I+—+—
c c

velocity of light.

Remodeling 2.7 and 2.8 we have
2

u
/1 2vux c
2
uY
I—T
c
1 u|2
5 2
v 2v'u c?
1 2 2
c c u>
==
c

=c as it is required by the principle of constancy of

=c as it is required by the principle of constancy of

29

2.10

The direct relations between the times and velocities of two points in space can be obtained with the
equalites #'=0=u'x'=0=>ux=v coming from 2.1, that applied in 1.17, 1.22, 1.20, and 1.15 supply

df'= dt1/1+——%

dt = dt' M) — df'=
1+5
C
V' V'
YRS i ——
Ve 200 v
IVI IVI

2.11

2.12

2.13

2.14
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Aberration of the zenith

To the observer O’ along with the star u'x’ = 0, Uy’ = ¢ and u'z = 0, and to the observer O along with the
Earth we have the conjunct 2.3

2
Ux—v u v
0= :>ux:v,C=—y:>uy=q/1——,uz:O,
v 2vux vi 2y ¢
I+ 55 -
c c c c
2
2
_ 2 2 2 _ |2 v 2 - .
u—\/ux tuy” tuz” =_|v’ + 01/1——2 +0° = c exactly as foreseen by the principle of relativity.
c

To the observer O the light propagates in a direction that makes an angle with the vertical axis y given by

ux % v/c
tango = — = =

- - 2.15
uy v %
Cull—— 1——
\/ c’ \/ c’

that is the aberration formula of the zenith in the special relativity .
If we inverted the observers we would have the conjunct 2.4

1.1 [ 1, 12
ux'+v u v
0= =Sux'=—v',c= - Y :>u'y'=01/]——2,u’z'=0,
\/ v 2viux! \/ v’ 2v’—v') ¢

I+—+—; I+—+ 5
c c c C
2
2 V'’
w' = Ju” +uy? +uz? = (v | el-5 | 407 =¢
c
X' -/ v
tango = = =

= - - 2.16
uy v’ V'
C'\/I_Z \/]—2
C C

that is equal to 2.15, with the negative sign indicating the contrary direction of the angles.

Fresnel’s formula

Considering in 2.4, u'x'=c/n the velocity of light relativily to the water, v'=v the velocity of water in
relation to the apparatus then ux = ¢' will be the velocity of light relatively to the laboratory

1
, c/n+v c/n+v c v:io 2v) 2?2 c (v 2v
c'= = =l —tv|l+—5+—| Z|—+v|l-—=|5+—
v 2ve/n v:io v n ¢ nc n 2\c¢® nc
1+ — I+—+—

—+
2 2
C C

02 nc

Ignoring the term v’ /¢’ we have

(c v)_c v v
=l —+v|l-—|z2—+v-——-—
n nc) n n*  nc

and ignoring the term v? /nc we have the Fresnel's formula

c v ¢ 1
c':—+v——2:—+v 1——2 ) 217
n n n n
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Doppler effect

i 2t12

Making 7°=x"+3p°+z° and r"=x"+y”+z” in 15 we have r’—c’t’=r"-c or
r'+ct’ v 2w
(r—ct): (r'—ct')Q replacing then r =ct, r'=ct' and 1.7 we find (r—ct)z (r'—ct') I+———-
(r+ct) c c't
woow 1 Lo, ., ., v 2wx - .y
as ¢c=—=—then —(kr—wt)z—(k r=w't ) I+———— where to attend the principle of relativity
k k' k k' ¢ ct
2w
we will define k'=k,|1+ — 2.18
¢ 't
Resulting in the expression (kr—wt)z (k’r'—w't’) symmetric and invariable between the observers.
To the observer O an expression in the formula of w(r,l) = f(kr—wt) 2.19

represents a curve that propagates in the direction of R . To the observer O’ an expression in the formula of
w'(r 1) = £ (kK r'—w't') 2.20
represents a curve that propates in the direction of R'.

o 2, 2=m
Applying in 2.18 k =7, k =7, 1.14, 1.19, 1.23, 2.5, and 2.6 we have
i’
\/_ \/_ 2.21
that applied in ¢ = yA = y' A" supply, )'= y\/f and y=)y'vK'. 222

Considering the relation of Planck-Einstein between energy (E) and frequency (y), we have to the
observer O E = hy and to the observer O’ E'= hy' that replaced in 2.22 supply

— EJK and E=E'VK'. 223

If the observer O that sees the observer O’ moving with velocity v in a positive way to the axis x, emits
waves of frequency ) and velocity ¢ in a positive way to the axis x then, according to 2.22 and ux =c¢ the

observer O’ will measure the waves with velocity ¢ and frequency y':y(l —X) , 2.24
c

that is exactly the classic formula of the longitudinal Doppler effect.

If the observer O’ that sees the observer O moving with velocity —v’ in the negative way of the axis x’, emits
waves of frequency )’ and velocity c, then the observer O according to 2.22 and u'x'=—V" will measure
waves of frequency y and velocity ¢ in a perpendicular plane to the movement of O’ given by

, er
y:ywll——z, 2.25
c
that is exactly the formula of the transversal Doppler effect in the Special Relativity.

§3 Transformations of the accelerations a and a’

Differentiating 2.1 and dividing it by 1.17 we have

du_du/\/_ (ﬁ #)vdux/K\/_ o a (. ﬁ)v ax
K

1% =—+Uu-Vv)——. 3.1
ar' dK > dK ( ¢’ K’
Differentiating 2.2 and dividing it by 1.22 we have
d_u dii' /K’ (4, 4,) Vv odu'x'/ K'NK' a_i_(ﬁ,_v,)ia'x' 32

= da
dt  drJK > darJK' K'
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Table 3, transformations of the accelerations a and a'

_,_a (. _\V ax __a ., vV aXx
ks I S s N
vV oax a'x’' "a'x
a'x' ="+ (ux—v) 3.3 ax = — (' x' )= 3.4
2 2 . 2 2 .
K K' K’
ay vV ax ay , ,vVax
ays=—+uy—— 3.3.1 ay=—-r—-u'y'— 3.4.1
K CZ KZ KI 2 K!Z
, , az v ax _az  ,  vax
az —E'i‘UZC—ZP 3.3.2 az = I’ 2K 3.4.2
a a'
a'=— 3.8 a=— 3.9
K K’
2 2
v 2vux vie 2V'u'x!
K=1+—5-"= 3.5 K'=l+—5+—F— 3.6
c c c c

From the tables 2 and 3 we can conclude that if to the observer O ii.d = zero and ¢’ = ux’ +uy2 +uz’,
then it is also to the observer O’ ii'd'=zero and ¢’ =u'x"’+u'y'’+u'z'* , thus i is perpendicular to @

and 1’ is perpendicular to @’ as the vectors theory requires.

Differentiating 1.9 with the velocities and the times changing we have, tdv+vdt=t'dv'+V'dt', but

considering 1.16 we have, vdt =V'dt'= tdv=t'dV' 3.7
_ L av'  dv , a

Where replacing 1.15 and dividing it by 1.17 we have, — =—— or a' =—. 3.8

dt'"  diK K

We can also replace 1.20 in 3.7 and divide it by 1.22 deducing

dv dv a'

—= ora=—. 3.9

dt df'K' K’

The direct relations between the modules of the accelerations a and a’ of two points in space can be
obtained with the #'=0=u'x'=0=a'x'=0 =1 =V = ux =v coming from 2.1, that applied in 3.8 and
3.9 supply

a a a a

a'= 3 = 3 and a = > —= o
v 2vv v v 2V'0 v
c c c c c c

3.10

That can also be reduced from 3.1 and 3.2 if we use the same equalities
U=0=>ux'=0=dx'=0=1u=v = ux=v coming from 2.1.
§4 Transformations of the Moments p and p’

Defined as p=m(u)ii and p'=m'(u’)i’, 4.1

e

u

where m(u) and m’(u’) symbolizes the function masses of the modules of velocities u :|L7| and u'=

We will have the relations between m(u) and m’(u') and the resting mass m,, analyzing the elastic

collision in a plane between the sphere s that for the observer o moves alongside the axis y with velocity uy
= w and the sphere s’ that for the observer O’ moves alongside the axis y’ with velocity u'y’ = -w. The
spheres while observed in relative resting are identical and have the mass m,. The considered collision is
symmetric in relation to a parallel line to the axis y and y’ passing by the center of the spheres in the moment
of. Collision.

Before and after the collision the spheres have velocities observed by O and O’ according to the following
table gotten from table 2
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Sphere | Observer O Observer O’
VIZ
Before S UxXs = zero , uys = w u'x's==v',u'ys=wl- >
c
v2
Collision s’ uxs'=v, uys'=—w,|1 -— u'x's'=zero, u'y's'=—-w
c
12
After s Uxs = zero , uys =—-w u'x's==',uys=-w I—VZ
c
V2
Collision s’ uxs'=v, uys'=w /1 - u'x's'=zero, u'y's'=w
c

To the observer O, the principle of conservation of moments establishes that the moments px = m(u)ux

and py= m(u)uy of the spheres s and s’ in relation to the axis x and y, remain constant before and after
the collision thus for the axis x we have

m(qluxs2+ uys’ )uxs+ m(«/uxs'z +uys'’ )uxs’ = m(qluxsz +uys’ )uxs+ m(qluxs’2+uys'2 )uxs' ,

where replacing the values of the table we have

2 2
2 2
2 14 2 — v o
ml _|[v+|—w 1——2 v=m| |[vi+| W 1——2 v from where we conclude that w = w,
c c

and for the axisy

m(qluxs2+ uys’ )uys+ m(«/uxs'z +uys'’ )uys’ = m(qluxsz +uys’ )uys+ m(qluxs’2+uys'2 )uys' ,

where replacing the values of the table we have

2 2

2 2 2 2
v v —\— — v — v
m(w)w—m| v+ —w I—— | |w ]——2:—m(w)w+m V| wall-— | [wil-—,
c c c c
simplifying we have
v’ v’
m(w)=m| [v?+w’ (] ——ZJ I ——, where when w—> () becomes
c c
2 2 2
v v v m(0
m(O)zm \/v2+02(1——2j 1——2:>m(0)=m(v) 1——2:>m(v):¢,
2
c c c y
1=
c
but m(O) is equal to the resting mass m, thus
m m
m(v): ——% __ with a relative velocity v=u = m(u): 0 4.2
VZ 2
I—C—2 I—C—2
— = _ myu
that applied in 4.1 supplies p = m(u)u =T 4.1
u
1=
c

With the same procedures we would have for the O’ observer
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m'(u'):L 43

u
]—
CZ
~ ~ m,u'
and p'=m'(u')i'= ———. 4.1
u/Z
I=—
c
o . . 3 o om,
Simplifying the simbology we will adopt m = m(u) =T 4.2
u
==
c
m
and m'=m'(u')= g 43
u”’
1—
CZ
that simplify the moments in p =mu and p'=m'u’. 4.1

Applying 4.2 and 4.3 in 2.9 and 2.10 we have

2 [ 2
V' 2Vu'x v 2vux
m:m'\/1+ >+ > =>m=m+vK' and m':m1/1+—2——2:>m':m\/K. 4.4
c c c c

~ dp' dmu
= and F'= - = M with this we can define then
dt dt’ dt’

Defining force as Newton we have F =

kinetic energy (Ek E',)as

E, =

S ey =

F.dR = Td(Mﬁ).dﬁ = jd(mﬁ) 1 = j(uzdmwL mudu),
0 0 0

and E', = Tﬁ’.dR’: TM.dEE Td(m’ﬁ’).ﬁ' =
0 0

T (u’z dm’+m’u’du’).
0

RSN S——

2

Remodeling 4.2 and 4.3 and differentiating we have m’c’—m’u’ = mozcz = u’dm+ mudu = ¢’ dm and

m?cl-m’u’ = m0202 =Su’dm'+m'u'du'=c’dm’, that applied in the formulas of kinetic energy

supplies £, = J.czdm =mc’ —myc’ =E-E, and E', = jczdm’:m’cz -m,c’ =E'-E,, 4.5
my my

where E =mc’ and E'=m'c’ 4.6

are the total energies as in the special relativity and £, = mocz 4.7

the resting energy.
Applying 4.6 in 4.4 we have exactly 2.23.

From 4.6, 4.2, 4.3, and 4.1 we find

E :c\/mozcz +p° and E'= c\/m0202+ p”’ 4.8

identical relations to the Special Relativity.

Multiplying 2.1 and 2.2 by m, we get
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mu' mu mv - E _

"u’z = "u2 - ”u2 :>m'ﬁ'=mu—m17:>13’:13—c2v
I——; 1-—— 1——
c c c
moﬁ moﬁ’ mO{;’ — [y 1 - ! ,_’!
and = - Smu=mu-mv=p=p-—V.
uZ ur2 u! C
1-—— 1-—; 1-—;
c c c
Table 4, transformations of moments p and p’
-, - E_ . ., E'_,
p'=p——V 4.9 p=p'-—V 4.10
c c
E !
p'x'=px——v 4.11 px=p'x+—v' 4.12
c c
p’y’:py 4111 py:p’y’ 4121
p’z’: pz 411.2 pz = p’z’ 4.12.2
m m
m:m(u)z—" 4.2 m’:m’(u’)z—o 4.3
1/[2 12
I-—— I-—;
c c
m'=m /K 4.4 m=m'JK' 4.4
E.=E-E 4.5 E' =E-E 4.5
Ezmcz 4.6 E'= m’cg 4.6
E =mc’ 4.7 E =mc’ 47
4.8 4.8
E :c\/mozcz +p° E'= c\/mozczwL p”’

Wave equation of Louis de Broglie

The observer O’ associates to a resting particle in its origin the following properties:

-Resting mass m,

-Time '=¢,

-Resting Energy E, = mocz

2
m_c

Frequency y _Eo _m,
) °"h h

-Wave function y,=asen2ry,t, with a = constant.

The observer O associates to a particle with velocity v the following:

o

2
-
C

-Mass m = m(v) = (from 4.2 where u =v)

t t
-Time ¢ = = = —2— (from 1.7 with ux =v and ¢'=t¢,)
v 2w v?
It———5 =
c c c
E m ¢’
-Energy £ = e =2 (from 2.23 with ux =v and E'=E))

2 2
I
C C
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Y, m,c’ /h

2 - 2
C C

-Distance x = vt (from 1.2 with X’ =

-Wave function yw =asen2ny,t, —asen27ry1f1—— 1f]———asenZny t——j with u =

2
-Wave length u= yi—c—zg y—h:>/1—— (from 4.9 with p'= p, = 0)
v p P p

To go back to the O’ observer referential where u'=0 = u'x'= (), we will consider the following variables:

-Frequency y= (from 2.22 with ux =v and y'=y,)

-Distance x = v't’ (from 1.4 with x’ = 0)

2 2
V' 2v’0 V'
-Timetzt’\/1+—2+ 5 \/1+— (from 1.8 with u'x'=0)
c c c

2

-Frequency y=)' (from 2.22 with u'x'=0)

Velocity v = ——— (de 2.13)

1+2

c
that applied to the wave function supplies

2 !2 72 ’

VX V' V vt
l//':asen27ry[t——2j=asen27ry'\/]+—2 z"\/1+—2 — =asen2ny't’,
¢ C C V!

021f1+ 5
c
butas t'=¢, and y'=y, then y' =y, .

§5 Transformations of the Forces F and F’

Differentiating 4.9 and dividing by 1.17 we have

' __dp___dE_ T ﬁw:i[ﬁ dEV}:ﬁ'—_[ﬁ_(* )%} 5.1

dt' diNK  diNK JK dt c

Differentiating 4.10 and dividing by 1.22 we have

db__dp__ dE V:ﬁzL[ﬁr dE" v } Fe [—(F'ﬁ')v—z] 52

dt  dt'\NK'  di'JK' ¢’ JK' dt' ¢’
From the system formed by 5.1 and 5.2 we have

dE _dE'
e dr

orﬁ.ﬁ:ﬁ’.ﬁ', 5.3

that is an invariant between the observers in the Undulating .Relativity.
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Table 5, transformations of the Forces F and F'

gt o el L

|

F'y'=Fy/JK 541 | Fy=F'y' /K’ 5.5.1
F'z'=Fz/\K 542 | Fz=F'z'/K' 5.5.2
dE' _dE -

dr  dr 5.3 Fu=F.u' 5.3

§6 Transformations of the density of charge p, p' and density of current J and J’

d
Multiplying 2.1 and 2.2 by the density of the resting electric charge defined as p_ :d_q we have
v

o

Pt Pt PV = p'ii' = pii — p¥ = J' = J — p¥ 6.1
\/1—”'2 \/1—”2 \/1—”2
02 C2 02

and pP.U _ pPu _ PV — Pﬁ =plﬁ{_p(‘_}’!: j =jl_pl‘_}’!. 6.2

2 12 12
\/1—”2 \/1—”2 \/1—”2
C C C

Table 6, transformations of the density of charges p, p' and density of current J and J'

j’:j—p\7 6.1 j:j’—p'\j’ 6.2
J'x'=Jx—pv 6.3 Jx=Jx"+ p"V' 6.4
J’y’: Jy 6.3.1 Jy:J’y’ 6.4.1
J'zZ'=Jz 6.3.2 Jz=J'Z 6.4.2
j:pﬁ 6.5 jr:prﬁr 6.6
= Po ' Po
p=—"= p= e
u 6.7 u' 6.8
I-— 1—
c c’
p'zp\/? 6.9 p:pr\/ﬁ 6.10

From the system formed by 6.1 and 6.2 we had 6.9 and 6.10.

§7 Transformation of the electric fields E, E' and magnetic fields B, B’

<y

Applying the forces of Lorentz F = q(a + xé) and F' = q(E' +u'x E') in 5.1 and 5.2 we have
q(E'+ﬁ'x§’): %[g(EjL ux E)— [q

and q(E+ ux E): L{q(a%ﬁ'x E')— [q(a'+ﬁ'x§')ﬁ']v—2} , that simplified become

JK'

- = 1 - L = ~ _\V - . = 1
(E'+u'><B'):—[(E+uxB)—(E.u)—2} and (E+u><B):

VK c VK’
where we get the invariance of E.ii =E'ii' between the observers as a consequence of 5.3 and the
following components of each axis

[(E'+ ii'x B ')— (E' ﬁ')z} from

2
C
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1 E E E:
E’x'+u’y’B’z’—u’z’B’y’:—{Ex+usz—usz— xzxv_ yt;yv_ ZL;ZV} 71
VK c c c
1
E'y+u'z’B'x'-u'x'B'z'=—=|Ey+uzBx—uxBz 711
JE[ ]
1
E'zZ+u'xB'y'—u'y'B'x'=——=|Ez+uxBy—-uyBx 71.2
=l ]
Ex+usz—usz:—] E’x’+u’y’B’z’—u’z’B’y’+E ey, Eyuyv +E Zuzy 7.2
JK' o2 o2 o2
1
Ey+uzBx—uxBz= E'y'+u'z’B'x'-u'x'B'z’' 7.21
Tt ]
1
Ez+uxBy-uyBx=——|E'Z'+u'x'B'y'-u'y'B'x' 722
Tt |

To the conjunct 7.1 and 7.2 we have two solutions described in the tables 7 and 8.

Table 7, transformations of the electric fields £, E' and magnetic fields Be B

Ex VUx E'x' viu'x'
E'x'=—|1—-—— 7.3 Ex = 1+ 7.4
JK ( czj \/K'( ¢’ j
Ey v’ vux) VBz E'y' v: viu'x") v'B'z
Evyv="2]+——_—— |- 1731 Ev = J+—+ + 741
y \/E( CZ CZ j \/E y lKr ( 02 CZ [KI
E 2 B El ’ 12 [ IB( '
Erz':TZ(m_Z_@}u 1oz | p=E2 (1+v_2+v”jJ_v V' | 742
K c c K VK’ c c VK’
B'x'=Bx 7.5 Bx=B'x' 7.6
v v’
B'y'= By+—Ez 7.5.1 By=B'y'-—E'Z’ 7.6.1
c c
B’z’:BZ—lZEy 7.5.2 Bz :B'z’+v—2E’y' 7.6.2
c c
E'y'= EyNK 77 Ey=E'y' VK 78
E 2= E=NK 771 | g paodK 7.8.1
ux u'x'
By:——ZEZ 7.9 B'y'=— 3 E'z’ 7.10
c c
ux u'x'
BZ=C—2Ey 7.9.1 B'z'=—4+FE"y' 7.10.1
Table 8, transformations of the electric fields £, E' and magnetic fields BeB
1 ~ _\V 1 = v’
E'x'=——| Ex—(E.ii) % 741 | BEx=——| E'x+(Erir) 7.12
Gl =) 0 s
1 1
E’y’=ﬁ(Ey—vBZ) 7111 | By =F(E’y'+V'B’Z’) 7.12.1
1 1
E'z'=—(Ez+VvBy 7112 | Ez=—(\E'z'-V'B"y’ 7.12.2
J ) 7' )
B'x'= Bx 713 Bx=B'x' 714
B'y'=By 7131 | By=R'"y' 7.14.1
B'z'=Bz 7132 | Bz=RB'Z' 7.14.2
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Relation between the electric field and magnetic field

If an electric-magnetic field has to the observer O’ the naught magnetic component E’:zero and the

electric component E'. To the observer O this field is represented with both components, being the
magnetic field described by the conjunct 7.5 and has as components

vEz vE
szzero,By=——2,Bz=—2y, 7.15
c c
. = 1. =
that are equivalentto B=—VxE. 7.16

c
Formula of Biot-Savart

The observer O’ associates to a resting electric charge, uniformly distributed alongside its axis x' the
following electric-magnetic properties:

-Linear density of resting electric charge p, = d_q'
X

-Naught electric current I'= zero

-Naught magnetic field B' = zero = ii' = zero

-Radial electrical field of module E'=/E'y’+E'z"" = ZP—OR at any point of radius R = 4/ y'* +z'* with

e

o

the component E'x'= zero.

To the observer O it relates to an electric charge uniformly distributed alongside its axis with velocity ux =v
to which it associates the following electric-magnetic properties:

Po

2
7
C

-Linear density of the electric charge p = (from 6.7 with u = v)

v
-Electric current [ = pv =PV
vZ
I=—
c
!
-Radial electrical field of module FE =T (according to the conjuncts 7.3 and 7.5 with
v
CZ
B'=zero = ii'=zero and ux =v)
, i vEz vEy
-Magnetic  field of  components Bx =zero, By=——, Bz =—; and  module
c c
vE v E v 1 1 1
B=—=— =— Po__Bo® \where W, =——7, being in the vectorial form
c c v:ooc v2 2me, R 27R g,C
I-— I-—
c c
- I _
B= H, u 717
2nR

where u is a unitary vector perpendicular to the electrical field E and tangent to the circumference that
passes by the point of radius R = \/y2 +z° because from the conjunct 7.4 and 7.6 Eé = zero.
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§8 Transformations of the differential operators

Table 9, differential operators

0 _0 v oq | 0_0 VO .
ox' 0Ox (0Ot ' ox 0x' ¢’ ot '
0 - i 8.1.1 i = 0 8.2.1
oy' 0Oy oy 9y -
0 = 2 8.1.2 2 = 2 8.2.2
0z 0z | 0z 0z o
o v 0 N 1 v’ _w |0 8.3 o _ v 0 N 1 ; v? vy} o | 894
ot JK ox K\ & t)ot ot JK' ox' JK' ¢t ot
From the system formed by 8.1, 8.2, 8.3, and 8.4 and with 1.15 and 1.20 we only find the solutions
0 x/t o o x'/t' 0
——t——=o0and ——+—F——=0 8.5
ox ¢ Ot ox' ¢ ot
From where we conclude that only the functions y (2.19) and ' (2.20) that supply the conditions
0 X/t O oy' x'/t' oy’
_l//+__l//:0 and V/ + V/ =0, 8.6

ox ¢’ ot ox' ¢ ot
can represent the propagation with velocity ¢ in the Undulating Relativity indicating that the field propagates

with definite velocity and without distortion being applied to 1.13 and 1.18. Because of symmetry we can also
write to the other axis

oy ytoy _ oy yaoy o 0w zhoy oy ZoyT

oy ¢ Ot oy ¢f ot - oz ¢’ ot o oz ¢ ot o
From the transformations of space and time of the Undulatory Relativity we get to Jacob’s theorem
_vux I+ viu'x'
g o',y z't) T 2 and J'— oxyzt) c? 8.8

o(x,y,2,1) - JK G(x’,y',z’,t')_ JK'
variables with ux and u’x’ as a consequence of the principle of contancy of the light velocity but are equal ais
J =J" and will be equaltoone J =J'=1 when ux=u'x'=c.

Invariance of the wave equation
The wave equation to the observer O’ is

o0, o 1
ax12 ayIZ azrz CZ atIZ

= zero
where applying to the formulas of tables 9 and 1.13 we get
2
i_l_Lg 2_|_ 82 + 82 _L v i‘l‘ ] ]+ﬁ_m 2 = zero
ox ¢’ ot oy’ oz° ¢’ JK 0x K ¢’ ¢ )ot

from where we find
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o o + i_ii+ﬁ o’ +2V3 o’ _4V2HX o’ +ﬁi+v4 o’ ux o°
ox’ oy’ o0z o’ ¢’ oxor ¢ oxor ¢ oxot ot o’ ¢’ o

v:iao? 2v o7 2v3 o’ 'ux o7 v o7 2vux &7 2Vlux &7 viux? o7 V' &’

—_— + - —+ — ————— ———— =zero
2 ox? ol axor o oxor ¢t oxor ' orf ¢t o’ ¢’ ot ¢’ ot o’
that simplifying supplies
Ki+Ki+Kaz _Li_b}zux o’ _ﬁi_ﬁ62+2vux6 vzuxzi_zem
ox’ oy’ oz° ¢t ot’ ¢ oxor ccoxt o’ o o ¢’ ot
where reordering the terms we find
2 2 2 2 2 2 2 2 2
K8—+Ka—+K6—— 1 VZ——ZV?X Lo 9 +2L2x 9 +@6—2 = zero 8.9
ox’ oy’ oz° c ¢ Jetarr loaxt o axar o o
but from 8.5 and 1.13 we have
o0 x/t 8 0 ux 8 o7 2ux &7 ux’ &’
—+ = —+— =—+— +——— = zero
ox ¢’ at ox ¢’ 61 ox ¢’ oxot ¢’ ot

0’ 0’ 0’ 1 0°
that applied in 8.9 supplies the wave equation to the observer O —— + — +—5——5 <5 =zero. 8.10
ox’ oy’ ozd ot

To return to the referential of the observer O’ we will apply 8.10 to the formulas of tables 9 and 1.18, getting
2
a _v_, a 2_}_8_24_&_1 _ V’ a + ] ]+ﬁ+M a = zero
ox' ¢’ ot o7 o7 7| JK ox' K c’ ¢ ot
from where we find
2 2 2 2 2 13 2 120 2 12 2 14 2
K@ +K,62 K,ﬁz_izaz_Z_vﬁ 2v4 0 _4v;,tx 0 +v_46_2+v_662+
ox'"’ oy oz’ ¢ ot ¢ ox'ot ¢t ox'or c ox'ot' c¢* o' ¢ o
+2v’3 u'x o’ v ol v o 27 o’ 27 u'x o’ 2?07 u'x o’

+ = + + ~ - ~
¢h oo o oax? oo of ax'or c? ox'et ¢t o’ ¢t o

Viu'x ot viu'x? o7 v?' o’
- - - = zero
¢’ o’ ¢’ o’ ¢ o’
that simplifying supplies
1% o’ 1% 0’ LK o’ 1 07 Xu'x &’ V2ol v et wu'x 87 viu'x? o B
12 + 12 12 __2 12 - 4 1] r__Z 12 __4 12 - 4 12 - 6 12 = zero
Ox oy Oz ¢’ ot c ox'ot'" c¢° Ox ¢’ ot c Ot c Ot

where reordering the terms we find

, 0’ , 0’ , 0’ VI O 2vu'x'\ 1ot vt 'Y 97 w'x” &
K'—+K'—+K'—-|[+—5+— - —— >+ — +—; | = zero
ox' oy oz' c’ ot ox' c- ox'ott ¢ o

C C
but from 8.5 and 1.18 we have
o x'/t' 8 o wx oY o 2ux & ux’ o’
/+ 2 r:0:> r+ 2 A = r2+ 2 ’ r+ 4 2
ox c® Ot ox c’ Ot ox ¢’ ox'ot ¢’ ot
that replaced in the reordered equation supplies the wave equation to the observer O’.

= zero

Invariance of the Continuity equation

The continuity equation in the differential form to the observer O’ is

8p +vj':zer0:>ai+a]x +8Jy +8JZ = zero 8.1
ot' o' ox' oy oz

where replacing the formulas of tables 6, 9, and 1.13 we get

2
(LQ+L(1+V_Z %Jaj R+(i+_ij(J o)+ 2B L0 g

JK ox Jk\ ¢ ot ox ¢’ ot oy 0z
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making the operations we find

2 2
vop Op v Op vuxdp O0Jx v 0Jx vdp v 0p 0Jy 0Jz
ox 0t ¢’ 0t <¢* 0t 0x ¢’ Ot ox ¢> ot 0y Oz

= zero

that simplifying supplies

Op wvuxdp OJx v oJx 0OJy 0Jz
-+ +——+ + =z
ot ¢ 0t Ox ¢ 0t Oy Oz

ero

where applying Jx = pux with ux constant we get

a_p_%ﬁ_ijaJerL@(pux)Jr@Jij@Jz=Zem:>8_p+8Jx+8Jy+8Jz

3 3 = zero 8.12
ot ¢ 0t Ox ¢ Ot oy 0z ot 0O0x Oy 0z

that is the continuity equation in the differential form to the observer O.

To get again the continuity equation in the differential form to the observer O’ we will replace the formulas of
tables 6, 9, and 1.18 in 8.12 getting

' 12 [ ’ r ! (A
V0 + ! ]+v_2+vu2x 0 p’\/K'+( 0 _v_z 0 j(J’x’+p’v’)+aJy +8JZ = zero
VK'0x" K’ c ¢ ot' ox' ¢ ot oy’ oz'

making the operations we find
' ' ' 2 ' (W] ' 1yt ' W ’ ' 12 ' 1’ ’
_V'op +8p +v2 op +vu2x op +8Jx _v_zﬁJx LY op _vZ op +8Jy +8Jz
ox' ot ¢ ot ¢ ot o0x' ¢ ot ox' ¢ ot 0y oz’

= zero

that simplifying supplies
op' vu'x'op' oJ'x' v oJx' oJy oJ<z
+ + - + +

i 2 i i 2 i ' ' =zero
ot ¢~ Ot ox ¢~ Ot oy oz
where applying J'x'= p'u’x" with u'x’ constant we get
a ! ! ! !a ! aJ! ! ! a r,,! ! aJ! ! aJ! ! a ! aJ! ! aJ! ! aJ! !
p+vu2x Py x_v_2 (pux)+ Y 4 Z o sero= 2P 4 * Y 4 Z — zero
ot' co ot 0x' ¢ ot' o0y’ oz’ ot ox' oy’ oz’

that is the continuity equation in the differential form to the observer O’.
Invariance of Maxwell’s equations
That in the differential form are written this way

With electrical charge

To the observer O To the observer O’
OEx OFy OFE OE'x' OFE'y' OF'Z '
+ y+ Z_P 8.13 + J + Z_P 8.14
ox oy 0z g, ox' oy’ oz' g,
an+8By+aBZ=0 815 8Bx+aBy+8 Z o 816
ox oy Oz ox' oy’ oz'
OEy OEx 0Bz OE'y" OE'xX' OB'Z'
- == 8.17 - == 8.18
ox oy ot ox' oy’ ot'
OEz OEy OBx OE'z" OE'y' OB'x'
——==- 8.19 = 8.20
oy 0Oz ot oy 0z ot
OEx OEz _ OBy g1 OE'x' OE'z' _ 0B') 8.2
0z Ox ot ' oz' ox' or' '
OBy 0OBx OEz OB'y' OB'xX' OFE'Z'
———— = Jz+eg pu — —_— =u,J' z'+e
P A T
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0Bz 0By _ Jrte OEx 8 25 OB’z OBy _ Jivae OFE' x' 826
2 2 K, oMo o |8 —Gy’ Py H, oMo o :
OBx 0Bz _ Jote OEy 807 OB'x’ 0B'z' _ Jviie OE'y' 828
= o K, JY TEM, o |8 o o HoJ VTEH, o -
Without electrical charge p = p'= zero and J=J'=zero
To the observer O To the observer O’
OFEx OEy OFz OE'x' OE'y' OF'Z
+——+—=0 8.29 + + =0 8.30
ox oy Oz ox' oy' oz’
an+8By+aBZ=0 831 OB'x +aBy +8BZ _0 8 32
ox oy Oz ox' oy’ oz'
OEy OEx 0Bz OE'y' OE'X' OB'Z'
- == 8.33 - == 8.34
ox oy ot ox' oy’ ot
OEz OEy OBx OE'z" OFE'y' OB’ x'
- =- 8.35 = 8.36
oy 0z ot oy 0z Ot
OEx OFz OBy OE'x' OE'Z OBy’
- =- 8.37 - == 8.38
0z  Ox ot oz' ox' ot'
8By_8ﬂ_8 OEz 830 OBy’ o ')c’_8 OE'Z' 8.40
o o Ha ' o oy Mo '
%_88}/_8 OFEx 641 0B’z 0 'y'_8 OFE'x' 6.4
oy o Pa ' o o Mo '
OBx 0Bz _ . OEy 8 43 OB'x' OB'z' _ . OE'y' 8.4
N Bl T M '
1
e, = — 8.45
c

We demonstrate the invariance of the Law of Gauss in the differential form that for the observer O’ is
OE'x’ OE'y' OE'Z '

L&Y _P 8.14
ox' oy' oz €

o

where replacing the formulas from the tables 6, 7, 9, and 1.18, and considering u’x’ constant, we get
0 v 0| Ex vux) 0| Ey v’ vux)| VvBz
—t S |= -5 |t =+t |-—F=|t
ox c’ ot |JK c 8y_\/f c c JK
0| Ez v vux vBy_ px/E
+—|—=| - + =
oz| VK VK| &
2

2 2
. : . v® OEx ,
making the products, summing and subtracting the term ———, we find

C C
2

¢ oOx

OEx i OEx vux OEx v’ux 0Ex OEy +i OEy vuxOEy vOBz N

ox ¢ ot ¢ ox ¢ ot oy oy < oy oy
O0Ez v’ 0Ez wvuxO0Ez vOBy v’ O0Ex Vv’ 0Ex pK

+—t—- + b=

0z ¢° Oz ¢’ oz 0z ¢ ox ¢’ ox £

o

that reordering results

v (ﬁEx ux 8Ex] 0Bz OBy I OEx OEx OFEy OFEz v ovux) pK
| =+ |-V — -— + + + I+

cc\ ox ¢ Ot oy oz ¢ Ot ox oy oz
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where the first parentheses is 8.5 and because of this equal to zero , the second blank is equal to

vpux o
- v(oux) = —Vl,pux = ——— gotten from 8.25 and 8.45 resulting in
€,C

o

2 2
(6Ex+8Ey+6EZJ(]+V__MJ:£(1+v__vuxj_£vux P vux

+
ox oy 0Oz e, ¢ g, c’

OEx OEy OFEz p
+ + =—
ox 0Oy 0z g,
that is the Law of Gauss in the differential form to the observer O.

8.13

from where we get

To make the inverse we will replace in 8.13 the formulas of the tables 6, 7, 9, and 1.13, and considering ux
constant, we get

[i_ii}E!x![]_i_v!urx!j—'—i E!yr ]+ﬁ+vru!xr +V’B,Z, .
ox' ¢’ ot |JK' c’ ov'| VK’ c’ c’ VK’
0 {E'z'(] v’ v’u'x'j_v’B'y'}_p'\/E

a2Vl e @ ) Ik | .
12 B X'
making the products, adding and subtracting the term c_Z o we get
OE'x' v OE'x' N v'u'x' OE'x' vZiu'x' OE'X' N OE'y' +ﬁ8E'y' N viu'x' oE'y' N
ox' ¢’ ot ¢’ ox c’ ot' o' & oy o
N v'OB'zZ' N OFE'z' +ﬁ8E'z’ N v'u'x'0E'z" v'OB'y' +ﬁ8E’x' _ﬁ OE'x' _p'K
oy’ oz o’ o7 ¢ o oz’ o o g,

that reordering results in
v'?(OE'x' u'x'OE'x' J(O0B'z" OB'y' I OE'X
' + 2 ' +tv r 2 ' +
ox ¢~ Ot oy 0z ¢ Ot

aE!x! aE!y! a !Z!! v!2 v!u!x! p!K!
+ + + I+—+——|=

ox' oy’ oz' c c g,
where the first blank is 8.5 and because of this equals to zero, the second blank is equal to

v!pru!xr . .
———— gotten from 8.26 and 8.45 resulting in
g

o

r ot "o [ 2 [ ' 12 [ (W [
(6Ex+6Ey+aEzJ{1+v vux} p(1+v +1/Lt)c]+p11u9c p'vu'x

2
C

V()= v, plu 3=

e e’

o o

ox' oy’ oz' c’ ) g, c’ c’
aE!VxV aEV ! aE!Z! !

+ Y + = P that is the Law of Gauss in the differential form to the O’
X' oy’ oz €

from where we get

observer.
Proceeding this way we can prove the invariance of form for all the other equations of Maxwell.
§9 Explaining the Sagnac Effect with the Undulating Relativity

We must transform the straight movement of the two observers O and O’ used in the deduction of the
Undulating Relativity in a plain circular movement with a constant radius. Let’s imagine that the observer O
sees the observer O’ turning around with a tangential speed v in a clockwise way (C) equals to the positive
course of the axis x of UR and that the observer O’ sees the observer O turning around with a tangecial
speed V' in a unclockwise way (U) equals to the negative course of the axis x of the UR.

In the moment t =t = zero, the observer O emits two rays of light from the common origin to both

observers, one in a unclockwise way of arc cty and another in a clockwise way of arc ctc, therefore cty = ctc
and ty = tc, because c is the speed of the constant light, and t; and tc the time.
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In the moment t = t' = zero the observer O’ also emits two rays of light from the common origin to both
observers, one in a unclockwise way (useless) of arc ct’y and another one in a clockwise way of arc ct’c, thus
cty =ct'c and t'y = t'c because c is the speed of the constant light, and t'; and t'¢ the time.

Rewriting the equations 1.15 and 1.20 of the Undulating Relativity (UR):

|V| t v 2vux
|V'| t Vi 2v'u'x!
HZE: 1+C_2+ - 1.20

Making ux = u’x’ = ¢ ( ray of light projected alongside the positive axis x ) and splitting the equations we
have:

z':t(]—zj 9.1 t:t'(1+1j 9.2
C C

!

\% v

Vi=——— 9.3 V=
1+7
c

)

When the origin of the observer O’ detects the unclockwise ray of the observer O, will be at the distance
Vi, = v'l'U of the observer O and simultaneously will detect its clockwise ray of light at the same point of
the observer O, in a symmetric position to the diameter that goes through the observer O because
ct, =ct. =>t,=t. and ct', =ct'. =1, =1, following the four equations above we have:

9.4

2nR
cty +vtp =2R =t =—— 9.5
c+v
2nR
ct' AN, =2nR =1 = 9.6
c+2v

When the origin of the observer O’ detects the clockwise ray of the observer O, simultaneously will detect its
own clockwise ray and will be at the distance Vvt,. = v’t’ZU of the observer O, then following the equations
1,2,3 and 4 above we have:

27R
Clye =2MR+Vt, o =t = 9.7

c—vVv

2R
ct)e=2nR=>t', . =—— 9.8
c
The time difference to the observer O is:
2nR 2nR 4nRv

At=t,. —t, = - = 9.9

cC—V c+v CZ—VZ

The time difference to the observer O’ is:

A=t~ = 2nR  2mR __4mRv 9.10
c  c+2V (c+2v')c

Replacing the equations 5 to 10 in 1 to 4 we prove that they confirm the transformations of the Undulating
Relativity.
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§10 Explaining the experience of Ives-Stilwell with the Undulating Relativity

We should rewrite the equations (2.21) to the wave length in the Undulating Relativity:

A A
A= and A = , 2.21
v Jvux Vi 2Vu'x!
]+72_72 1+ 5 —
c c c c

Making ux = u’x’ = ¢ ( Ray of light projected alongside the positive axis x ), we have the equations:

x’:L and x:L 10.1

-

If the observer O, who sees the observer O’ going away with the velocity v in the positive way of the axis X,
emits waves, provenient of a resting source in its origin with velocity ¢ and wave length kF in the positive
way of the axis x, then according to the equation 10.1 the observer O’ will measure the waves with velocity ¢
and the wave length A/, according to the formulas:
Ar Mp
(=) ()
c c
If the observer O’, who sees the obsesrver O going away with velocity v’ in the negative way of the axis x,
emits waves, provenient of a resting source in its origin with velocity ¢ and the wave length k'F in the

positive way of the axis x, then according to the equation 10.1 the observer O will measure waves with
velocity ¢ and wave lenght lA according to the formulas:

X’F:—}LA and A, :—}LF’ :
=) ()
c c

The resting sources in the origin of the observers O and O’ are identical thus A, =A'..

Ap= and A, = 10.2

10.3

We calculate the average wave length A of the measured waves (kA,k’D) using the equations 10.2 and
10.3, the left side in each equation:

' ! ?
n=Motha 1| hr +X’F(1—1) Saetotha A 1+(1—Xj
2 2 (]—V) c 2 2(1—") ¢
c C

We calculate the diffrence between the average wave length A and the emited wave length by the sources
AN=h—A,:

_ by 2
AL=A—A, =—F[1+(1—KJ }—xF
2(1—Vj ¢

c
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Al = [1+1 22X+ X 2+2V}
2(1_\/) c cC C
C
= ] }\‘ VZ
A _( _VJTFC_Z 10.4
C
Reference

http://www.wbabin.net/physics/faraj7.htm

§10 Ives-Stilwell (continuation)
The Doppler’s effect transversal to the Undulating Relativity was obtained in the §2 as follows:

If the observer O’, that sees the observer O, moves with the speed -V’ in a negative way to the axis x’, emits
waves with the frequency )’ and the speed c then the observer O according to 2.22 and u'x'=—V" will
measure waves of frequency y and speed c in a perpendicular plane to the movement of O’ given by

y=y' [1-Y— 2.25
C

12 2
For u'x'=—V' we will have ux=zero and /I—V—z /]+V—2 =] with this we can write the relation between
c c

the transversal frequency y =y, and the source frequency y'=)", like this
Y, :y—FZ 10.5

v
1+c—2

With c=y,A, =)' A", we have the relation between the length of the transversal wave A, and the length of

the source wave A/,
2

' 14
M= 142 10.6

The variation of the length of the transversal wave in the relation to the length of the source wave is:

2 2 2 -
AN, =h, =N =\, /1+z—2—>uF=wF( /1+z—2—1j;x'F(1+2V7—1);7Fz—2 10.7

that is the same value gotten in the Theory of Special Relativity.

Applying 10.7 in 10.4 we have
—  AA
Al = !

(-]

With the equations 10.2 and 10.3 we can get the relations 10.9, 10.10, and 10.11 described as follows

10.8

2
xA=wD(1—K) 10.9
c
: v Ay
And from this we have the formula of speed —=1— T 10.10
¢ D

A=A =h A 10.11

Applying 10.10 and 10.11 in 10.6 we have

2
A=A N, \/1{1— /;:—Aj 10.12
D
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From 10.8 and 10.12 we conclude that A , <A, <A, <A<A,. 10.13

So that we the values of A , and A',, obtained from the Ives-Stiwell experience we can evaluate A,, A,

Y and conclude whether there is or not the space deformation predicted in the Theory of Special Relativity.
c

§11 Transformation of the power of a luminous ray between two referencials in the Special Theory of
Relativity

The relationship within the power developed by the forces between two referencials is written in the Special
Theory of the Relativity in the following way:

. Fi-VF
Frip=247V% 11.1

vux
-
)

The definition of the component of the force along the axis x is:

o dpx _dimox) _dm o dux 12
dt dt dt dt

For a luminous ray, the principle of light speed constancy guarantees that the component ux of the light
speed is also constant along its axis, thus

x dx , , dux dm
— = — =uXx = constant, demonstrating that in two —— = zero and Fx =—ux 11.3
¢t dt dt dt
_ 5 dm 1 dE
The formula of energy is £ =mc” from where we have — =—— 11.4
dt ¢ dt
- dE = _ o - ux
From the definition of energy we have 7 = F.u that applying in 4 and 3 we have Fx = F.u—2 11.5
t c
Applying 5 in 1 we heve:
~ (= _\vux
Fu-—- (F.u )—2
Flii'= ¢
vux
-
- - _ dE' dE
From where we find that F'.u'= F.u or ¥ :E 11.6

A result equal to 5.3 of the Undulating Relativity that can be experimentally proven, considering the ‘Sun’ as
the source.

§12 Linearity

The Theory of Undulating Relativity has as its fundamental axiom the necessity that inertial referentials be
named exclusively as those ones in which a ray of light emitted in any direction from its origin spreads in a
straight line, what is mathematically described by the formulae (1.13, 1.18, 8.6 e 8.7) of the Undulating
Relativity:

Ezﬂzux,lzﬁzuy,izgzuz 1.13
t dt t dt t dt

x' dx dy' ' dZ
_=_=ux')i:l:u'y')—:—:”'z' 118
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Woldemar Voigt wrote in 1.887 the linear transformation between the referentials os the observers O e O’ in
the following way:

x = Ax'+Bt' 12.1
t=ExX+Ft 12.2

With the respective inverted equations:
, F -B
X'= X+ t
AF — BE AF — BE

12.3

-E A
= X+ t
AF - BE AF —-BE

!

12.4

Where A, B, E and F are constants and because of the symmetry we don’t consider the terms with y, z and
y,Z.

We know that x and x’ are projections of the two rays of lights ct and ct’ that spread with Constant speed ¢
(due to the constancy principle of the Ray of light), emited in any direction from the origin of the respective
inertials referential at the moment in which the origins are coincident and at the moment where:

t=t =zero 12.5

because of this in the equation 12.2 at the moment where t' = zero we must have E = zero so that we also
have t = zero, we can’'t assume that when t' = zero, X’ also be equal to zero, because if the spreading

happens in the plane y'z' we will have x’ = zero plus t'# zero.

We should rewrite the corrected equations (E = zero):

x = Ax'+Bt' 12.6
t=Frt 12.7
With the respective corrected inverted equations:
, x Bt
X=——— 12.8
A AF
,
r'=— 12.9
F
If the spreading happens in the plane y’ zZ’ we have x’ = zero and dividing 12.6 by 12.7 we have:
x B
2"y 12.10
t F

where v is the module of the speed in which the observer O sees the referential of the observer O’ moving
alongside the x axis in the positive way because the sign of the equation is positive.

If the spreading happens in the plane y z we have x = zero and dividing 12.8 by 12.9 we have:
x' B B

! !

L N . 12.11
t A A

where Vv’ is the module of the speed in which the observer O’ sees the referential of the observer O moving
alongside the x’ axis in the negative way because the signal of the equation is negative.

The equation 1.6 describes the constancy principle of the speed of light that must be assumed by the
equations 12.6 to 12.9:

x' =t =x"=c’t’ 1.6
Applying 12.6 and 12.7 in 1.6 we have:
(AX’"FBZM)z _CZFZtrZ — er_CZtrZ
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From where we have:

2

B’ 2A4Bx
- =x!2_02tr2
c c’t

(Azx,z)_czt!z {Fz b

B’ 24Bx'
where making A? = 1 in the brackets in arc and {FZ -

2

3 } =1 in the straight brackets we have
c c’t

the equality between both sides of the equal signal of the equation.

B°  2A4Bx' B’ 2Bx’'
Appllying A=1in | F? =2~ 2270 | = ] we have F” = [+—+ " 12.12
c c’t c c’t'
. . B B ,
Appllying A =1 in 12.11 we have 227232\/ 12.11
That applied in 12.12 suplies:
v!2 2V’x’
F=l+—+=—=F(xr) 12.12
c c’t

as F(x, t) is equal to the function F depending of the variables x’ and t'.

Applying 12.8 and 12.9 in 1.6 we have:

2 2
xz_cztzz(i_ﬂJ _CZLZ
A AF F

From where we have:

? 1 B’ 2Bx
x?=c’t’ = x -t —— +
A’ F? A’C’F?  A’C’Ft
B’ 2Bx

1
where making A% = 1 in the bracket in arc and S T ot =1 in the straight bracket we
F° A cF° AcFt

have the equality between both sides of the equal signal of the equation.

Applying A =1 and 12.10 in 1B +2BY 1 we have:
Y S =R EREy SRy |
Fe 1 — F(x.0) 12.13
1_}_&_@
¢’ 't

as F(x, t) is equal to the function F depending on the variables x and t.

We must make the following naming according to 2.5 and 2.6:

12 r
% 2V'x
K'=1+—2+ 5 :>F=\/K' 12.14
c ct
vi o 2wx 1
Ko+l 2% g 12.15
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As the equation to F(x', t') from 12.12 and F(x, t) from 12.13 must be equal, we have:

12 r
oY 2V'x" 1

2 20
c c't v 2w
s

2
c c't

12.16

Thus:

2 12 1\
\/]+v_2_2_12/x\/]+v_2+2vz)'6 =17 or \/E.—\[K':] 12.17

c c't c c’t
Exactly equal to 1.10.
Rewriting the equations 12.6, 12.7, 12.8 and 12.9 according to the function of v, v’ and F we have:
x=x"'t 12.6
t=Ft 12.7

With the respective inverted corrected equations:

X'=x—vt 12.8
, t
f'=— 12.9
F
We have the equations 12.6, 12.7, 12.8 and 12.9 finals replacing F by the corresponding formulae
x=x'+'t 12.6
' 12 2v’x'
t=t'\1+—5+— 12.7
c c’t
With the respective inverted final equations:
xX'=x—vt 12.8
, v 2wx
t'=t.|1+ S T3 12.9
c c't
That are exactly the equations of the table |
B !/ . v' !
As v :F and V'= B then the relations between v and v’ are v :F or V'=v.F 12.18

We will transform F (12.12) function of the elements V', x’, and t’ for F (12.13) function of the elements v, x
and t, replacing in 12.12 the equations 12.8, 12.9 and 12.18:

12 [ 2 —
Fe /]+v_2+2v2x _ ]+(vF2) +2va vt)
c ct c 2

t
c RN
F

2 )

22 2 22 2 22
F:\/va L 2mF V'F :\/1+2vxF V'F

2 2
c c't c ct c
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2 2p2 g2 g F? )i
2vxF V]j :>F2+V2 _sz — | F =

F?=1+"—
c't c c c't v: 2wx
-

1+
c c’t
That is exactly the equation 12.13.

We will transform F (12.13) function of the elements v, x, and t for F (12.12) function of the elements v’, X’
and t’, replacing in 12.13 the equations 12.6, 12.7 and 12.18:

1 1 1
F - 2 - 2 - 2 2
v. o 2vx ' "(x'+v' ¢ Vv 2v'x' 2V
\/1"—2_2 1"'11 _ZV(x-H)t) \/]+ 2p2 T 2ap2 212
co c’t e\ F c’FFt c’F° c¢tF° c°F
1 V2 V' X V22V X!
F = = F’ l-—F———F—— |=I=>F=|l+—5+—F—
V2 ' c’F2 ct'F c c’t
- 22 2 2
c’F'" ¢ t'F'
That is exactly the equation 12.12.
We have to calculate the total diferential of F(x’, t') (12.12):
oF oF
dF =—dx'+—dt’
ox' ot'
as:
oF 1 ! oF 1 "X
o L ad S 12.19
ox' +K'c't or' K ct't
we have:
1 1 Vv X
dF = 3 dx'— Covio !
JK' et VK et
where applying 1.18 we find:
1 ! 1 " odx!
dF = ————dx—————""di'= o 12.20
K'c't' VK et dt
From where we conclude that F function of x’ and t’ is a constant.
We have to calculate the total diferential of F(x, t) (12.13):
oF oF
dF =—dx+—dt
ox ot
as:
oF 1 v oF 1 v x
_=_3—2 and — = ——3 —2— 12.21
ox Zc't ot 2ctt
KZ KZ
we have
1 v 1 v x
= c't ~ctt
K’ K’
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where applying 1.13 we find:

1 v 1 v dx
dF = ——dx————dt=0
Zct Zct dt
K? K?
From where we conclude that F function of x and t is a constant.

The equations 1.13 and 1.18 represent to the observers O and O’ the principle of constancy of the light
speed valid from infinitely small to the infinitely big and mean that in the Undulating Relativity the space and
time are measure simultaneously. They shouldn’t be interpreted with a dependency between space and
time.

The time has its own interpretation that can be understood if we analyze to a determined observer the
emission of two rays of light from the instant t=zero. If we add the times we get, for each ray of light, we will
get a result without any use for the physics.

If in the instant t = t' = zero, the observer O’ emits two rays of light, one alongside the axis x and the other
alongside the axis y, after the interval of time t’, the rays hit for the observer O’, simultaneously, the points A,
and A, to the distance ct’ from the origin, although for the observer O, the points won’t be hit simultaneously.
For both rays of lights be simultaneous to both observers, they must hit the points that have the same radius
in relation to the axis x and that provide the same time for both observers (t; = t, and t'y = t'5), which means
that only one ray of light is necessary to check the time between the referentials.

According to § 1, both referentials of the observers O and O’ are inertial, thus the light spreads in a straight
line according to what is demanded by the fundamental axiom of the Undulating Relativity § 12, because of
this, the difference in velocities v and v’ is due to only a difference in time between the referentials.

/
A=t 1.2 V==L 1.4
t t
We can also relate na inertial referential for which the light spread in a straight line according to what is
demanded by the fundamental axiom of the Undulating Relativity, with an accelerated moving referential for
which the light spread in a curve line, considering that in this case the difference v and v’ isn’t due to only the
difference of time between the referentials.

According to § 1, if the observer O at the instant t = t' = zero, emits a ray of light from the origin of its
referential, after an interval of time t;, the ray of light hits the point A; with coordinates (x4, y4, z4, t1) to the
distance ct, of the origin of the observer O, then we have:

2 Jwx
t;=q/1+?7—c%’
1

After hitting the point A; the ray of light still spread in the same direction and in the same way, after an
interval of time t,, the ray of light hits the point A, with coordinates (x; + Xo, y1 + Y, Z1 + 25, t; + 1) to the
distance ct, to the point A,, then we have:

X, X 2 2wx 2 2wx / 2
lzﬂ:uxz—lz—zzuxz ]+V_2_2_1: ]+V_2_2_2: ]+V_2_2V_12/lx
t dt t, ot ¢ ct ¢ cty c c

and with this we get:

2 2vx 2
r_ 1 2 v VUx
tz—tz ]+C—2—Czt —tz ]+CZ_ CZ
2
2 2wx 2 2 2 2v(x, +x
v+t =t, |1+ -1 +1, 1+"—2—2"g"C =(t,+t,) 1+V—2—2"§‘x=(r1+t2) 1+V—2——2(’ )
c c't, c c c c c c (t1+t2)

The geometry of space and time in the Undulating Relativity is summarized in the figure below that can be
expanded to A, points and several observers.
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0, 0=0 0, X

]
t=t = zERO
In the figure the angles have a relation y=¢'—¢ and are equal to the following segments:

1
P

O,to O=0' isequalto O=0' t0 0’y (0, «>0',=vt,=V't'))

O,t0 Ojisequalto O'1to O, (0, <> 0, =v(t, +t,)=V(¢',+t',)—>vt,=V't',=0,<>0,+0',<>0',)
And are parallel to the following segments:

O, to A, is parallel to O, to A,

O, to A, is parallel to O’ to A,
X =X'"isparallelto X,=X",

The cosine of the angles of inclination ¢ and ¢’ to the rays for the observers O and O’ according to 2.3 and
2.4 are:

ux _v
cosO—v/c
ux 4 =cosd'= Zd)
2vux 2vux y. Qv
1/ ,/ \/ +-5—=>cosd
c c
cosbO—v/c
cos<|>’=¢T 12.23
sen
And with this we have: send'= o 12.24
VK
ulxl+LI
"'y cosd'+v'/c
ux = ”Zx +V = - C; ¢ =cosh= ¢
\/1+"2+2”;x ¢ \/1+"2 +2"% \/1++2vcos¢’
c c c c c c
cos®O'+v'/c
coscl):d)— 12.25

JK
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send’

12.26
/KI

The cosine of the angle y with intersection of rays equal to:

And with this we have sendp=

j-vex g vux’ 1-Ycosd 1+V—’c0s¢'
cos\y = c’ = c’ =—F = = 12.27
VK JK' VK JK'

ysend ' send’

= 12.28
cJK ¢ JK'

The invariance of the cosy shows the harmony of all adopted hypotheses for space and time in the
Undulating Relativity.

And with this we have: seny =

The cosvy is equal to the Jacobians of the transformations for the space and time of the picture |, where the
radicals

2 12 r ot
VK = ]+v_2_2%x and VvK'=_[1 +v_+2v_x are considered variables and are derived.

c c’t ¢t
1 00 -y
)i 't 0 10 0 I
COS\V:J:aszﬁ(x,y,Z)t): 0 01 0 ¢ t: ¢ 88
ox o(x,y,zt)  |—y/c? 001 (1+ﬁ— vx) JK VK
«/E «/Ek ¢’ 't
] 00 V, [ [
V'x viu'x
ot olxy.zt) 0 10 0 1+czt’ I+ c’
cosy=J'=""r = 0 01 0 = = : 8.8
Ox a(x YV Z ’t) V,/C2 00 / (]_'_V'Z +v'x'j VK VK
/K! R!k CZ Czt’

§13 Richard C. Tolman

The §4 Transformations of the Momenta of Undulating Relativity was developed based on the experience
conducted by Lewis and Tolman, according to the reference [3]. Where the collision of two spheres

preserving the principle of conservation of energy and the principle of conservation of momenta, shows that
the mass is a function of the velocity according to:

mO
m=——t—
[
2
c
where m, is the mass of the sphere when in resting position and © = |L7| =+ uu the module of its speed.

Analyzing the collision between two identical spheres when in relative resting position, that for the observer

O’ are named S’y and S’, are moving along the axis x’ in the contrary way with the following velocities before
the collision:

Table 1

Esphere S’y Esphere S’
u'x',=v' u'x,'=—v'
u'y',=zero u'y',=zero
u'z',=zero u'z',=zero

For the observer O the same spheres are named S; and S, and have the velocities
(uxj, ux,, uy;, =uz, :zero) before the collision calculated according to the table 2 as follows:
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The velocity ux, of the sphere S, is equals to:

. = u'x', +v' _ v+ _ 2
1 - - - -
12 2v'u’x' 12 1o 12
\/I+V N ! ]+v2 +2v2v ]+3v2
¢’ ¢’ c c c

The transformation from v’ to v according to 1.20 from Table 2 is:

! ! !

V= \% _ % _ \%
2 2vu'x 12 PN 3 12
V' / % vy %
\/1+2+2 I+ +== 1+
c c c c c
That applied in ux, supplies:
v!
ux; =2 —=———==|=2v
3
c
The velocity ux, of the sphere S; is equal to:
u'x',+v' —v'+v
W= Vo 2v'u'x, - v 2v(=V) -
I+ 5 +———= |+ 5+
c c c c
Table 2
Sphere S; Sphere S,
!
ux, :—2v3 ==2V
% Ux, =zero
/]+ > 2
c
uy,=zero uy,=zero
uz,=zero uz,=zero

For the observers O and O’ the two spheres have the same mass when in relative resting position. And for
the observer O’ the two spheres collide with velocities of equal module and opposite direction because of

this the momenta (p’1=p'2) null themselves during the collision, forming for a brief time (At’) only one
body of mass

— ’ !
m,=m',+m',.

According to the principle of conservation of momenta for the observer O we will have to impose that the
momenta before the collision are equal to the momenta after the collision, thus:

mux, +mux,=(m, +m, Jw

Where for the observer O, w is the arbitrary velocity that supposedly for a brief time (Al) will also see the

masses united (m:m, +m2) moving. As the masses m, have different velocities and the masses vary

according to their own velocities, this equation cannot be simplified algebraically, having this variation of
masses:

To the left side of the equal sign in the equation we have:

u=ux,=2v
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m

0 — mO — o
JI_(uZ \/]_w)z JI_W \/1_4vj
2 2 2 Is3

C C C

U=UxX,=2zero

m

[ _ o

ST A

To the right side of the equal sign in the equation we have:

u=w

_ mo _ mu mu

m m

0 0

Applying in the equation of conservation of momenta we have:

mux, +m,ux, =(m, +m, )w=m,w+m,w

m, m, m,

—22v+m0.0: =W+ =W
/ _4v° \/ _w \/ _w
¢’ ¢’ ¢’
From where we have:
Zm,,v2 _ 2m,,w2 v - w :
\/1—43 \/1—W2 \/1—43 \/I—WZ
c c c c
w=—>V =
]_3L
2
c

As w=v for the observer O the masses united (mzm, +m2) wouldn’t move momentarily alongside to the

observer O’ which is conceivable if we consider that the instants Az # At are different where supposedly the
masses would be in a resting position from the point of view of each observer and that the mass acting with

velocity 2v is bigger than the mass in resting position.

If we operate with these variables in line we would have:

mux, +m,ux,=(m, +m, )w=m,w+m,w

m, 2V

; U= w=
: \/1+3‘; \/ _w \/ W
]_L 2V ¢ CZ ¢

3V
c

2
1+
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\/]_WZ
' 12 2
(Hsg) A ¢
C

2myV' _ 2myw

3V’ \/ w’
1+~ 11—
\/ ¢ ¢’
2my' 2myw

\/ 1— v’ \/ ]_LZ
2 2
c c
From where we conclude that w=1" which must be equal to the previous value of w, that is:

w=y'=—Y E
v

2
C

A relation between v and v’ that is obtained from Table 2 when ux, =2v that corresponds for the observer O
to the velocity acting over the sphere in resting position.

§14 Velocities composition
Reference — Millennium Relativity

URL: http://www.mrelativity.net/MBriefs/VComp Sci Estab Way.htm

Let’s write the transformations of Hendrik A. Lorentz for space and time in the Special Theory of Relativity:

Y= XVt y= Xtvt’
2 14.1a 2 14.3a

y y

]—C—z ]—C—Z
V'=y 14.1b y=y' 14.3b
z'=z 14.1¢c z=z' 14.3c

VX v vx!

= '+

2 2
f=—=te | 142 | t=—== | 144

\ v

]—C—Z I—C—2

From them we obtain the equations of velocity transformation:

U = UX=V wp= WX +V
Vux 14.5a vu'x' 14.6a
1-=—= 1+
c c
2 2
uy ]—V—Z u’y',/]—v—z
uwy=—>+ €| 1450 | yy=— 1 € | 146b
]_yux Jvu'x
c’ c’
2 2
uz,/]—v—2 u'z',/]—v—z
wz=—"—C_ | 145c | uz=—"1—-C_ | 146¢c
v 14X
c c

Let's consider that in relation to the observer O’ an object moves with velocity:

u'x'=15.10"km/s(=0,50c).
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And that the velocity of the observer O’ in relation to the observer O is:
v=15.10"km/s(=0,50c).

The velocity ux of the object in relation to the observer O must be calculated by the formula 14.6a:

1ot 5 5
wxry L300 AL310 5 4 193 jon/5(=0,80¢).
wix 15101510

(3.0.10°)

ux =

1+

Where we use ¢=3,0.10° km/s(=1,00c).

Considering that the object has moved during one second in relation to the observer O (l:1,00s) we can
then with 14.2 calculate the time passed to the observer O’:

5 5
—Yx t(z_\m) 1,00{1_15-10 .2,4.10J
_ 0,60

2
R (3’0-1052) == =0093s.
\/1—V2 \/1—"2 ,_(1510°) 07
C C

(30.10°)
To the observer O the observer O’ is away the distance d given by the formula:

d=vt=15.10°.1,00=1,5.10°km.
To the observer O’ the observer O is away the distance d’ given by the formula:

0,60

NO75

d'=vt'=15.10" =1,03923.10" km .

To the distance of the object (a’o, d’o) in relation to the observers O and O’ is given by the formulae:

d,=uxt=2,4.10".1,00=2,4.10" km .

&'y =u'x't'=15.10°"290 _103923.10° km .

V075
To the observer O the distance between the object and the observer O’ is given by the formula:
Ad=d, -d=24.10°-15.10"=0,90.10" km .
To the observer O the velocity of the object in relation to the observer O’ is given by:

Ad _0,90.10° km

=0,90.10° km/ s (=0,30c)
t 1,00s

2
Relating the times t and t' using the formula ¢'=¢ /]—V—Z is only possible and exclusively when ux=v and
c

u'x'=zero what isn't the case above, to make it possible to understand this we write the equations 14.2 and
14.4 in the formula below:

t(]—vcos d)) t'(]+vcosd)')
t=——rEat | 142 | 1=——E——| 144
=Y =Y
2 2
c c
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Where cosdp=-= and cos¢'=>-
ct

The equations above can be written as:
=1(t,0) e t=f"(¢,9) 14.7

In each referential of the observers O and O’ the light propagation creates a sphere with radius ¢t and ct’'
that intercept each other forming a circumference that propagates with velocity c. The radius ¢t and ct’
and the positive way of the axis x and x' form the angles ¢ and ¢’ constant between the referentials. If for
the same pair of referentials te angles were variable the time would be alleatory and would become useless
for the Physics. In the equation t’:f(t,d)) we have t’ identical function of t and ¢, if we have in it ¢
constant and t’ varies according to t we get the common relation between the times t and t' between two
referentials, however if we have t constant and t’ varies according to ¢ we will have for each value of ¢

one value of t" and t between two different referentials, and this analysis is also valid for t=f'(t’,¢’).

Dividing 14.5a by ¢ we have:

1t oy COS¢_Z
=L cosf=——"t 14.8
VUux v
¢ 1--5 1—>cosd
c c
! !
Where cosp=2=X and cos'=2- =1L
ct ¢ ct' ¢
Isolating the velocity we have:
v (cosd—cosd) ux—u'x'
o A —— 14.9
¢ (I-cosdcosd’) | X
2
c

From where we conclude that we must have angles ¢ and ¢’ constant so that we have the same velocity
between the referentials.

This demand of constant angles between the referentials must solve the controversies of Herbert Dingle.
§15 Invariance

The transformations to the space and time of table I, group 1.2 plus 1.7, in the matrix form is written like this:

X 100 —v | x
y|_{010 0 y
] 1000VK | ¢
That written in the form below represents the same coordinate transformations
x' 100-v/c| x
¥y (010 O |y
Z' - 001 0 Z 152
c'| 1000 VK |t
We call as
x' x" 100-v/c x x!
’ 12 X 2
X'=x"= JZ}, =%, 1, a=a; 8(1)(1) 8 , x=x'=| 7 |= * 15.3
X z X
ct'| | ex'™ 000 VK ct| |ex?
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That are the functions x"=x" (xf ):x” ()c1 ,x2,x3, ex? ):x'i (x,y,z,ct) 15.4

That in the symbolic form is written:

4
x'=a .x orin the indexed form x”=Zaijxf :>x”=al.jxf 15.5
j=1

Where we use Einstein’s sum convention.

The transformations to the space and time of table I, group 1.4 plus 1.8, in the matrix form is written:

X 100 Vv | x'
y| |010 O |y
2 Floo1 o |2 156
t] |ooovK |
That written in the form below represents the same coordinate transformations:
X 100vV/c| x'
y| (010 O |
271001 0 | 2 15.7
ct| [000VK | e
That we call as:
x x! 100v/c x' x"!
2 ! 12
x=x"= JZ} = );3 , a'=a'y= 8(1)(1) 8 , X'=x'""= JZ}, = );,3 15.8
ct| |ext 000VK' ct'| |ex*
That are the functions x* =x* (x" ):x" (x” , X2, x",ex' ):x" (x',y',z',ct') 15.9
That in the symbolic form is written:
4
x=a'.x" or in the indexed form x* :Za'kl X' =x* =a', x"! 15.10
1=1
2 1 12 7l
Being VK = [1+2—22% (17), VK = [1+X-+ 22X (1 8) and VK VK’ =1 (1.10).
¢ c'x ¢t cx
The transformation matrices o = ¢; and a'= a',, have the properties:
4 100—v/c|100v/c| [1000
_ r 1_010 0 010 0 _OlOO__i
a.o —aijakl—Zaijajl— 001 0 (001 0 [Floo1o|=/=% 15.11
J= 000 VK |000vK'| [0001
4 1 000 1 00 0 1000
toat . , | 0 100 0 10 0 | |0100|_,
a o —ajialk—Zaﬁaik— 0 01 0 0 01 0 =l0010 —I—5k 1512
=l —v/c00K | v/c00NK'| 0001

Where o' = « ;; is the transposed matrix of & = «;; and a" =a', is the transpose matrix of &'= ', and

O is the Kronecker's delta.

4 100v/c|100-v/c 1000

010 0 010 0 | [0100|_,_ &

da=aya;=3 @u=001 0 |001 0 |~0010[/=% 15.13
= 000vK' [000 VK | [0001
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4 1 00 0 1 000 1000
: : : 0 100 0 10 0 | 10100 1
= v/c00K | ~v/c004K | [0001

Where a" = a', is the transposed matrix of a'=a',, and a' = a ;; is the transposed matrix of & =«

and O is the Kronecker’s delta.

Observation: the matrices o; and o', are inverse of one another but are not orthogonal, that is: aj zd'y
and a; #a'y, .

1 . ri .
The partial derivatives gx—] of the total differential dx”:%dx’ of the coordinate components that
X X

correlate according to x'i:x'i(x-f), where in the transformation matrix « =¢; the radical VK is

considered constant and equal to:

Table 10, partial derivatives of the coordinate components:

ox" _ox" _ | ox'’ — ox'! —0 ox'! —0 o' _ v

ox’ ox’ | ax! o’ o oxt ¢

ox' o'’ ox'? ox'? ox'? ox'?
e e e e e I B -2
X X X X Ox ox

6xri 6x13 axr3 axr3 6x13 axr3

ox ox ox ox ox ox

ox' _ox _|ox"_o o _ o, | oxt g
o’ - o’ | ox! o’ =0 o’ =0 ox* \/_

The total differential of the coordinates in the matrix form is equal to:

dx'" 100—v/c| dx!
dx’z _ 010 O dx2
a7 |7loo1 0o e 15.15
cdr*| 1000 VK | cdx?
That we call as:
dx" ; 100—v/c dx!
r_ rio_ dxlz _ i_ax’ _ 010 0 _ i dxz
dx'=dx'" = dx,3 , A_Aj —g— 001 0 y dx=dx’ = dx3 15.16
cdx' 000 VK cdx’
- R L
Then we have dx'= Adx = dx" =2A}dx1 =dx" =Fdx/ 15.17
X

Jj=1

k k
The partial derivatives % of the total differential dx* :%dx" of the coordinate components that
X X

correlate according to x* :x"(x"), where in the transformation matrix a'=a',, the radical VK'is

considered constant and equal to:
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Table 11 partial derivatives of the coordinate components:

cie: SN e’ S o2 SN - S e S
ox'' ox! ox'! ox'? ox’’ 't

k 2 2 2 2 2
6xl:6xl 8x1:0 6x2:1 6L3:0 6x4 0
ox"  ox' ox' ox' ox' ox'

k 3 3 3 3 3
ox" _ Ox ox _0 ox 0 ox _J ox 0

o'l o o'l o’ x| et
oxt _oxt _|oxt_g |t _ oot | oxt e
'l x| ox'? =0 ox’’ =0 ox' =K

The total differential of the coordinates in the matrix form is equal to:

dx' 100v/c| dx'"
dx* [_|010 0 dx'?
o [Flootl o e 15.18
cdx* | [000VK' | cax'

dx! & 100v/c dx'
12
de=dit = 4 | a=af =2 000 0 | dv=av <] 4 15.19
cdx? Ox 000K’ cdx'*
Then we have: dx=A'dx'= dx* —ZA"‘dx":>dx gx dx" 15.20
=1

The Jacobians of the transformations 15.15 and 15.18 are:

_ Do s 100-v/c
o dero) Bt g
ot 000 VK
Dy s 4 100V /¢
Ji_ ax olx ' ,x°,x7,x _[010 0 JK' 15.22

axr/ o xrlyxrz ’xr3 ’xr 001 O
000K’

Where VK = 1+ 2 o5 K= 1+ s 5 6) and VKK -1 (1.23).

The matrices of the transformation 4 and A4' also have the properties 15.11, 15.12, 15.13 and 15.14 of the
matrices o and «'.

From the function ¢=g(x* )=¢'=¢'[x" (x")] where the coordinates correlate in the form x* =x* (x") we

09 _ 0p oxk

o 6 " ox 7 described as:
X X

have
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o0¢ _ 0P Oxk _ 0@ ox! + 0P ox2 " 0P Ox3 " 0P x4
ox'"' Oxk ox"' Ox! ox"' oOx? ox"' Ox3 ox'' Ox4 ox
0p _0¢ oxk _ 09 ox! n ¢ ox? n 09 oxs n 0¢ x4
ox'?  Oxk Ox'? oOx!'oOx'? Ox20ox'? oOx3 ox'? Ox* Ox'
00 _0p oxt _ 0 oxt , 08 o, 09 ox 04 o
ox'  Oxk oOx'3 oOx!'ox' oOx2ox" Ox3 ox'* Ox4 Ox"
09 _ 0 oxr _ 04 oxt , 09 ox> 04 aws |, OF ox
ox't  Oxk Ox'* oOx!'ox' Ox2ox'% oOx3ox' oOx* ox'

That in the matrix form and without presenting the function ¢ becomes:

ol o' _gox! e’
ox'! ox'? ox'3 ox'?
. ﬁ:o ox? _ ox’ -0 ox’ —0
¢ z[ o o o @ }{ o 8 & o |ax! ol ad et
a! Low! ax'? ax'? ax'? ax! ox? ox? ox? ] ﬁz() o’ =0 o’ =] o’ =0
ox'! ox'? ox'3 ox'?
6x4 v 6x4 ox? -0 ox? _ 1 (1, V2 , vu'x'!
al K a? o ot mk 'cz ' ¥
Where replacing the items below:
o _ vV v
ox'! sz_cz
o' N
o' «/E
o ( v2 v'u’x'lJ ot 1 (1, v2 vuxl]
o' \/Fk c? _8x4_\/zklc2 c?
Observation: this last relation shows that the time varies in an equal form between the referentials.
We get:
ox! -] X ox! -0 ox! v
ol a’  a? VK
. ox’ —0 ox’ ox’ ox’ —0
6¢:[a o o a}z[a 0 0 o fal " ar? ar? o
o' Lol ox? ox'd ax? ox! ox? ax? ox? | ox’ =0 ox’ =0 ox’ =] ox’ =0
R . S
8x4:L8x _Oax _Oax 1 (1=v2 vuxjj
'l ¢? ox? ox'3 ox'? \/Ek 2 ol

That is the group 8.1 plus 8.3 of the table 9, differential operators, in the matrix form.

From the function ¢'=¢'(x”)=¢=¢[x”(xf )] where the coordinates correlate in the form x'[:x'[(xf) we

have

Ox/

op'_o¢'
ale

axu
Ox/

described as:
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o _0f ovi_ 08 o OF oxr OF o5 OF on
ox!  ox'" ox! ox" ox! oOx'? Ox! ox'3 ox! Ox'* Ox!
o' 09" ox'i 09" oxh n 0¢" ox'2 n 09" '3 n 09" ox'4
Ox2  Ox'i Ox2  Ox" Ox2  Ox'> Ox2  Ox'3 Ox2  Ox'4 Ox2
09" 04" ox'i  0@' ox't | 09" ox'2 | 0@ ox'3 n 0¢' ox's
Ox3  Ox'i ox3 Ox'l Ox3 Ox'? Ox3 Ox' Ox3 Ox' Ox?
09" 09" ox'i _ 0@' ox't , 09" ox'2 , 09" ox's . O ox'+
Ox*  Ox'i Ox*  Ox" Ox*  Ox'? Ox*  Ox'3 Ox*  Ox'4 Ox*

That in the matrix form and without presenting the function ¢ becomes:

'l _, ! _gox! gt
ox! ox? ox’ 6x4
. ﬁ:o ox'? _J ox'? —0 ox'? -0
6¢’:[ o 8 0 8 }{ o 8 o o | R S
ox/ Lax!ox? axd ax? | Lo’ ax'? ax'? ax'? o'’ =0 ax’? -0 ox'? - ax'? -0
ox! ox? ox? ox?
ax'? - ax? —0 ox'? —0 ox'? _ 1 (], v2 vuxIJ
!l 2K ox? a? ox? x/fk | A

Where replacing the items below:

aL,1:—\}: _V,
ot VK’
6x'4 — % :—_V'
o' czx/f c?
4 ( |
ox'"t 1 ot 1 14 v vux

JE(H? WXI] ot K\ & J

Observation: this last relation shows that the time varies in an equal form between the referentials.

We get:
ox'! —J ox'! _ ox'! _ ox'! __ Vv
ox! ox? ox’ ox? \/F
. ox'? -0 ox'? —J ox'’ —0 ox'’ —0
oo 0 0 0 o 0 o o | ! o’ !
ox’ [ax ox? ox’ ox? } [ax’l '’ ox'3 8x’4 ox'? =0 o'’ =0 o'’ .y ax'? =0
ox! ox’ ox’ ox?
ox'? v ox'? —0 ox'? —0 ox'? ( V2 v’u’x’lJ
_ax] c? ox? ox’ ox* x/_k ? ]

That is the group 8.2 plus 8.4 from the table 9, differential operators in the matrix form.

Applying 8.5 in 8.3 and in 8.4 we simplify these equations in the following way:
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Table 9B, differential operators with the equations 8.3 and 8.4 simplified:

0 _0 v 0 0o __0 v 0

ox'' Ox!' c¢? ox* 8.1 Oox! Ox"' c¢?ox'4 8.2
o _ o 0 _ 0

ox'? Ox? 8.1.1 Ox?2 Ox'2 8.2.1
0 _ 0 0 _ 0

ox'3 Ox3 812 | ox3 ox'3 8.2.2
—0 —0 —0 7 —0

cox'* \/_céx‘* 8.3B | cox* \/_céx"‘ 8.4B
0 ,ux! 0 _ 0 ,ux' 0 _
%+W—Zero 8.5 Ax'1 1 2 ox't =zero 8.5

The table 9B, in the matrix form becomes:

15.23

|1
{aaa—a}:[aaa—a 0
ox'' ox'* ox’? cox't ox' ox? ox® cax? 0

!
{a o 0 —a}_[a o 8 -0 8 15.24

ox' ox? ox? cox? - ox't ox'? ox'? cox't |

The squared matrices of the transformations above are transposed of the matrices A and A’.

Invariance of the Total Differential

In the observer O referential the total differential of a function ¢(x") is equal to:

dx'!
2
)-8 PP 0 28 g0 [ 2828 28 ] 1525

oxt ox ox ox ox ox' ax? ax® cox* | dx ’

cdx

Where the coordinates correlate with the ones from the observer O’ according to x* =x* (x"), replacing the
transformations 15.24 and 15.18 and without presenting the function ¢ we have:

1 00 O 100v/c| dx'"
12
S L i
ox ox'" ox'” ox'” cox’ dx
—v'/c00K' | 000 VK" | cdx*
The multiplication of the middle matrices supplies:
1 00 0 J1o0v/e] | L 00 v/e
0 10 0 f010 0 | | § of 15.27
0 01 0 (001 O |~ 20/ dx’! '
—v/c00VK | 000K | |—v'/c001+ v
c ax
Result that can be divided in two matrices:
1 00 V/e 0 00 V/c
0 10 0 (1)(1)88 0 00 0
0 01 0 =0010+ 0 00 O 15.28
, 2v'dx’! , 2v'dx’!
—'/c 001+ o 0001 Vv/c00 7
dx' dx'
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That applied to the total differential supplies:

1000 dx'!
0 00 O
9 , o 8 o 2 |lo1o00 '
d¢ k x |: 11 12 13 14:| 0 0 1 O + O O 0 '0 1 d 13 1529
ox ox" Ox'” ox'” cox 0001 2 dx’ x

—V'/c00 4
crdx cdx

Executing the operations of the second term we have:

0 00 V/e "

0 00 0 |%*
{5656}0000 dx? |__ V. 8 . 8d,42vdx8dx,4
ox'' ox'? ox”? cox'? 2v'dx"! dx" ¢’ ox' o' c? dx' ox'*

v/e00 = | caxt

Where applying 8.5 we have:

V.0 i 1d 8 V. 2vddt 8,
c? ox'4 oo™ l+v\ c? dx'4 ox'4 H c? dx'4 ox'4 dv'i=zero

Then we have:

0 00 V/c "
6 o 0 o7 000 0 |5

{ s ,4} 0 00 O 1 dx'3 =zero 15.30
ox'' ox'* ox" cox 2V dx’ r

—v/c00 = | i

With this result we have in 15.29 the invariance of the total differential:

o, 10007 dx’! o
0 0 0 0 0100 dx 0
W= 6k [GX'lﬁx'zﬁx'306x’4:|0010 dx'3 _a'ld =d¢ 15.31
0001 | cgy

In the observer O’ referential the total differential of a function ¢(x”) is equal to:

dxrl
i\ 08 gt 0P g OF 2 0P i OF [5¢' o¢" of' 5¢'} dx’?
do'\x" J=——dx" =——dx" +——dx'"+——dx’ , 15.32
¢( ) ox'’ axrl o' ’2 a 3 a r4 axrl aer aer Caxr4 cg;
cax

Where the coordinates correlate with the ones from the observer O referential according to x" =x" (x-’ )
replacing the transformations 15.23 and 15.15 and without presenting the function ¢ we have:

1 00 0 J100-v/c]| ax'

aw,[aaaa 0100 0100 dx>
dp)=—"—dx'" =| < , 15.33

axrz axl ax2 ax3 cax4:| O 01 0 001 dx

v/c00JK [ 000 J_ cdx*

The multiplication of the middle matrices supplies:

100 0 J100-v/c] | L 00 —v/e
0010001 0 |7 D -
v/c00K |000 VK v/e001-50 5

c ax

Result that can be divided in two matrices:
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1 00 —v/c 0 00 —v/c

010 0 (1)(1’88 000 0

001 0 |= + 000 0
2vdx! 0010 2vdx!

v/c001-221 10001 |v/c00-222
cdx cdx

That applied to the total differential supplies:

1000 dx'

000 O
04 . | o o o a8 J|lo1oo0 dx’
d¢:6x’idx :[Bxl ox? ox? c@x“} 0010" 000 zgdxl dx’
0001] |v/c00-2% | e

X

Executing the operations of the second term we have:

0 00 —v/c

dx'
000 O )
1 A2 A3 4 3 2 A4 1
Oox Ox”~ Ox” cOx vyt || 4% c”ox ox c?dx* ox?
V/C 0 0 - n Cdx4
c dx

Where applying 8.5 we have:

0 dx4=zero
c? dx* ox*

v 0 ! 1 dx! )@’ 2v dx!

v
c? ox* \ 2 dx* ox*
Then we have:

0 00 —v/c

dx'
0 00 O
{iii o } 000 0 |9 |2z
ox' ox? ox? cox* 2vdx' || 4%
v/e00-29 | oy

With this result we have in 15.36 the invariance of the total differential:

¢ 1000 dx; o0

" | @ 0 0 0 ||0100] dx j

df'=—rax" [—1—2—3 4}0010 s | =dd
Ox Ox~ Ox” cOx 0001 062;4 ox’

Invariance of the Wave Equation

The wave equation to the observer O is equal to:

al
|t
2 2 2 2 2 1000 i
vig] Op" _0p" o 04" 1 of :[6 o 9 6}8(1)(1)8 ax° |-o
2 2 2 2 2 2 1 2 3 4 6
c 8(x4) a(xl) 8(x2) 6(x3)2 c 8(x4) Ox Ox~ Ox” cOx 0001 5
9
cox*
Where applying 15.24 and the transposed from 15.24 we have:
C o
r ] 7
2 00 0 TroooTro0=r] &
., 10 [0 0 0 0 0100 o | ax?
V¢ 2 2 1 2 3 4 001 0 1 010 0
¢ ol Lox"ax? ox” cav 00K’ 880_01 0010 i3
c 000K ) &
cox' |
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The multiplication of the three middle matrices supplies:

_vl

(1)‘1)88 10007100~ oo ==
0,01 0 Jopy 010 0 15 5ot o
—V’ ’ 1
_ -1 I, NV RN
200K 000 000K | | =L 001=2ux"
C
Result that can be divided in two matrices:
-y -’
oo = 1000720 —
010 0 10100 + 000 0
001 0 10010 000 0
_erO l_zvl [ /1 000_1 100_2‘}7 ' rl
c? c c
That applied in the wave equation supplies
_v i
. 1000 000 —=
Vz¢1@¢ _[aaa 8}0100+000 0
2 2> | Al A2 A3 411001 0 000 0
c 8(x4) Ox" Ox'” Ox"” coOx 00011 | =y —2pyy
—00 >
4 c

9

—y 7] 2t

000 - P

o o 0 o 1000 0 o

axll 8x12 axl3 cax'4 000 0 0
=V o 2Vu'x XA

C c2 ]

L cox'* ]

Executing the operations we have:

V' 0 0 _Wu'x"'_ 02
c2 ox''ox't ¢ c? p(x'4)

Where applying 8.5 we have:

2v'( u'x't 0 \8 Wu'x't 02
c2\ 2 x4 lox't o2 ¢ 8()6'4)2

Then we have:

v et
000 — 0
0 0 0 0 000 0 P
' ox? axeoxt ]| 0 00 0 0
—_v’OO “2v'u'x" o'’
c ¢ | @
cox'* |

v 0 0 Vv 0

axll
axr 2

axd

L cox™ |

0

2vl ' /1

2 1 4 2 1 4 2 2 2
coox"ox't cTox" ox'" ¢ ¢ 6(x’4)

=zero

=zero

47/203

15.41

15.42

15.43

15.44



With this result we have in 15.43 the invariance of the wave equation:

0
axll
1 o ,
a)gz —vig- L ¢ i 15.45
8_3 c a(xr4)

d ox'
0

L cox™ |

SO O

Vulayﬁzz[a o @ a}
14 CZ a(x4)2 axrl aXIZ axr3 Caxr4

oo~
SO —~O
S~ OO
L

The wave equation to the observer O’ is equal to:

|ar
2 2 2 2 2 1000 i
vig L 00" _ 04" | 0p° | 0 1 o :[a 0 0 ¢ }8(1)(1’8 120 15.46
2 , 2 , 2 , 2 , 2 2 , 2t 12 13 14 -
c 6(x4) a(xl) 6(x2) 6(x3) c a(x“)z ox" Ox'* Ox'” cox 000-1] axT
0
cox' |
Where applying 15.23 and the transposed from 15.23 we have:
R
1 ox'
i 0V0 o [tooofroo > | o
! 2
vig_L 00 2:[ 0.0 0 64}001 0 (01000010 6 | 15.47
c a(xr4) Ox Ox~ Ox” cOx vOO\/E 000-1 001 0 %
c 000K | %
Lcox* |
The multiplication of the three middle matrices supplies:
v
100 0O 1000 100 ¥ 100 p;
0100 15199 ¢l 1010 0
001 O 0010 010 0 =001 0 15.48
YooK |000-1]00L L 11y 2!
c 000K | [200-1+%
C
Result that can be divided in two matrices:
v v
100 " 100 0 000 =
010 0 (0100 000 O
001 0 1‘0010*000 0 1549
K00_1+2vux 000-1 3002vux
C cz Cc CZ
That applied in the wave equation supplies:
v ] o'
o 10007 290 ¢ 0
1 ' 0 0 0 0 0100 000 O ox?
vig _ } s x 15.50
¢ cza(x"‘)z {leaxzafcé‘x“ 0010 000 01 0
000-1 KOOZvux o
c ¢ ]| ©
coxt |
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Executing the operations of the second term we have:

000 2 |9

4 -
[iiia}oooo at|_vao o vao o vux &
ox' ax? ox’ cox* || 000 01 0| o't Cax'axt P 8(x4)2

K()()ZV”X o’

T -

L ox*

Executing the operations we have:

2v 0 0  2vux!' 07
c?ox! ox* ¢? c? 8(x4)2

Where applying 8.5 we have:

2v{—ux1 0 \8 }2vux1 0?
2\ c2 oxtloxt c? ¢? a(x*)

2 =zero

Then we have:

_i_
v | ox!
000 = 175
0 0 0 0 000 0 Jax?|_

ax' ox? ox’ coxt | 000 0 0 —Eere

Y00 2vux! 8x_3

e

ox* |

Then in 15.50 we have the invariance of the wave equation:

9
| ox!
X 10007 0 R
vig_L 04 :[a o 0 o }0100 o |_yzg_L 09
cza(x"‘)z ox' ox? ax® cox’ 88(1)_01 i} ¢ 6(x4)2
4 ox
0
L cox* |

Invariance of the equations 8.5 of linear propagation

Replacing 2.4, 8.2, 8.4B in 8.5 we have:

0 ux' & _ 0 v o  1x"+) 1 o

ox! 2 x4 =ax'1 c2ox't ¢ JK' Oox'4 —zere
Executing the operations we have:
1 ! 1\ !
O ,ux! 0 _ 0 V. 0 ,ux'' 0 ,v a:zero

oxl 2 oxt X' crox't 2 X't ¢ o'
That simplified supplies the invariance of the equation 8.5:

O ,ux! 0 _ 0 , u'x' 0O
T -_ T
ox! c¢? ox* ox'' c¢? ox'4

=zero
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Replacing 2.3, 8.1, 8.3B in 8.5 we have:

o ux' 8 8 . v o 1) =3
= = = K———=
ox'' ' c? ox"t Ox' c2ox* 2 JK \/_ax“ zero

Executing the operations we have:

O ,ux' 0 _ 0 ,v 0 ,uxt! 0 v 0

T = T T =zZero
ox'"' ¢ oOx't Ox! c?2ox* c¢? Ox* c?Oox?

That simplified supplies the invariance of the equation 8.5:

0 ,u'x't 0 0 ,ux! 0

noa2 A T 2 Apa 2€T0
X C X X C X

The table 4 in a matrix from becomes:

px 100-v/c] px'
px’z 1010 0 p)c2
3171001 0
px px
E'/c| 000 \/E E/c
px' | T100v/c] px”
p)c2 _ 010 O p)c’2
3T 001 O 3
px | P
E/c 000\/? E'/c

[t ] T100=v/c] Jx'
J'x?| 010 O Jx?
J'x*1001 0 I
cp' | 1000 VK | cp

[ ! 100V /c| J'x"
sz _ 0 1 0 O Jlxlz
371001 0 | jryd

Lcp | [000VK | ¢pf

Invariance of the Continuity Equation

The continuity equation to the observer O is equal to:

Jx!
G P oK Ok Ak op =[i_6 0.9 }sz
Tt At ax ax ot Lox' ax? ox’ coxt | X’
cp

=zero

Where replacing 15.24 and 15.56 we have:

1 00 0 100v'/c Jlxll

V.J 1,12
vJ+aax—Pi:|:6fll af;Z a)fﬁ cai;4:| 8 (1)(1) 8 8(1)(1) 8 §,§’3 =zero

/00K |000VK' | ¢cp'
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The product of the transformation matrices is given in 15.27 and 15.28 with this:

0 00 V/c

1000 J'x'"
0 00 O o
6'j-f_aa_p“:|:aarl aarZ 6613 6814:| g(l)?g + 0 00 0 1 §’§’§
TR e e 0001 |—v/co0 R
C
Executing the operations of the second term we have:
0 00 V/c Jry!
0 00 0 * ATl A Aol Ay
{a o 0 0 } 0 00 o |J¥|__ven Vop' wu'x" dp
ox'' ox'? ox”? cox'? 2 x" J'x"? ctoxt ! ¢t o
—v'/c0 0—2 cp’

c

Where replacing Jx''=p'u’x'! and 8.5 we have:

Viu'x'1 0p' ,( u'x'' 0o ) L 2v'u'x't Op'
2 ox't\ 2 ox'e o c?  ox'4 —zero
Then we have:

0 00 V/e )
J'x'
0 00 O o

{51 00 54} 0 00 0 | |—zero
ox'" ox'? ox'” cox' 't || X

/e 00X Ty
c

With this result we have in 15.59 the invariance of the continuity equation:

. 1000 J’x’; 5
== 0p | 0 0 0 0 [0100[Jx?|_ g5, O
V.J+—L = =V.J

ox? [ax'l ox'? ox"? c@x"‘} 0010 jx ox'?

The continuity equation to the observer O’ is equal to:

J'x"
< = Op' _aJ'x" aJ'x" aJ'x”  0p 0 0 0 0 'x'?
V.J+8x%= ox" i ox"? i ox"? +6)i)’4 2[5 ox'? ox”? c@x"‘} :;');',3 —Ee
cp
Where replacing 15.23 and 15.55 we have:
, 1 00 0 |[100—v/c| Jx'
e KA PR
T 00K 000 VK | ep

The product of the transformation matrices is given in 15.34 and 15.35 then we have:

1000 Jx
o [0 0 o o lotool,] 000 O |l
Vel SO L 00l 0 00 0 1
e 0001 {ve00-2 ()0,

C
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Executing the operations of the second term we have:

0 00 —v/c )

Jx
{iii o } 000 0 1| van' vop 2w dp
ox' ax? ox? cox’ e [0 ] e*axt axt 2 oxt

v/c00— > cp
c

Where replacing Jx!=pux' and 8.5 we have:

vux! Op (uxl 0 ) 2vux! 0P

c? Ox* \ ¢2 oxt c? ox* —zero
Then we have:
0 00 —v/c 1
Jx
000 O
{iii 0 } 0 00 O ij =zero
ox' ox? ox? cox* 2vux' || X

v/c00-—
o2 cp

With this result we have in 15.64 the invariance of the continuity equation:

5 1000 Jx; 5

=5, 0p' 0 0 0 0 (0100 Hx%| o3, Op

V.J - £ 22 =V.J+2—

+6x’4 [le ox? o’ c@x“} 0010 +6x4
0001 ¢p

Invariance of the line differential element:

That to the observer O is written this way:

1
2(12(2)2(3)2( 4)2 [1 2 4.3 4](1)(1)38 Z’;CZ
(ds):dx)+dx +ldx” ) —\cdx™ ) = |dx dx” dx’ cdx 0010 || g’
00011 cax?

090 9 Iooo]oo ¥ [av!
(d 2_[ A 302 343 g4 0100 ¢ dx'"?
s) =|dx" dx'? dx”* cdx* | 001 0 0010|010 0 |90
Voo o Yloot1 o p
¢ QOVKT000-1] 00 Jk Led

001 0 8(1)‘1)8 010 0 <[99 O

Vo 001 0 1

v ’ -1 ’ G S

¢ VOVKTI000-1] 40 vk 200-1 22Vddf§
Cc ax

1 v v
00 c 1000 000 c
010 0 0100 + 000 0
001 0 10010 000 0
Voo z2vdxt | [000-1] v o -2vidy"
c Cdef4 c chx14
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That applied in the line differential element supplies:

10007]%%% ©% dx’;
2 [ 302 33 544110100 000 0 dx’'
(ds) —[dx dx'* dx'"” cdx 001 0 000 0 e
000-1] | v oo =2v'dx" | |l ey
c Cde/4

Executing the operations of the second term we have:

v/
000 - dx'; 1 )
[dx'1 dx'"* dx" cdx' 8 88 8 ?,;;,3 =M +cdx'4[vzdx’l—
v 00 _22"' dx'l cdx'
c ¢’ dx'
Then we have:
V!
000 ¢ [a
[abc’1 dx'* dx" edx' 8 8 8 8 Z§,3 =zero
! 9 ] 14
Yoo 22v dX4 cdx
c ¢ dx'

2v' dx"!
2 1
c” dx'

4
cdx' j =zero

With this result we have in 15.71 the invariance of the line differential element:

dxll

(ds) = [abc’1 dx'? dx" cdx'* e

To the observer O’ the line differential element is written this way:

(ds'y :(a’x’1 )2 +(a’x’2 )2 +(a’x’3 )2 —(cdx’4 )2 = [a’x'1 dx'* dx” cdx"‘]

Where replacing 15.15 and the transposed from 15.15 we have:

000 0 10007100 = ax
(d,z_[ 173223 4 0100 C ol dx?
s') =|dx'dx dx’cdx*| 0 01 0 0010010 0 | 9%
=Yook |000-1] 001 O I o
c 000K

(1)‘1)88 1000 100% boo  —
001 0 8(1)(1)8 010028(1)‘1) 8
- 00001 0 || 1
200K [000-1] 500 7 %00-1+22V;’x4
c ax

53/203

SoOoO—
O~ OO

dxrl
dxlz
dxl}
-1 cdx(4

00
00 |4 oo} ofar ol P o} -y
0
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15.74

15.75

15.76



Result that can be divided in two matrices:

—y y
boo = 10007 | %00 &
010 0 lo100| 000 ©
001 0 1‘0010*000 0 15.77
—v00_1+2vdx 000-1 —v002vdx
¢ cldx* c cldxt

-V
100 0 000 ¢ dx;
(ds’)2:[cz’xlcz’)czd)c3cabc4 8(1)? 8 + 8 88 8 dx3 15.78
000-1] | v o 2vix' || cax*
c cdx?

Executing the operations of the second term we have:

000 =¥ [ |
¢ dxz 1 4 1
[abcldxzd)fca’x4 8 88 8 Z,; :M +cdx4(_7vd 1+2—:di4ca’x“j:zero
__v()()&dil _cdx4
c c? dx*
Then we have:
—v
000 = dx;
1;,2;3 ,4] 000 0 dx” |_
[dx dx“dx’cdx 000 0 R 15.79
__vooﬂdil cdx*
c cdxt]

1000 dx;
(ds’)2 :[dxldxzdx3cdx4 8 (1) (1) 8 Z; :(abcl)2 +(abc2 )2 +(abc3)2 —(cabc“)2 :(ds)2 15.80
000—1| gyt

In §7 as a consequence of 5.3 we had the invariance of Eii=E'ii' where now applying 7.3.1, 7.3.2, 7.4 1,

7.4.2 and the velocity transformation formulae from table 2 we have new relations between Ex and E'x’
distinct from 7.3 and 7.4 and with them we rewrite the table 7 in the form below:
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Table 7B

g ENK po EXVK
(1_Vj 7.3B (1+ 14 j 7.4B
ux u'x'
E'y'= EpVK 731 | By=EYNK 7.4.1
E'z'= EzNK 732 | Ez=E'Z'VK' 7.4.2
B'x'=Bx 7.5 Bx=B'x' 7.6
! ’ v ! ’ ' ! !
B'y'=By+—5 £z 754 | By=BYy——=£E'z 7.6.1
r ! v r ! v’ ’ [
B'z :BZ_C_zEy 752 Bz=B'z +c_2E y 76.2
ux ,o,ou'x"
By:——zEZ 7.9 B Yy ___ZE z 7.10
C C
ux L, u'x'
bz="7ky 791 | BF=F 7.10.1

With the tables 7B and 9B we can have the invariance of all Maxwell’'s equations.

Invariance of the Gauss’ Law for the electrical field:

0E'x' OE'Y OE'Z p'

o' oy o g,

Where applying the tables 6, 7B and 9B we have:

( LV 0 ) ExJK 8ny/_ EzJK ,0«/_
ox c2ot)(1- v/ux) oy 0z &

Where simplifying and replacing 8.5 we have:

[a, (—IGJ—I Ex OEy Ez p

ax'v ux ox &

J(1—v/ux) oy o6z e,

That reordered supplies:

[8(1 v)—| Ex OBy Ez p

a\ ux ) |(—v/ux) @y oz e,

That simplified supplies the invariance of the Gauss’ Law for the electrical field.

Invariance of the Gauss’ Law for the magnetic field:

OB'x' OB'y' 0B'z'
. : =zero

o oy | oz

Where applying the tables 7B and 9B we have:

0,V g2 s g 112 s j
(ax s aJBx. akay. — EZ) 82\ Ey =0
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That reordered supplies:

OBx 0By 0Bz v (0Ez OEy 0Bx)_,
ox oy o0z c\oy oz ot

Where the term in parenthesis is the Faraday-Henry’'s Law (8.19) that is equal to zero from where we have
the invariance of the Gauss’ Law for the magnetic field.

Invariance of the Faraday-Henry’s Law:

OE'y' OE'x' OB'Z'
= 8.18
ox' o ot’

Where applying the tables 7B and 9B we have:

0, v o 0 ExvJK N
(a-i_cz ot jEyR_G)/ (l—v/ux)_ R@t(BZ c? Ey)

That simplified and multiplied by (l—v/ux) we have:

OEy/(

1
ax |

v OEx _ GBZ(I v)
ux ) oy or U ux

Where executing the products and replacing 7.9.1 we have:

OEy OEx__ 0Bz v(OEy uxOEy
Ox Oy ot ux\ ox c? ot

As the term in parenthesis is the equation 8.5 that is equal to zero then we have the invariance of the
Faraday-Henry’s Law.

Invariance of the Faraday-Henry’s Law:

OE'z' OE'Y'  OB'x'

= 8.20
oy oz ot'

Where applying the tables 7B and 9B we have:

0Lz 1 OBy re__ g Bx
oy 0z ot

That simplified supplies the invariance of the Faraday-Henry’'s Law.

Invariance of the Faraday-Henry’s Law:

OE'x' OE'Z’' _ OB'y'
oz' ox' ot'

8.22

Where applying the tables 7B and 9B we have:

0 ExVK (a,vaj . g( Lj
oz (1=v/ux) \ox c? ot EVK = \/Eat By+c2EZ

That simplified and multiplied by (1-v/ux) we have:

OEx 8EZ(1 v\ v OEz( vj: aBy(l v ) v@EZ(l vj
0z ox\ ux) ¢ ot \U ux ot U ux) ¢ or U ux

That simplifying and making the operations we have:
56/203



OEx OEz _ OBy v ( OEz OBy
oz ox o ux\ax o

Where applying 7.9 we have:

OEx OEz__ OBy v (0Ez ux 8Ezj
0z Ox ot ux\ ox ¢ ot )

As the term in parenthesis is the equation 8.5 that is equal to zero then we have the invariance of the
Faraday-Henry’s Law.

Invariance of the Ampere-Maxwell’s Law:

By OB\ yzve,u, i

= 8.24
ax! ay! o

Where applying the tables 6, 7B and 9B we have:

0, v o v .\ OBx 0
: By+—FE = VK—EzNK
(Gx c? Gt)( VT Z) oy HoJZ e by o

That simplifying and making the operations we have:

OBy 0OBx _ Joip y OFz, 1 v20Ez 1 2vuxOEz v OEz v 0By 1 v20Ez
ox Oy Ho oMo Terer Bt ¢ ¢ bt ¢ ox o2 ot el Ot

Where simplifying and applying 7.9 we have:

OBy 0Bx _ Joig g, OFz 1 2vuxOEz v OEz v ( —ux@Ez)
ox Oy Ho oMo T ¢ Bt e ox c2\ ¢2 ot

That reorganized supplies

OBy 0OBx
E—E=ﬂofz+goﬂo

OEz v(ux@EzlﬁEz)
ot c2\c¢? dt  oOx

As the term in parenthesis is the equation 8.5 that is equal to zero then we have the invariance of the
Ampere-Maxwell’s Law:

Invariance of the Ampere-Maxwell’s Law:

OB'z" OB'y' OE'x'
— =u J'x'+ — 8.26
o oz MMy

Where applying the tables 6, 7B and 9B we have:

0, v ) 0f p .V J_ ~ 0 ExVK
8y(Bz czEy) GzKBy'CZEZ =, (Jx pv)+50,u0x/f—at (/)

Making the operations we have:

0Bz OBy _ s v (OEy 0z

T vZ 2vux \OEx 1
v oz ey e

2 I
Ho€ pj+50,u0(1. 2 ¢ ) ot (1-v/ux)

Replacing in the first parenthesis the Gauss’ Law and multiplying by (I—LJ we have:
ux
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OBz OBy . .. OFEx v ( 0Bz OBy J\ v OEx ,v2( 1 @Ex), 1 v?dEx 1 2vux OFEx
oy oz o ot ot ux\ dy oz Ho )cz ox c2\ux Ox ) crc? Ot 2 ¢ ot

Where replacing Jx=pux, 7.9.1, 7.9 and 8.5 we have:

@_aﬂ: Jrte @+L uxaEy ux OEz MY aEva2(—18Ex 1 v?0Ex 1 2vux 8Ex
8y Oz Ho ot ot ux c ay * 2 Oz Ho P cz Oox Ic2kcz ot Ic2 cz ot cz cz ot

0Bz OBy _ Jyre g OEX v (OEy OFz o2 )\ v 0Ex 1 2vuxdEx
oy Oz Ho o5 2oy oz Fo p) ¢ Ox c¢? ¢ ot

Replacing in the first parenthesis the Gauss’ Law we have:

0Bz 0By OEx v OEx v OEx 1 2vuxOEx
=y JX+E
8y 0z ot c¢* Ox c¢* ox c? c* ot

That reorganized makes:

0Bz GBy
8y oz

As the term in parenthesis is the equation 8.5 that is equal to zero then we have the invariance of the
Ampere-Maxwell’'s Law:

i Jxe, OEx 2v(8Exlux8Ex)
00

ot czkﬁx c? Ot

Invariance of the Ampere-Maxwell’s Law:

OB'x' 0OB'Z' OE'y'
—=u,J'y'+ 8.28
aZ! ax! lLlO y 80 ll’lo at!

Where applying the tables 6, 7B and 9B we have:

OBx (0, v 0 v 0
: B—YEy |- VKO EWE
oz \ox e ar)( Saps: y) Holy+éopy N K5 By

Making the operations we have:

0OBx 0Bz OEy 1v20Ey 1 2vuxOEy v OEy v 0Bz 1 v20Ey

Jy+ ] ]
oz ox HoVTEM T T o 2 2 o 2 Ox 2 o ¢l ot

Where simplifying and applying 7.9.1 we have:

OBx 0Bz
0z ox

=Ho V¥ oty o ¢ ¢ At c? ox c\c? ot

OEy 1 2vux0Ey v OEy v (ux 5Eyj
That reorganized makes:

OBx 0Bz
0z ox

aEy v (ux 8Ey l 8Eyj

=Ho V¥ oty ot c2\c? o ox

As the term in parenthesis is the equation 8.5 that is equal to zero then we have the invariance of the
Ampere-Maxwell’s Law:
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Invariance of the Gauss’ Law for the electrical field without electrical charge:

OE'x } OE'y } OF'z =zero 8.30
ox' oy oz

Where applying the tables 7B and 9B we have:

( LV 0\ ExvJK 8Ey\/_ EzVK _
ox c2 ot )(1 —v/ux) oy 0z

zero

Where simplifying and replacing 8.5 we have:

[a, (—16)1 Ex  OEy Ez

o\ ux ox J(1—v/ux)" oy oz —Eere
That reorganized makes:

0 v\] Ex OEy Ez

=1 : F——= :
[éx( uxjj(l—v/ux) oy Oz zero

That simplified supplies the Gauss’ Law for the electrical field without electrical charge.

Invariance of the Ampere-Maxwell’s Law without electrical charge:

OBy oB'x'_ OE'Z
axf ay! Oﬂ() at!

8.40

Where applying the tables 7B and 9B we have:

0,v o \_0Bx _
(ax'cz atj(By. EZ) o oﬂo‘/_ EZ«/_

Making the operations we have:

OBy 0Bx . OEz 1v20Ez 1 2vux0Ez v OEz v OBy 1 v?0Ez
ox oy Moo T Bt ¢ ¢ bt ¢ ox 2 Bt el

Where simplifying and applying 7.9 we have:

OBy 0Bx . OFz 1 2vux0Ez v 0Ez v ( —ux GEZJ
ox oy oMo T ¢ ar 2 ax 2\ 2 ar

That reorganized makes:

OBy 0Bx _o y OEz_ v ((ux OFz GEZJ
ox oy o075 Te\er ar | ox

As the term in parenthesis is the equation 8.5 that is equal to zero then we have the invariance of the
Ampere-Maxwell’s Law without electrical charge:

Invariance of the Ampere-Maxwell’s Law without electrical charge:

0Bz OBy OE'x
ayf aZ! (Jﬂ() at!

8.42
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Where applying the tables 7B and 9B we have:

d v .\ o 0 ExJVK
8y(BZ ZEy) szBy' 2 jgo'u(’\/_ (—v/ux)

Making the operations we have:

@_aﬂ v 8Ey+8Ez e (1."2 2vux \OEx 1
oy Oz St T ) ot (1-v/ux)

Replacing in the first parenthesis the Gauss’ Law without electrical charge and multiplying by (1 - v/ux) we
have:

0Bz OBy . . OEx, v(dBz OBy\ v @Ex v?( 1 0Ex), 1 v20Ex 1 2vux OFEx
oy oz My ‘ux\ y 6z ) ¢ ax c2\ux ox ) crer ot ¢ ¢ O

Where replacing 7.9, 7.9.1 and 8.5 we have:

OBz OBy OEx v (uxOEy ux0Fz) v OEx v2(—10Ex), 1 v20Ex 1 2vuxdEx
E_E_go’uo o ux\c> 0y ¢* 0z ) ¢ ox c2\c2 Ot ) c2cr At 2 > ot

That simplified supplies:

0Bz OBy o OEx v (OEy 0Ez)\ v OEx 1 2vux OFx
oy oz 075 cﬂ@y "0z ) ¢? ox ¢ ¢ Ot

Replacing in the first parenthesis the Gauss’ Law without electrical charge we have:

0Bz OBy _ e OEx v OEx v OEx 1 2vuxoEx
ay oz e o 2 ax 2 ¢ o

That reorganized makes:

0Bz GBy
8y oz

As the term in parenthesis is the equation 8.5 that is equal to zero then we have the invariance of the
Ampere-Maxwell’s Law without electrical charge:

i Jxe, OEx 2v(8Exlux8Ex)
00

ot czkﬁx c? Ot

Invariance of the Ampere-Maxwell’s Law without electrical charge:

OB'x' 0OB'z' _ OE"y'

= 8.44
o ox oMoy

Where applying the tables 6, 7B and 9B we have:

OBx (0, v 0 % 0
: Br—YEy =& u NKLEpWEK
oz \ox c2 ar)( T y) St VR G

Making the operations we have:

OBx OBz _ OEy 1v20Ey 1 2vuxOEy v OEy v oBz 1 v20Ey

_g T T
0z Ox otho Ot c2c¢c2 Ot ¢ ¢ Ot c¢?2 Ox c¢?2 ot c?c? ot

Where simplifying and applying 7.9.1 we have:

60/203



=£
oz ox Ma e e ot o ax c2\c2 ot
That reorganized makes:

OBx 0Bz _ OEy 1 2vuxOEy v OEy v ( ux 8Eyj

OBx_ 0Bz ey OEy v (ux 8Ey OEy
2 o e Teler o ax

As the term in parenthesis is the equation 8.5 that is equal to zero then we have the invariance of the
Ampere-Maxwell’s Law without electrical charge:

§15 Invariance (continuation)

A function £'(@)=f(kr —wr) 2.19

Where the phase is equal to 8 = (kr - wt) 15.81

In order to represent an undulating movement that goes on in one arbitrary direction must comply with the
wave equation and because of this we have:

£[3,,_ (x2 +? +zz)} o), k

2 r 00

r

2\8 f( ) e 82f(9)

86’2 20" = zero 15.82

(x+y+

That doesn’t meet with the wave equation because the two last elements get nule but the first one doesn'’t.
In order to overcome this problem we reformulate the phase @ of the function in the following way.

A unitary vector such as

n :cos¢f+cosoﬁ+cosﬂl€ 15.83
X X z z

where cosg=—=—, cosoz=X=Z cosf=—=— 15.84
r ct roct’ r ct

has the module equal to 7 = |ﬁ| =n.n = \/cos2 p+cos’ a+cos’ f=1. 15.85

Making the product

2 2 2

— = - - - - X" +y +z" r

n.Rz(cos¢z +cosaj +cos Pk )(xz +yj+zk }cosqﬁx+cosay+cosﬂz:y—:_:r 15.86
r r

we have 7 =7i.R = cos ¢x + cos ay + cos [fz that applied to the phase € supplies a new phase
® = (kr —wt)= (kﬁR - wt)= (k cos ¢ + k cos ay + k cos fiz —wt) 15.87

with the same meaning of the previous phase =0 .

-5 w
Replacing r =n.R =cos@x+cosay +cos fz e k=— in the phase @ multiplied by —1 we also get another
c

phase in the form

o :(_1)(kr_wt):(wz_kr):[w[t_fﬂ :M_C‘W “OS“y*COS/”ZH 1588

C C

with the same meaning of the previous phase (— 1)(9 =0.

Thus we can write a new function as:
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c
That replaced in the wave equation with the director cosine considered constant supplies:

azf(q))w_zcos2¢+ azf(CD)w_zco 2 azf—@w_zcoszﬂ_azf—@w—zzzero 15.90

o+
ob?  ¢? ob?  ¢? ® on?  ¢? on?  ¢?

f(d)):f{w[t cos¢x+cosay+c0sﬂzﬂ 15.89

that simplified meets the wave equation.

The positive result of the phase @ in the wave equation is an exclusive consequence of the director cosines
being constant in the partial derivatives showing that the wave equation demands the propagation to have
one steady direction in the space (plane wave).

For the observer O a source located in the origin of its referential produces in a random point located at the
distance r=ct=+/x*+y>+z> of the origin, an electrical field £ described by:

E = Exi + Eyj + Ezk 15.91

Where the components are described as:

Ex=E,.[(®)
Ey=E,.f(®) 15.92
Ez=E_.f(®)

That applied in E supplies:

E=E f(@F +E, /(@) +E f@F=|E i +E,]+E,]/(®)=E,/(®). 16.93
with module equal to E:\/(E V+E, P+, ) f(@)=E=E,.f(®) 15.94
Being E,=E i+E, j+E k 15.95
The maximum amplitude vector Constant with the components Eye, Eye, Exo 15.96
And module E, :\/(E Y+, P+E.,) 15.97

Being f(CD) a function with the phase @ equal to15.87 or 15.88.

Deriving the component E, in relation to x and t we have:

OEx _ . of (©)o® _ e of (@)olkr—wt) . of (@)kx . of(®)kx

=L, vo =E, =E, 15.98
ox od ox oD ox ob r oD ct
OEx _ E of (©)od _ E of (@) dkr—wt) _ E 6f(CD)(_W) 1509
ot oD ot oD o oD

that applied in 8.5 supplies

OEx x/ztaEx:Zem: £ 8f(<1>)8CD+x/2t £ of (d)od I
ox «c¢° ot op ox ¢ od ot oD

ox ¢ ot
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8f(®)(a® : x/t@(lbjzzem:}@i%rx_/tai):zem 15.100
* ob \ox ¢’ ot

ox ¢ ot

demonstrating that it is the phase @ that must comply with 8.5.

od  x/tod kr—wt)  x/t d(kr—wt) e x/t x(, w
——t—5 L —zero= +— =zero:>—+—2(—w)=zero:>— k—— |=zero
ox ¢ ot ox c ot ct ¢ ct c

w
as k =— then E, complies with 8.5.
c

As the phase is the same for the components E, and E, then they also comply with 8.5.

As the phases for the observers O and O’ are equal (kr—wt):(k’r’—w’t’) then the components of the
observer O’ also comply with 8.5.
8(kr—wt)+x_/t8(kr—wt) ok'r—wt) x'/t o(k'r'—w't')

Ox c ot ox' c ot'

The components relatively to the observer O of the electrical field are transformed for the referential of the
observer O’ according to the tables 7, 7B and 8.

Applying in 8.5 a wave function written in the form:

Y =) = o = cos(kx — wi )+ isin(kx — wt) = cos @ +isin @ 15.102

where [ = \/—_1

Deriving we have:

6—T=—ksen®+kicos® end 6—lP=wsenCD—wicosCD 15.103
ox ot
or XX _ e ang X 0 15.104
ox ot

That applied in 8.5 supplies:

o +x_/t8_‘P = zero = (~ k sen® + kicos ®) + x—/t(wsen(l) —wicos®) = zero

Oox c2 ot 02

that is equal to:

xw . .xwi
(—k+—2js1ncb+(kz— > jcosd):zero
ct c't

or X XY o (ke@)

O_x c? ot c

x/t ;
+ —2(— we'® )= zero

where we must have the coefficients equal to zero so that we get na identity, then:

W xw
—k+Tzzer0:>k=T
ct ct
Wi W
kl—Tzzer0:>k=—2
ct ct
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; x/t ; xw
(ke’CI> )+ —2(— we’cp): zero = k = —
c ct

Where applying w = ck we have:

xw  xck x
k=—r=—r=—=c
c’t c't t

Then to meet with the equation 8.5 we must have a wave propagation along the axis x with the speed c.

X
If we apply w=uk and v =—we have:
t

xw  vuk c
k=—=—=u=—.

Czt 6’2 1%

A result also gotten from the Louis de Broglie’s wave equation.
§16 Time and Frequency
Considering the Doppler effect as a law of physics.

We can define a clock as any device that produces a frequency of identical events in a series possible to be
enlisted and added in such a way that a random event n of a device will be identical to any event in the
series of events produced by a replica of this device when the events are compared in a relative resting
position.

The cyclical movement of a clock in a resting position according to the observer O referential sets the time in
this referential and the cyclical movement of the arms of a clock in a resting position according to the
observer O’ sets the time in this referential. The formulas of time transformation 1.7 and 1.8 relate the times
between the referentials in relative movement thus, relate movements in relative movement.

The relative movement between the inertial referentials produces the Doppler effect that proves that the
frequency varies with velocity and as the frequency can be interpreted as being the frequency of the cyclical
movement of the arms of a clock then the time varies in the same proportion that varies the frequency with
the relative movement that is, it is enough to replace the time t and t’ in the formulas 1.7 and 1.8 by the
frequencies y and y’ to get the formulas of frequency transformation, then:

t=tJK = V'= y\/f 1.7 becomes 2.22

t=tJK = y= y'x/F 1.8 becomes 2.22

The Galileo’s transformation of velocities #'=u —V between two inertial referentials presents intrinsically
three defects that can be described this way:

a) The Galileo’s transformation of velocity to the axis x is u#'x'=ux—v. In that one if we have ux =c then
u'x'=c—vandif we have u’'x'=c then ux = ¢ +v . As both results are not simultaneously possible or else

we have ux=c or u'x'=c then the transformation doesn’t allow that a ray of light be simultaneously
observed by the observers O and O’ what shows the privilege of an observer in relation to the other because
each observer can only see the ray of light running in its own referential (intrinsic defect to the classic
analysis of the Sagnac’s effect).

b) It cannot also comply to Newton'’s first law of inertia because a ray of light emitted parallel to the axis x
from the origin of the respective inertial referentials at the moment that the origins are coincident and at the
moment in which t =t = zero will have by the Galileo’s transformation the velocity c of light altered by + v to
the referentials, on the contrary of the inertial law that wouldn’t allow the existence of a variation in velocity
because there is no external action acting on the ray of light and because of this both observers should see
the ray of light with velocity c.

c) As it considers the time as a constant between the referentials it doesn’t produce the temporal variation
between the referentials in movement as it is required by the Doppler effect.

The principle of constancy of light velocity is nothing but a requirement of the Newton'’s first law, the inertia
law.

64/203



Newton’s first law, the inertia law, is introduced in Galileo’s transformation when the principle of constancy of
light velocity is applied in Galileo’s transformation providing the equation of tables 1 and 2 of the Undulating
Relativity that doesn’t have the three defects described.

The time and velocity equations of tables 1 and 2 can be written as:

2
t'=t l+v—2—&cos¢ 1.7
C C

V= v 1.15
2
2
1+v—2——vcos¢
I} C
2 '
t=t'\/l+v—2+2—vcos¢’ 1.8
C C
v= - 1.20
12 ’
1+v2 + 2v cos¢’
C C

The distance d between the referentials is equal to the product of velocity by time this way:

d=vt=V't' 1.9

It doesn’t depend on the propagation angle of the ray of light, being exclusively a function of velocity and
time, that is, the propagation angle of the ray of light, only alters between the inertial referential the

proportion between time and velocity, keeping the distance constant in each moment, to any propagation
angle.

The equations above in a function form are written as:

d=ev,t)=¢(v,1) 1.9
t'=1(v,t,9) 1.7
v=g(v,¢4) 1.15
t=1"(v.t',¢') 1.8
v 9) 1.20

Then we have that the distance is a function of two variables, the time a function of three variables and the
velocity a function of two variables.

From the definition of moment 4.1 and energy 4.6 we have:

I O
p=—tu 16.1
C

The elevated to the power of two supplies:

2 2
u

¢’ 2
= 16.2
¢’ E? P

Elevating to the power of two the energy formula we have:
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2

m,c
2 2 2 2 4
E'=| = =E’ -E’ %Y =mjc
-4 ¢
2
c

Where applying 16.2 we have:

2

2
E2—EZZ—sz,fc4:>E2—EZ%pZ:m,fc":E:cq/pz—i-m,ch 4.8

From where we conclude that if the mass in resting position of a particle is null m_ = zero the particle
energyisequalto E=cp. 16.3

That applied in 16.2 supplies:

2 2 2 2
U =€ p’=t = C plou=c 16.4

B T (o)

From where we conclude that the movement of a particle with a null mass in resting position m_, = zero will
always be at the velocity of light u = c.

Applying in E =c¢ p the relations E=yh and c=y\ we have:

h h
yh= ykp:p—x and in the same way p'= 7 16.5

Equation that relates the moment of a particle with a null mass in resting position with its own way length.

Elevating to the power of two the formula of moment transformation (4.9) we have:

p'=p- E p =p +E % —2ivpx

Where applying £ =c p and px:pcosd):p@ we find:
c

2
| 2
p'2=p2+(cp) vi-2 pvp = p'=p,|l+ —vzlx:p'zp\/K 16.6
c* ¢

Where applying 16.5 results in:

p\/_:>—=—\/_ A'= —— orinverted /1=L 2.21

" K

Where applying ¢ = yA4 and ¢ = »'A" we have:

y’=y«/f orinverted y = y'vK' 222

In § 2 we have the equations 2.21 and 2.22 applying the principle of relativity to the wave phase.
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17 Transformation of H. Lorentz

For two observers in a relative movement, the equation that represents the principle of constancy of light
speed for a random point A is:

X’2+y'2+z'2—czt'2:XZ+yz+zz—czt2 17.01

In this equation canceling the symmetric terms we have:
Nesta cancelando os termos simétricos obtemos:

)2 2 2.2

x? 't =x -t 17.02
That we can write as:
(x'—ct'Nx'+ct')=(x—ct)x+ct) 17.03
If in this equation we define the proportion factors 7 and u as:

x'—ct')=n{x—-ct A
{Ex’+ct';:z((x+ct)) B 1704

where we must have 7.1 =1 to comply 17.03.

The equations 17.04 where first gotten by Albert Einstein.

When a ray of light moves in the plane y'z' to the observer O’ we have X' = zero and x = vt and such
conditions applied to the equation 17.02 supplies:

2
0-t?=(vt) —ct? = t'=t [I-Y5 17.05
C

This result will also be supplied by the equations A and B of the group 17.04 under the same conditions:

(0—ct,/]—v—jj=77(vt—ct) A

17.06
2
(0+ct,/]—Z—2j:,u(vt+ct) B
From those we have:
17.07
Where we have proven that n7.u=1.
From the group 17.04 we have the Transformations of H. Lorentz:
wnrs) () 17.08
2 2
ez, (ra) 17.09
2 2
X:(U;ﬂ)xr+(’7;ﬂ)ctr 17.10
o=t i) 17.11
2 2
+ — —
Indexes equations 777##777 and UT/J:
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1+ 1-Y 1+ Y41-v
-2 \1+Z \/]—V\/]+V v’ v
c c c c o2 i
v v v v v v
L—n= ! c ]+c:] c ! c__ c :>,U_77: c 1713
v 2 2 '
I+ \I—— \/]_,_V\/ _v v v
e e e "7 "7
1+2 [1-Y 1+ Y Y 2v B v
n— = c c _ c c__ c :>772,U c 17 14
-2 \1+¥ -V [1+Y v? v’
c c c c ]_T T2
c c

Sagnac effect

When both observers’ origins are equal the time is zeroed (t = t' = zero) in both referentials and two rays of
light are emitted from the common origin, one in the positive direction (clockwise index c) of the axis x and x’
with a wave front A; and another in the negative direction (counter-clockwise index u) of the axis x and x’
with a wave front A,

The propagation conditions above applied to the Lorentz equations supply the tables A and B below:

Table A
Equation Clockwise ray (¢) | Equation Counter-clockwise ray (u) | Sum of rays
Result Result
Condition x.=ct, Condition x,=—Ct,
17.08 x'.=uct, 17.08 x' =-nct,
x' = pux, x', =nx, X' +x' = ux_+nx,
17.09 ct'.=uct, 17.09 ct',=nct, ct' 4ct',=uct, +nct,
x'.=ct', x', =—ct',
Table B
Equation Clockwise ray (c) Equation Counter-clockwise ray (u) | Sum of rays
Result Result
Condition x'.=ct', Condition x',=—ct',
17.10 x.=nct', 17.10 x, =—puct',
X, =nx'; X, = pux', XX, =X +ux',
7.1 ct,=nct', 7.1 ct,=puct', ct.+ct,=nct' +uct',
x,=ct, x,=—Ct,

We observe that the tables A and B are inverse one to another.

When we form the group of the sum equations of the two rays from tables A and B:

D'=ct'_+ct' =uct. +nct A
{ ° ° ! 17.15

D=ct_+ct,=nct'+uct', B
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Where to the observer O’ D'= A, <> A_ is the distance between the front waves A, and A; and where to the
observer O D=A, <> A_ is the distance between the front waves A, and A..

In the equations 17.15 above, due to the isotropy of space and time and the front waves A <> A_ of the

two rays of light being the same for both observers, the sum of rays of light e times must be invariable
between the observers, which we can express by:

D'=D=ct' +ct',=ct_ +ct,=2t'=3t 17.16

This result that generates an equation of isotropy of space and time can be called as the conservation of
space and time principle.

The three hypothesis of propagation defined as follows will be applied in 17.15 and tested to prove the
conservation of space and time principle given by 17.16:

Hypothesis A:

If the space and time are isotropic and there is no movement with no privilege of one observer considered
over the other in an empty space then the propagation geometry of rays of light can be given by:

et |=[et, =lct’, 17.17

This hypothesis applied to the equation A or B of the group 17.15 complies to the space and time
conservation principle given by 17.16.

and

The hypothesis 17.17 applied to the tables A and B results in:

ct'.=uct' A
Quadro A c !
ct',=nct', B
17.18
Quadro B Cte =Nt ¢
ct,=uct, D

Hypothesis B:

If the space and time are isotropic but the observer O is in an absolute resting position in an empty space
then the geometry of propagation of the rays of light is given by:

et |=lct,|=|cY 17.19
That applied to the table A and B results in:
ct'.=uct A
Quadro A ©
ct',=nct B
17.20
ct=nct C
Quadro B ©
t=uct', D
ct' =pu’ct! A
e H CE 17.21
ct'u:772ct'c B
Summing A and B in 17.20 we have:
ct' +ct' =2ct(772’uj:>D'=D(77 ‘uj:D' 17.22

=y t'=
\/1_7 \/1_7

This result doesn’'t comply with the conservation of space and time principle given by 17.16 and as D'# D it
results in a situation of four rays of light, two to each observer, and each ray of light with its respective
independent front wave from the others.

Hypothesis C:

If the space and time are isotropic but the observer O’ is in an absolute resting position in an empty space
then the propagation geometry of the rays of light is given:

69/203



U
|ctc

=let',|=let] 17.23

That applied to the tables A and B results in:

ct'=uct
Quadro A c
crnet, 17.24
ct,=nct' .

o Q O o

Quadro B
ct,=uct'

ct, =n’ct, A
5 17.25
ct,=u"ct, B
Summing C and D in 17.24 we have:

tl
ct_+ct, :2ct'(77+7‘uj2D=D'(77+’u Z

D'
—j:D:—: Yrt=—t—
2 V2 V2
1/1—— 1/1——

C2 C2

This result doesn’t comply with the conservation of space and time principle exactly the same way as
hypothesis B given by 17.16 and as D'#D D'#D it results in a situation of four rays of light, two to each
observer and each ray of light with its respective independent front wave from the others.

17.26

Conclusion

The hypothesis A, B and C are completely compatible with the demand of isotropy of space and time as we
can conclude with the geometry of propagations.

The result of hypothesis A is contrary to the result of hypothesis B and C despite of the relative movement of
the observers not changing the front wave A, relatively to the front wave A; because the front waves have
independent movement one from the other and from the observers.

The hypothesis A applied in the transformations of H. Lorentz complies with the conservation of space and
time principle given by 17.16 showing the compatibility with the transformations of H. Lorentz with the
hypothesis A. The application of hypothesis B and C in the transformations of H. Lorentz supplies the space
and time deformations given by 17.22 and 17.26 because the transformations of H. Lorentz are not
compatible with the hypothesis B and C.

For us to obtain the Sagnac effect we must consider that the observer O’ is in an absolute resting position,
hypothesis C above and that the path of the rays of light be of 27R:

ct',=ct',=ct'=27R 17.27

For the observer O the Sagnac effect is given by the time difference between the clockwise ray of light and
the counter-clock ray of light At =t_—t, that can be obtained using 17.24 (C-D), 17.27 and 17.14:

v
):27TR c |___4nRv
c

= 17.28
(e}

At=t_—t,=t'(n-u

2
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§9 The Sagnac Effect (continuation)

The moment the origins are the same the time is zeroed (t = t' = zero) at both sides of the referential and the
rays of light are emitted from the common origin, one in the positive way (clockwise index c) of the axis x and
x" with a wave front A. and the other one in the negative way (counter clockwise index u) of the axis x and x’
with wave front A,

The projected ray of light in the positive way (clockwise index c¢) of the axis x and X’ is equationed by
x.=ct, and x'_=ct'_ thatapplied to the Table | supplies:

r

ct'.=ct (]—&j:ct’ =ct.K. (1.7) ct_ =ct' (1+vcj:>ct =ct' _K'. (1.8) 9.11
C [ C C C C ) c C C C c C - :

v v V' V'
r=— v =—% (1.15) v, =——=v_=—5% (1.20) 9.12

C K C ’ C K!
S (2] "
C C

From those we deduct that the distance between the observers is given by:

v

d.=v_ t.=v'_t', 9.13
Where we have:

(I—EJ(HVCj:KcK'c:] 9.14
C C

The ray of light project in the negative way (counter clockwise index u) of the axis x and x’ is equationed by
x,=—Ct, and x' =—ct',: that applied to the Table | gives:

'=ct,| 1+ = 1 —ctr | 1=V —ct! K, (1 1

ct',=ct, +? =ct',=ct,K, (1.7) ct,=ct',| I- z =ct,=ct',K', (1.8) 9.15
VU VU V’U V'U

vV =———=v' = (1.15) vV, =~ =>V, == (1.20) 9.16

U ]+& ’ Ky ) = v YK u
c c
From those we deduct that the distance between the observers is given by:

d,=v,t,=v',t, 9.17

Where we have:

(1+V”j(]—vuj:KuK’u=] 9.18
C C

We must observe that at first there is no relationship between the equations 9.11 to 9.14 with the equations
9.15 t0 9.18.

With the propagation conditions described we form the following Tables A and B:

Table A
. Clockwise ray of , Counter clockwise ray of .
Equation light (c) Equation light (u) Sum of the rays of light
Result Result
Condition |x_.=ct_ Condition | x, =—Ct,
1.2 x'.=ct_K,_ 1.2 x',=—Cct,K,
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r r — r r —
x' . =x_K_ x' =x,K, x' +x' =x_K_+x,K,

1.7 ct'.=ct K, 1.7 ct',=ct,K, ct' +ct' ,=ct_K_+ct,K,
x'.=ct', x',=—ct',
Table B
. Clockwise ray of , Counter clockwise ray of .
Equation light (c) Equation light (u) Sum of the rays of light
Result Result
Condition |x'.=ct', Condition |x',=—ct’,
1.4 x.=ct'_K', 1.4 x,=——ct' K',
x.=x'_K', x,=x",K', X +x,=x'_K'_+x'",K',
1.8 ct.=ct'_K', 1.8 ct,=ct'K', ct.+ct,=ct'_K'_+ct',K',
x.=ct, x,=—Ct,

We observe that for the rays of light with the same direction the Tables A and B are inverse from each other.

Forming the equations group of the sum of the rays of light of the Tables A and B:

{D’=ct’c+ct'u=cthc +ct K, A o1

D=ct_+ct,=ct'_K'_+ct' K', B

Where for the observer O’ D'=A <> A_ is the distance between the wave fronts A, and A; and where for

the observer O D=A <> A_ is the distance between the wave fronts A, and A..

In the equations above 9.19 due to the isotropy of the space and time and the wave fronts A, <> A_ of the

rays of light being the same for both observers, the sumo of the rays of light and of times must be invariable
between the observers, which is expressed by:

D'=D=ct' +ct',=ct +ct,=>2t'=2t 9.20

This result that equations the isotropy of space and time can be called as the space and time conservation
principle.

The three hypothesis of propagations defined next will be applied in 9.19 and tested to prove the compliance
of the conservation of space and time principle given by 9.20. With these hypotheses we create a bond
between the equations 9.11 to 9.14 with the equations 9.15 to 9.18.

Hypothesis A:

If the space and time are isotropic and there is movement with any privilege of any observer over each other
in the empty space then the propagation geometry of the rays of light is equationed by:

{ctc=ct'u:>tc:t'u:VC:v'u:KC:K'u A .
ct,=ct'.=>t,=t'.=>v,=v'_=>K,=K', B

With those we deduct that the distance between the observers is given by:

d.=d,=v.t =v' t' =v,it, =v,t, 9.22

Results that applied in the equations A or B of the group 9.19 complies with the conservation of space and
time principle given by 9.20, showing that the Doppler effect in the clockwise and counter clockwise rays of
light are compensated in the referentials.
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Hypothesis B:

If the space and time are isotropic but the observer O is in an absolute resting position in the empty space
then the propagation geometry of the rays of light is equationed by:

ct.=ct,=ct A
V. =V,=V B 9.23
v.it.=v,t,=vt C

With those we deduct that the distance between the observers is given by:

d.=d,=vt=v't'.=v',t, 9.24
Results that applied in the equations A or B of the group 9.19 complies with the conservation of space and
time principle given by 9.20, showing that the Doppler effect in the clockwise and counter clockwise rays of
light are compensated in the referentials.

Hypothesis C:

If the space and time are isotropic but the observer O is in an absolute resting position in the empty space
then the propagation geometry of the rays of light is equationed by:

ct'.=ct',=ct' A
v'. =v',=v B 9.25
v' t' =v' t,=vt C

With those we deduct that the distance between the observers is given by:

d.=d,=v't'=v_t_=v,t, 9.26

(e}

Results that applied in the equations A or B of the group 9.19 complies with the conservation of space and
time principle given by 9.20, showing that the Doppler effect in the clockwise and counter clockwise rays of
light are compensated in the referentials.

In order to obtain the Sagnac effect we consider that the observer O’ is in an absolute resting position,
hypothesis C above and that the rays of light course must be of 27R:

ct' ,=ct',=ct'=27R 9.27

Applying the hypothesis C in 9.11 and 9.15 we have:

’
t =t'_K' =t =t'(]+%j 9.28

t,=t' K',=t, :t’(l—%j 9.29

For the observer O the Sagnac effect is given by the time difference between course of the clockwise ray of
light and the counter clock ray of At=t_—t, that can be obtained making (9.28 — 9.29) and applying 9.27

making:

’ ’ r+—r ]
At=t_—t, =t'(1+%j—t'(1—%j=2vct _ 4R 9.30
C

Qvit 2vi t,  2vi t,
c c

propagation of the clockwise and counter clockwise rays of light in a circumference showing the coherence

of the hypothesis adopted by the Undulating Relativity.
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In 9.30 applying 9.12 and 9.16 we have the final result due to v_ and v ,:

_2v't':47z'Rv': 47Z'RVC _ 47Z'RVU

At=t_—t = = 9.31
© Y c c? ? —Ccv, c2+cvu
The classic formula of the Sagnac effect is given as:
At=t =RV 9.32
c’—=v
From the propagation geometry we have:
Ar=2VEt 9.33
c
The classic times would be given by:
p=27R 9.34
c
g =2TR 9.35
c—v
2% 9.36
c+v
Applying 9.34, 9.35 and 9.36 in 9.33 we have:
At:2v 27zR:47r12?v 937
c cC C
Atc=2V 27R _ 427er 938
c (C_V) c’—cv
At _2v 27R _ 47Rv 939

e letv) luev

The results 9.37, 9.38 and 9.39 are completely different from 9.32.
§18 The Michelson & Morley experience

The traditional analysis that supplies the solution for the null result of this experience considers a device in a
resting position at the referential of the observer O’ that emits two rays of light, one horizontal in the x’
direction (clockwise index c¢) and another vertical in the direction y'. The horizontal ray of light (clockwise
index c) runs until a mirror placed in x’ = L at this point the ray of light reflects (counter clockwise index u)
and returns to the origin of the referential where x’ = zero. The vertical ray of light runs until a mirror placed in
y' = L reflects and returns to the origin of the referential where y’ = zero.

In the traditional analysis according to the speed of light constancy principle for the observer O’ the rays of
light track is given by:

ct'.=ct',=L 18.01
For the observer O’ the sum of times of the track of both rays of light along the x’ axis is:

Zt L LZZ_L

P oop g =Ly 18.02
X C u cC cC C
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In the traditional analysis for the observer O’ the sum of times of the track of both rays of light along the y’
axis is:

2t =t 4t =L4L _2L
c cC C

18.03

2L
o 1 <« . . . oo .
As we have X t', =>t T o there is no interference fringe and it is applied the null result of the

Michelson & Morley experience.

In this traditional analysis the identical track of the clockwise and counter clockwise rays of light in the
equation 18.01 that originates the null result of the Michelson & Morley experience contradicts the Sagnac
effect that is exactly the time difference existing between the track of the clockwise and counter clockwise
rays of light.

Based on the Undulating Relativity we make a deeper analysis of the Michelson & Morley experience
obtaining a result that complies completely with the Sagnac effect.

Observing that the equation 18.01 corresponds to the hypothesis C of the paragraph §9.
Applying 18.01 in 9.19 we have:

D'=ct'_+ct',=ct K_+ct,K,=>D'=L+L=ct_K_+ct,K,
18.04

D=ct_+ct,=ct'_K'_+ct' K',=D=ct_+ct, =LK' +LK' =IL(K'_+K',) B
From 18.04 A we have:
D=2L=ct | I-—= |+ct,| [+—2 | = D'=2L=ct_—v_t_+ct, +v,t 18.05

= =Ct, —7 +ct, +? = D'= =Cct,—v ., t+cCct,+v, L, .
Where applying 9.26 we have:

"o _ _2L
D—2L—ctc+ctu:>ZtX—tc+tu—? 18.06

In 18.04 B we have:

v’ v’
D:ctc+ctu:L[(]+ cj+(]— “H 18.07
(&} c

Where applying 9.25 B we have:

D=ct0+ctu:2L:>ti=tc+tu=%L 18.08

The equations 18.06 and 18.08 demonstrate that the Doppler effect in the clockwise and counter clockwise
rays of light compensate itself in the referential of the observer O resulting in:

St =Yt =3t, =2—cL 18.09

Because of this, according to the Undulating Relativity in the Michelson & Morley experience we can predict
that the clockwise ray of light has a different track from the counter clockwise ray of light according to the
formula 18.08 obtaining also the null result for the experience and matching then with the Sagnac effect. This
supposition cannot be made based on the Einstein’s Special Relativity because according to 17.26 we have:

Yt EYE, 18.10
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§19 Regression of the perihelion of Mercury of 7,13”

Let us imagine the Sun located in the focus of an ellipse that coincides with the origin of a system of
coordinates (x,y,z) with no movement in relation to denominated fixed stars and that the planet Mercury is in
a movement governed by the force of gravitational attraction with the Sun describing an elliptic orbit in the
plan (x,y) according to the laws of Kepler and the formula of the Newton's gravitational attraction law:

_ 11 30 23)
GMm, . —(667.10° X198 10")3,28.10 )r——ff 00
r l" r

The sub index "o" indicating mass in relative rest to the observer.

To describe the movement we will use the known formulas:

r=rr 19.02
= d(rr)=ﬂf+rd—¢g$ 19.03
¢t dt dt dt
2 2
uzzﬁ.ﬁziﬂJ +[r@) 19.04
dt dt
2= 2(..A 2 2 2
o017 ) [ (aV, [irds 0
dt dt dt dt dt dt dt dt

The formula of the relativity force is given by:

2 2
c c

= d| mu m, m, udu m, [ w . (Ldu\u
F=— = a+ = || [~ A+ u— | 19.06
dt u’ u’ St o L c dt Jc
I—— 1- ( uj
1=
c

In this the first term corresponds to the variation of the mass with the speed and the second as we will see
later in 19.22 corresponds to the variation of the energy with the time.

With this and the previous formulas we obtain:

ey ey

F=———ru- 19.07
L Jdr|d d’r [d¢j d¢ ,drdg d ¢ 1[
alaar) |7 ar Tardr ¢’
P s (d¢j L d_zr_r(@jz LAY jdrdg | d)| 1dr|.
A ) a? e dt| d \dt al“dardr a2 di

F=r— 19.08

(z—u%z)j/2 1_ ,drdg d¢+gd_2r_r(@j [ ,drdg d¢]
dz a " ar | Vad e ar) [ dt dt J

+

76/203



In this we have the transverse and radial component given by:

<

2
[—u”/c f ¢

dr (g Jarl ar
R + —_— ——
a’ dt| di’

pdrde &), |drid’r_
dtdt dr’ | |dt| dt’

2
r(ﬁ) }rw[ p4rdsg, 4 "’J} }f 19.09
ar) |a “ara " al [
r(ﬁ” l’( pdrdd  d ﬂ} ¢}¢ 19.10
ai) |al Caca |

As the gravitational force is central we should have to null the traverse component Ii;:zero so we have:

m

W{ o

From where we have:

E

dr_
dr’

£y

drdg, d°$)  _rardg
dedt  dr’ Cdt dt

()] |-

From the radial component ﬁr we have:

(4]

That applying 19.12 we have:

(]

= m, d’r
F, :_(]—uz/cz)w{dfz

That simplifying results in:
m, |d \dt) |,
r" r
G
| A\

drdg d d’) Jdr| d’r d’r
dt dt dt dt

This equaled to Newton's gravitational force results in the relativistic gravitational force:

dZ

(i)
ae \dt) |.

I _zm r’
A\ dt

( ¢j 49 drdd, A\ rdgl; 19.11
dar? \dt dt\ dedt  ar )| dt
ZrQ@ /@ —ldr d'r (d¢j
didi | a ) cdildf \dt 1012
49 ]_Jm |
dt \ dt
2
d¢ ZQ%JH/L?
dr dt dtdt dt 1dr|. 19.13
dt &r [d¢ T (ar| '
dar dt
d¢["d"d¢j
dr__de\c’drdt)| 1dr|, 19.14
dt . I(drj ¢’ dt
dt
19.15
_—k. 19.16
! .
p
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As the gravitational force is central it should assist the theory of conservation of the energy (E) that is written
as:

E=E,+E = constant. 19.17

Where the kinetic energy (Ey) is given by:

-1 19.18

And the potential energy (E,) gravitational by:

_ _GMomo ___k
r r

E

) 19.19

Resulting in:

| —%: Constant . 19.20

As the total energy (E) it is constant we should have:

aE_dr, dE,

= =zero . 19.21
dt dt dt
Then we have:

dE, mu du
= = 19.22

L=—— 19.23

Resulting in:

dE _dE, dE, mu du kdr muy du —kdr
—=—"4——=zero= + =zero— = 19.24

dt dt dt (1 uzjj dr 7 dt (1 ugjj dr 1 dt

This applied in the relativistic force 19.06 and equaled to the gravitational force 19.01 results in:

m, _ Ikdr_. —k.
=7 19.25

a i
2 2 2

uwooccrdt or

1=

c

F=

In this substituting the previous variables we get:
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2 2 2 _
o [ faof], fparas o] rhaor, aog) o,
L |[ar dt dt  dt crldi\de  dt’ ) r
3
C

From this we obtain the radial component Ij“r equals to:
m \dr (de\ | 1 k(drY -k
F.= o _2_,,(_j -5 2(_) =— 19.27
u’| dt dt cri\dt) r

That easily becomes the relativistic gravitational force 19.16.

From 19.26 we obtain the traverse component F’(ﬁ equals to:

ero 19.28

2
s__m, {Zdrd¢+rdgﬁ Izkdrd(ﬁzz
’ \/] W\ dededt’ ) rdeadt

21’554‘7" ?_ 1 k dr ; uZ 1029
rz@ m c’rdt\ '

As the gravitational force is central it should also assist the theory of conservation of the angular moment
that is written as:

—

L=rx p=constant. 19.30
L=Fxp=Fx Pl o dr A+rd¢q;j M, r2—¢(A (13): o ,,2%]{ 19.31
u’ u’ \ dt d u’ 2 d
1-— 1-— 1-— 1-—
c c c c
[=—" - rzd—¢l€=Ll€ = constant. 19.32
]_I’L dt
CZ
d—Lz d(Lk)z d(L)k + Ld(k)z d(L)k zzeroj—d(L):zero 19.33
dt dt dt dt dt dt

Resulting in L that is constant.

dk
In 19.33 we had ;:zero because the movement is in the plane (x,y).
t
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Deriving L we find:

dL_d| _m, .d¢| 1 mu_ du.dp _m, ( drdg, d¢)__ 10.34
dt dt u2 dr | & 5 Zdt dt u2\ dt dt d12 '
1- u 11—
SN .
C
From that we have:
2
(Z/ZCZ#%J du |
U du 19.35

rz@ :(l_uzj dt ¢’
dt e

Equaling 19.12 originating from the theory of the central force with 19.29 originating from the theory of
conservation of the energy and 19.35 originating from the theory of conservation of the angular moment we
have:

5, drd¢ ,d’g) —ldr|d’r (d(;ﬁj

Y+ —= 5

dt dt dr’ ) ¢ dt dr \di k dr W —u du ]

ad = =7 1 5= 19.36
249 i (drj mcr dt c (

From the last two equality we obtain 19.24 and from the two of the middle we obtain 19.16.

For solution of the differential equations we will use the same method used in the Newton's theory.

1
Let us assume w=— 19.37
r
. . . ow -1
The differential total of this is dwz—dr:>dw=—2dr 19.38

or r

— dw —1dr
From where we have d_w —] dr —_— = 19.39

dg r’ d¢ dt v dt

L 2
From the module of the angular moment we have %z 3 ]_u_2 19.40
myr c
2
From where we have @: L dr 1- u_ 19.41
dt myr d¢V
dr —Ld u’
Where applying 19.39 we have &-=—~%" 1—— 19.42
dt m, d¢
dgdi d~Ldw
That derived supplies —2: 1 19.43
e dt dgdi m, dg
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Where applying 19.40 and deriving we have:

d’r L u’ d(-Ldw u’ | =L’ u _dzw u’ dw d(
2 2 1 2 1. 1 2722 1 2 2
dt© myr cdg\ m,d¢o ¢ ) mr

[

| dg =2 d¢d¢\

In this with 19.36 the radical derived is obtained this way

d ]u2_ -1 udu k dr(] u2 kdw( u’
al\" 2 27 dt o’

JI=2 /3G di mc?r di mc dtk c’

i(/z uZJZ -1 _udu__k_drf, Lﬁj kdw( j
d¢ ¢’ c

VI=2 /32 Edg me*r dgl mc d¢k

That applied in 19.44 supplies:

d’r -I uz_dzw w ok (dw ’ u’
= 3 S eval K
e mr c|do ¢ mgc kd;/ﬁ
Simplified results:

3
dr_ Lk (| p(dw) L () )
dr’ mjczrz ¢’ d¢ mjr2 k ¢’ }a’¢2

Let us find the second derived of the angle deriving 19.40

d’¢ d| L u2 -2Ldr u
2 . R\ g +
dt dt\myr ) mydt my dtk

In this applying 19.42 and 19.45 and simplifying we have

N w

d’¢ 20 dw(l u'\ Lk _dw(, u
a’ mrdg ) m“"d¢k

Applying in 19.04 the equations 19.40 and 19.42 and simplifying we have

o)

The equation of the relativistic gravitational force 19.16 remodeled is
d’r (d¢j s (dr) —k
dr  \dt ¢’ dt r

In this applying the formulas above we have:

, ¢\ m, dg

i 2 B 2
L'k u’ 2 dw ’ I ( u2\d2w L u’ u’ 1(—de u’
ol Ll A 53] 1= o 1= | =1 I——

mcr c)\dg) mr k c }d¢ mr c c
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o

19.44

19.45

19.46

19.47

19.48

19.49

19.50

19.51

19.52



@) )
(dZWJZJ dw 1 k¥ c\d) Udi

d¢’ | rdg’ | Vz_mgrg d¢ ’ mzrx(d¢j4
>\ dt >\ dt
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H)

rdy mzrg(d"’}j mjrg( d¢j4 mjrg( ‘Mj
dt dt dt

2 2
2.\ 2 2 kg(er
(d w] 2dw 1 k ¢\ dt
d¢2

K (dr
(dszZ 2dw 1K cz(qu K
ag) rag T m((”’j mzrg[dqu mc(‘”’j
 \dt dt ’ dt
K ,d
2. \? 2 2 2 _r27w 2
(d Wj 2d°w 1 k ¢ d¢ k
d¢’ ) rdg’ 72 mr 8(d¢j m2r8(d¢j2 mzczrﬁ(wjz
dt “ \dt ! dt
i (dwY
, K| aw
(dzwj 2d°w 1 K’ A\ dg K’

d 2 2 4 2 2
¢ rdg’ r mzrg(wj mzr4(d¢5j mzczré(wj
> \dt >\ dt ’ dt

In this we will consider constant the Newton's angular moment in the form:

=92
dt

That it is really the known theoretical angular moment.
2d2 K > (aw) K
Ty d¢’ r2 mj r 2L2 kd¢ mchrZL2

(d—w

KooK dwjz Koo

:mjL4 mjchzkd_¢ mchLZW
dw AW
dg
dw\ dw dw\’
—— | t2——wt+d — +(A4+1W —B=zero
d¢ d¢ d¢

Where we have:

k2
A= 2212
kZ
B: 2L4
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The equation 19.54 has as solution:
1 1
W—E[] —acos(¢«/ I+A+¢, )]Z>W—5[] —5c0S(¢Q)] 19.57

Where we consider ¢ =zero.

It is denominated in 19.57 O°=1+A4.. 19.58

The equation 19.58 is function only of A demonstrating the intrinsic union between the variation of the mass
with the variation of the energy in the time, because both as already described, participate in the relativistic
force 19.06 in this relies the essential difference between the mass and the electric charge that is invariable
and indivisible in the electromagnetic theory.

From 19.57 we obtain the ray of a conical:

o1 D o ED 19.59
w ]—8c0s(¢«/1+A) I-gcos(¢O) '
Where ¢ is the eccentricity and D the directory distance of the focus.
Deriving 19.57 we have d_Z:QS%("@ 19.60
2 2
That derived results in d v;/:Q COS(¢Q) 19.61
d¢ D
Applying in 19.54 the variables we have:
2 ? 2 :
d VZV +2d—V2VW+A dw +(A+])w2 —B=zero.
d¢ d¢ d¢
Q4COS2(¢Q)+2QZCOS(¢Q)’71—8COS(¢Q) +AQ2S€n2(¢Q)+(A+l{1_8cos(¢Q)T—Bzzero 19.62
D’ D | & D’ &D
Q4cos2(¢Q)+2chos(¢Q) 2Q2(:0s2(¢Q)+ 4Q AQZCOSZ(¢Q)+(A ]{]—ecos(@)}z_B:Zem
D’ &D D’ D’ D’ D
Q4cosz(¢Q)+2chos(¢Q)_2chos2(¢Q) . AQ_Z_AQZCOSZ(¢5Q)+ (A+I) 2(A+])cos(¢Q)+ (A+I)c0s2(¢Q) Besero
D’ D’ D’ D’ D’ &’D’ D’ D’
(Q4—2Q2—AQZ+A+1\COSZ(Z¢Q)= 20" 242 |eosdo) AQ” (A1) 5 or, 19.63
) D &£ D D) D DD

In this applying in the first parenthesis Q2=]+A we have:

(07 =207~ 40" + A+ 1)=|(1+ AY =201+ A)- A1+ A)+ A+ 1|1+ 24+ 4 = 2= 24— A— £+ A+ 1)=zero
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In 19.63 applying in the second parenthesis Q2:1+A we have:

20° 24 2 ) [2(+4) 24 2
= =ZzZero
eD &b &D eD eD &D

The rest of the equation 19.63 is therefore:

40° (4+1)

7 82D2 —B=zero

The data of the elliptic orbit of the planet Mercury is [1]:
Eccentricity of the orbit £=0,206 .

Larger semi-axis = a = 5,79.10'°m.
Smaller semi-axis b=a~/I1—&° =5,79.10"" | 1-0,206° =56.658.160.305,80m .
eD=a(1-£° =5,79.10" (1-0,206° )=55.442.955.600,00m

al1-¢?) 579.10"(1-0,2067)
e 0,206

D =269.140.561.165,00m .

The orbital period of the Earth (PT) and Mercury (PM) around the Sun in seconds are:
PT=3,16.10"s.

PM=7,60.10°s.
The number of turns that Mercury (m,) makes around the Sun (M,) in one century is, therefore:

3,16.107

N=100 -
7,60.10

=415,79 .

Theoretical angular moment of Mercury:

2
r :(rZ%] :GMOa(I—gZ):6,67.10’”1,98.10305,79.1010 (1—0,2062):7,32212937427.]030

GMom, ) _(GM,Y (667007 1.95.10"
m’l’ 8 (30100) (732,107

=2,65.107%.

e 2
o (GMym, (G, ) 66710 F198.00") 52510-2

mg L r (3210")

O=+1+A=+1+2,63.10" =1,000.000.013.23
Applying the numeric data with several decimal numbers to the rest of the equation 19.63 we have:

2 -8 2 -8
AQ +(Aﬂr) 526910 (1,000.000.013.23) L 26510741 325,10 =8.976.10°%

D’ &'D? (269.140.561.16500)°  (55.442.955.600,00)

Result that we can consider null.
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19.65

19.66

19.67

19.68
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We will obtain the relativistic angular moment of the rest of the equation 19.63 in this applying the variables
we have:

40" (v1) p (M) {H«j;@f}gzg 2 {Hﬁm (GI) e

52L2(GM0)Z{H(GCZEI—L‘;)Z}L"CZ{H(Gf—iz)z}c%@?(GMo)z=zero

gsz(GM,,)Z+82L2(GM0)2%+L4CZ+L4c2%—c252D2(GM0)2=zero

e’L(GM,) +&’ (Gjl{” f +L'¢+L(GM,) —c’’ D’ (GM ) =zero

ch4+(1+52XGM(,)2L2+52(Gi4—20)4—0252D2(GM0)2=zem 19.72
—(1+52XGM0)2i\/[(1+52XGM0)2]Z—4c2 82(GJL/120)4 —c’&’D*(GM,)’

L’ =

2¢?

L (&) oM, Y (1+e2 Y (GM, Y —452(GM, )’ +4¢*£2D*(GM, )

B 2¢?

LZ_—(I+52XGM0 P ali+267 +&' \GM, ) 467 (GM, )’ +4¢&*D* (GM, )

2¢?
LZ_—(]+52XGM0 V+(GM, ) +267(GM, ) +&' (GM, )’ —4&° (GM,, ' +4¢' e D (GM,
- 2¢’
r —(1+&7)aM, Y £y(GM, ) +5*(GM, )’ 257 (GM, )/ +4¢*s* D (GM,, )’

2¢?

5 5 2 4 4 2.2 2
Lzz_(1+g XGMa) +\/(1—8 Z(ZGMo) +éc's D' (GM,) =7,32212927328.10" 19.73
C

This last equation has the exclusive property of relating the speed c to the denominated relativistic angular
moment that is smaller than the theoretical angular moment 19.66.

The variation of the relativistic angular moment in relation to the theoretical angular moment is very small
and given by:

30 30
:7,32212927328.]0 -7,32212937427.10 138107 = 1 19.74

AL = .
7,32212937427.10 72.503.509,00

That demonstrates the accuracy of the principle of constancy of the speed of the light.
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In reality, the equation 19.06 provides a secular retrocession perihelion of Mercury, which is given by in
A¢=272'415,79(é—1j:27z415,79(—0,000. 000. 0]3.23):—3,46. 107 rad. 19.75

Converting for the second we have:

-5
Ag= 346.10 .]80,00.3.600,00:_7,]3,,. 19.76
T

This retrocession, is not expected in Newtonian theory is due to relativistic variation of mass and energy and
is shrouded in total observed precession of 5599. "
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§8§19 Advance of Mercury’s perihelion of 42.79”

If we write the equation for the gravitational relativity energy Er covering the terms for the kinetic energy, the
potential energy E, and the resting energy:

1 m c’
E,=mCc’| ——-1|+E_+mc’=——2—+E_. 19.77
u’ i u’ ‘
1-— 1-—
C C

Being the conservative the gravitational force its energy is constant. Assuming then that in 19.77 when the
radius tends to infinite, the speed and potential energy tends to zero, resulting then:

m.C 2
E, =—=——+E,=mc 19.78
u
1———
c2

Writing the equation to the Newton’s gravitation energy Ey having the correspondent Newton’s terms to the
19.77:

2

mou- k 2 2
B, = 5 -——+m.cc’=m. 19.79
r
2
m,u

-k
Where is the kinetic energy, — the potential energy and moc2 the resting energy or better saying
r

the inertial energy.

From this 19.79 we have:

mu® k , , mu’ k , 2k 26GM m, ,  2GM,
——+m.c =m.c = =—=u = = =>u = 19.80
2 r 2 r mr mpr r

Deriving 19.79 we have:

dE, d(mu’ k )
=— ——+m.c” |=zero
dt dt 2 r

m 2udu k dr
—+——=zero
2 dt r°dt

pdu_ -k dr_=GMs dr
2

dt mor2 dt r° dt

pdu_ =G dr

dt  r? dt

du —-GM,
u—-= >
dr r

19.81

88/203



Making the relativity energy 19.78 equal to the Newton’s energy 19.79 we have:

m c’ mu’ k 2
E, =E, > —F—=+E_= ——+m._C 19.82
ul 2 r
1-—
C
2 2 2
e +E_p _m,u® GMm, m.C 19.83
ol 1w omy, m.2 m.r m,
© 2
c
In that denominating the relativity potential (¢ ) as
E
p=—2 19.84
InO
We have:
2 2 GM
C =8 _T0,?
1 _ﬁ 2 r
o2
2 GM 2
p=Y— - T9°4 " _C 19.85
2 r 1 _i
o2
In this one replacing the approximation
l 2
A1+ 19.86
2 2c
u
1-—
C
We have:
2 GM 2
p=Y -0 c? —02(1 +u—2]
2 r 2c
That simplified results in the Newton’s potential:
2 2
GM —GM
p=" e por o2 Y o 19.87
2 r 2 r
Replacing 19.84 and the relativity potential 19.85 in the relativity energy 19.78:
2 2 2
m.c u GM C
E,=—F/——+m | —— ° 4ot ——— 19.88
u2 2 T u2
1-— 1-—
C C

We have the Newton’s energy 19.79:
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Deriving the relativity potential 19.85 we have the relativity gravitational acceleration modulus exactly as in
the Newton’s theory:

-d
a= ¢
dr
—dp -—d|u® GM ?
= (0:_ 2 ° 4cf -
dr dr| 2 r u’l
1-—%
c
—dfu* &M, ,)| d c’
a=—,/—— C —_ | -
dri 2 r dr u’
1-—%
c

Where we have:

—dfuv* eM, ,) —-d[E, — , -
—_— = +c” |=——| — |=zero. Because the term to be derived is the Newton’s energy divided

dr 2 r dr{m,
E e
by m, thatis —- = . —=< 4+ ¢ thatis constant, resulting then in:
m,6 2 r
d c’
a=——o/-—
dr uz
1-—%
c
u du
a=-- —

In this one applying 19.81 we have:

-1 GM,
a= - 19.89

2 r
2
u 2
C

The vector acceleration is given by 19.05:

2
2 24| .
5= ﬂ_r(d_ﬂ f+{2£d_¢+rd_¢}¢
dt? dt dt dt  dt?
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The relativity gravitational acceleration modulus 19.89 is equal to the component of the vector radius (1)
thus we have:

d’r  (dg¢) -1 GM,
a=|—-1—| |= - 19.90

dt’ dt N
-ty

Being null the transversal acceleration we have:

drd d’¢ |-
2—r—¢+r—f ¢ =zero 19.91
dt dt dt
d 2
2—rd—¢+rd ¢25 =zero
dt dt dt
. _— 2 d¢
That is equal to the derivative of the constant angular momentum L=r at 19.92
d. d d drd d’
—=—(r2—¢j:2r—r—¢+r2—f=zero 19.93
dt dt dt dt dt dt
Rewriting some equations already described we have:
wW=—
r
o —
dw=""dr=>dw=—-dr
r r
dw -—-1dr dr , dw dw -—1dr
—=—F—0o —=-r"—and —=——
d¢ r’d¢ dg d¢ dt r?dt
dr d¢dtdr L dr_—erdwjdr__ dw
dt dtdgdt r°d¢ r° d¢ dt d¢
d’r d(dr) d¢dt d dw) L d dw) -I'd’w
s=—|—|=———| L —~|=7—| " L—|=— > 19.94
dt dt\dt dt d¢ dt d¢ r° d¢ d¢ r° d¢

From 19.90 we have:
|3t dx (d¢jz —GM,
p— —r — =
2c” ) dt® dt r’
In this one we 19.94 the speed of 19.80 and the angular momentum we have:
[ 3 (2aM | -1 d*w (LY | oM
1- 2 2 2 Y2 =TT
| 2c r r* d¢ r r

3GMolj(d2w 1} GM,
1- +=|=

& rlag r) U
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(1 3GM, 1jdw (1 3Gm, 1)1 GM,
c? d¢’ ¢’ r)r I/

d’w 3GM d’w1l 1 3GM, 1 GM
—+—— — =zero

d¢2 ¢ d¢r r 1

dw _dwl 1 1
2—A 5 +——A—2—B=zero
dg d¢°r r r

d’w d’w 5
2—A 2w+w—Aw —B=zero
d¢ d¢
d’w d’w 3
—A w—Aw +w—B=zero

d¢>  d¢°
Where we have:

_36M, __GM

The solution to the differential equation 19.95 is:

=L[l—gcos(¢Q+¢o)]:> 4 =L[1—5COS(¢Q)]-

&D gD
Where we consider ¢ =zero
Then the radius is given by:

1 D &D
r=—=—————=—Sr=

w  1-gcos(dQ) 1—¢gcos(#0)

Where ¢ is the eccentricity and D the focus distance to the directory.

dw _ 0sen(gQ) and d’w _ Q”cos(#)
D dg® D

Deriving 19.97 we have

Applying the derivatives in 19.95 we have:

d?w d’w 2
— —A—w-Aw +w-B=zero
dg¢°  d¢
5 2
Q’cos(gQ) AQ Cos(m)i[l—gcoS(@)]—
D D gD

0° cos(¢Q) AQ° cos(¢0)
oo90) 20" ol ol
0’ cos(dQ) B AQ° cos(dQ) N AQ’° cos(¢0)
D eD? &b’
A

gcos(gQ)—

gD
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1
———¢&Cos

(o)+27 cosz(m)]{

—+ 2gcos(¢Q) ——¢€ cosz(¢Q)+———D€COS(¢Q)
&l

19.95

19.96

19.97

19.98

19.99

[l ecos(g)f +—D[1 gcos(@Q)]-B=zero

(¢Q)}—B=zero



cos(¢Q o’
D

(G
cos(m)(
6

AQ*cos’ ) Acos’(gQ) A
~1 |+ -
D’ e°’D* €D

Q2

- - + ——=zero

AD? Ae’D* AeD A

_1 +AQ cos’(dQ) Acos’(4Q) A 1
AD

Q2 1
8D 8D A

cos(go
D

Q° B
> > 2+ —— =7Zero
A D £D® AeD A

] Q cosz(¢Q) cos (¢Q)_ 1 1

A ¢ &b A

2 2 2 2 1 1 1 B
Cozz(m)(Qz—l)'i‘ COS'§¢Q)(Q_ Q J_ﬁ.pﬁ—gzzero 19.100

The coefficient of the squared co-cosine can be considered null because Q~1 and D? is a very large
number:

2
&2(@)(@2 ~1)=zero 19.101
D

Resulting from the equation 19.100:

2 2
2 1) 1 1 B
cos(go)(@” ", 2 1 P sero 19.102
D |A & & &) &D° AsD A

Due to the unicity of the equation 19.102 we must have the only solution that makes it null simultaneously
the parenthesis and the rest of the equation, that is, we must have a unique solution for both the following
equations:

o o 2 1 1 1 B
= = 4+% _“=zero and -——+——-—=zero 19.103
A & & A ¢D” AgDh A

These equations can be written as:

1 1 1(1 2

[a= b]j___:_(___j 19.104
A &D Q A &D
1 1 éDB

[a=C]:>———=— 19.105
A & A

1 1
In these ones the common term a = X——D must have a single solution then we have:
g

[b=c]= 1(3—3}@ 19.106
Q A &D A

With 19.96 and the theoretical momentum we have:

3GM GM £DGM
=—2° B=—2 L'=¢DGM, EDB=——2=1 19.107

c 1? L
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It is applied in 19.105 and 19.106 resulting in:

1 1
[a=c]m> - ===
A & A
1(1 2 1
(RSN T
0°\ A D A
From 19.108 we have the mistake made in 19.105:
1 1 1 1
———=———RZero
A & A D
1 -1

—-——= =-1,80.10"" =zero
&b 55.442.955.600,00

From 19.109 we have Q:

1 2A 2 3GM
é(l_ij:—:}sz ——:>Q2: _— e

A &b A gD eD ¢

It is applied in 19.104 resulting in 19.110:

1 1 1(1 2)_.1 1 1 (1 2) .1 1 1 1
= || ==~ | T |- ——=—">-—=~zero
A & 0°\A &) A &D (1_ 2a j A &) A & A &

&D

From 19.112 we have:

=11 30
o /1_6GM; _ | ele67.107 Ju,08.10”) 0,999.999.920.599
eDc (55.442.955.600,00)(3.10°)

That corresponds to the advance of Mercury’s perihelion in one century of:

ZA¢:A¢.415,79:[l—1J.1.296.000,00.415,79:42,79"
Q

Calculated in this way:
In one trigonometric turn we have 360x60x60=1.296.000,00"seconds.

The angle ¢ in seconds ran by the planet in one trigonometric turn is given by:

1.296.000,00
Q

$0=1.296.000,00= ¢ =

If 0>1,00 we have aregression. ¢ <1.296.000,00.

If 0<1,00 we have an advance. ¢ >1.296.000,00.
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The angular variation in seconds in one turn is given by:

_1.296.000,00
Q

Ag —1.296.000,00z[l—ljl.296.000,00.

Q
If Ap <zero we have a regression.
If Agp >zero we have an advance.

In one century we have 415,79 turns that supply a total angular variation of;:

ZA¢=A¢.415,79={——1].1.296.000,00.415,79=42,79”
Q

If ZA(I) <zero we have a regression.

If ZA(I) >zero we have an advance.

§20 Inertia

Imagine in an infinite universe totally empty, a point O' which is the beginning of the coordinates of
the observer O'. In the cases of the observer O’ being at rest or in uniform motion the law of inertia requires
that the spherical electromagnetic waves with speed c issued by a source located at point O' is always
observed by O', regardless of time, with spherical speed ¢ and therefore the uniform motion and rest are
indistinguishable from each other remain valid in both cases the law of inertia. To the observer O’ the
equations of electromagnetic theory describe the spread just like a spherical wave. The image of an object
located in O’ will always be centered on the object itself and a beam of light emitted from O' will always
remain straight and perpendicular to the spherical waves.

Imagine another point O what will be the beginning of the coordinates of the observer which has the
same properties as described for the inertial observer O'.

Obviously two imaginary points without any form of interaction between them remain individually and
together perfectly meeting the law of inertia even though there is a uniform motion between them only
detectable due to the presence of two observers who will be considered individually in rest, setting in motion
the other referential.

The intrinsic properties of these two observers are described by the equations of relativistic
transformations.

Note: the infinite universe is one in which any point can be considered the central point of this
universe.

(§ 20 electronic translation)
§20 Inertia (clarifications)

Imagine in a totally empty infinite universe a single point O. Due to the uniqueness properties of O a
radius of light emitted from O must propagate with velocity c. If this ray propagates in a straight line, then O
is defined as the origin of an inertial frame because it is either at rest or in a uniform rectilinear motion.
However, in the hypothesis of propagation of the light ray being a curve the movement of O must be
interpreted as the origin of an accelerated frame. Therefore the propagation of a ray of light is sufficient to
demonstrate whether O is the origin of an inertial frame or accelerated frame.

Now imagine if in the universe described above for the inertial reference frame O there is another
inertial frame O' that does not have any kind of physical interaction with O. In the absence of any interaction
between O and O' the uniqueness properties are inviolable for both points and rays of light emitted from O
and O' have the same velocity c. It is impossible for the velocity of light emitted from O to be different from
the velocity of light emitted from O' because each reference exists as if the other did not exist. Being O and
O' the origin of inertial frames the propagation of light rays occurs in a straight line with velocity ¢ and the
relations between times t and t' of each frame are given by table I.
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§21 Advance of Mercury’s perihelion of 42.79” calculated with the Undulating Relativity

Assuming ux=v

(2.3) U'x'= u>2<—v = VZ_V =>u'x'=zero
1+L_2VUX 1+L_2VV
2 2 2 2
c c c c
Ux=v ux'=zero

(1.17) dt'=dt, |1+ - 20Ux —dt1/1+ _vv :>dt'—dt1/1——

2
(1.22) dt = dt'\/1+v WU _ gp 1+ +m:dt de' 1+

C2 C C

2
dt'=dt,[1-% dt=dt' [1+%
c

c c
V‘
V=
e
1+7 ,/1——
c?
dt>dt' v<v' vdt=v'dt'
(1.33) ¥ —V' —V' —y=—V
33) v= = V=
2 2 ]
\/1+V'2+2VL§X' \/1+V'2+MZQ) 1+Y
c c c c c
(1.34) ¥'= — = — ==
2vux v 2vv v
1+5— \/1+ — \/1—
\/ o c? c?
g=— =V
v v?
1+7 1-7
c c
Forfo—p Pe—rf=—F | =[F1=r
dr=drr+rdr=—dr dr'=—drr—rdr=-dr
rdr=drrr+rrdr=dr rdf'=—drrr—rrdr=—dr
- N - 2 2
dt dt dt dt dt dt

o dE =M={£f+rd—¢g$j 2= ﬁ'ﬁ':(ﬂjz +(r d_¢)2

at'

96/203

21.01

21.02

21.03

21.04

21.05

21.06

21.07

21.08

21.09

21.10

21.11



= _dv _d°F dz(rr) d’r (d¢ drd¢ d’¢
Tar ag ad Litz r(dt”( (dtdt Fae j¢

a= 2= 2 2 -2 2 ¢
dt' dt’ dt' dt’ dt' dt'dt' dt’

o ¥
2
v
2
-, d=v) d( i dtd( V| jpyvid|_ @
dt'  dt V2 | dede 2 c’ dt 2
2 e 1z
— '2 2
o__dv'_ V2 1 g /l__zﬂ_ﬁ_ 1_v-
at' c (1 v) c” dt dt c
C2
dv’ 21 av 1, Y7 2(-2vd
_po_dv'_ [ v” |_vodv_s1 1_v_j ( _V)
at' ¢’ (l_v2) ¢’ dt 2 ¢’ ¢’ dt
CZ L
av’ v* 1 v dv 1 dv v
a= T AW 2
dt' c (1 vj c” dt _v* dtc
C’2 c2
= dv' _ vl / / dv v
—a‘——E— l+—2 > l—— l—— 2V 5
c (1_v)\/ \/ v dtc
C'2
= 2
g _adv'_ 1+V'2 % (1__jdv+vdv v
at' c 2\, dt dt ¢’
v
-2
—m 3= -ma' __—m  dv m, 3{(1 )dv dv V:|
2 2 dt' > dt dtc
% v 2
\/14‘2 \/l+2 (l_x/;jz
c c c
Fro_pmo_—md _ —m dv
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= ma= _moa'2 _ —mOZ dx_/:'=£‘_»’= 1, 3|:(1_ jdV dv V2j|
1] =2
\/1+V'2 \/1+V'2 dt (1_‘/72 dt dt c
c c e

B = [F'(-dr)=[F.ar=[=£rar
r

Ek:jf' .(—df'):j?.dfzj o d—‘?(—df')zj o z{(l Z2Jdv+vdvv}dr=.[%f.dr

dt dt ¢

f 2 dt!
v
1+
(e}

Ek:J. T gipdf = i 3( 1- V—2 dv£+vdv£1 I—rdr
2 dt AU &2 ae dt ¢
c 2
i P | 2 —
Ek:J'modvv = L 1-2 dov+vdvYY —I—kfdr
?L c ¢ r

Ek:I%V'dZ':I T l_(l——zjvdvﬂ—vdv—} j—dr
\/ v' 2 2'_ c
2 (1 02)
B, J-mvdv J'mon 3(1__2+ j .[ kdr
\/1+ Sy e
= (2
E :Jmov'dv'zj myvdv

2 3
1+75 v )2
CZ 1_7
c
/ ———+constant

r

2 ER
\/1+V ( VZJZ
CZ 1—7
C

12 m C2
E,=mc? /1+V—2—£=constant ER:O——ﬁzconstant
c® r Vv T
2
2 2 2
mc 4 mc
E=—= —k:moc2+ bV _k E,=—— —£=moc2
2 O
C‘2 c2
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1 _ B k1 i B A
\/1_ Lj mc® mc’r mc? mc’
c
1 1 °
=H+AL 1 3:(H+Al)
c 2
f:fxﬁ:rrx(drr+rd—¢¢3j—r2d—¢(Axé):rzd_%g
dt dt dt
L=FxT=Fx—Lo=rfx—=L |:—(drf+rd—¢¢;):l 1,298
1+Y 1+vol \dt o dt 14v° dt
2 2 2
c c c
Ji:rzd—¢]§ = Lk = constant L:r2d_¢
dt dt
dE, = myv'dv' _ Inovdv3 =_—]2<dr:%f.df
v* 2\, T r
7 [V ]
c 2
By o AV _—Kpdr_—Kpg
dt N, dt P dt
c
= ma -k
F= 2 T=—7L
v
e
2 2 2\
F= m, 3 d‘g_r(d_¢j P+ 2£d_¢+r_d¢; ¢ =__]2<f
2 Lt \at dtdt dt r
[-2)
2 ~
7 =T 3(2drd¢+rd¢;¢=zero
b pldtdt at
[-2)
2
Fo M d_zr_r(d_¢j ks
= 3 2 2
)2 dt dt r
e
d_L dr__pdw d’r _~I dw d% _
dt r? dt d¢ dt?  r? d¢? dt?
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. 2 . _
R J I;dw_r(%j }:_fgr 21.33
2 d¢# \r r
1 v

2 GM,
%{d—%%: o 21.34
( 2)2 d¢ r) L
1-V_
2
c
3( 2
GM
(HJFAlj d_vg 1) o 21.35
r)\d¢" r) L
2
(HHAA)d_vg 1)_6%
rA\d¢” r L
HMH{ +3Adpgl+3A—2:Gl\§o
d r d¢” r r* L
2
HdW+Hw+3Ad—w+3A Gl\go:zero
L
GM
g=—tr a=—k M _GM, B="2 2136
mc mc mc c L
d’w d’w
79V 4 w4349 134w —B=zero 21.37
dg’ dg’
_ (¢0) 2 P
=L=1[11ccos(po) dw _~0senigo dw_ 0"cosl¢o) 21.38
r &D d¢ D d¢ D
2 2 2
H_QCTOS(M-FHLD[:H-ECOS(¢Q)]+3A_QCTOS(¢Q)LD[1+€COS(¢Q)]+3A{LD[1+8COS(¢Q)]} —-B=zero 21.39
& & &,

—QzHﬁ(ﬁ—Q}+HL+HLgcos(m)—ﬂﬁ@)[l+6cos(¢Q)]+3—‘2[l+2£cos(¢Q)+gzcosz(¢Q)]—B =zero
€

D &D &D &D D

_Q2HCOS!¢Q!+HL+HCOS(¢Q)_3Q2A cos(¢0) 30°A cos(¢Q)gCOS(¢Q)+
D D D eD D eD D
34, 3A ;;gz “cos’(¢0)-B=zero

&°D?

+
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—Q2H CO§§¢Q2+HL+H COS(¢Q)_ 3Q2A COS(¢Q)_3Q2A C0522§¢Q)+
D D D

D gD gD
2
+ 32A2+6A Cos(¢Q)+3ACOS2(¢Q)—B:zero
gD &D D D

ygcoslé0) ,  coslo) 3p°acoslgo)  eacoslo)
D

D &D D &D D
2 2
—30°AS0S 2(¢Q)+3ACOS §¢Q)+Hi+%—3=zero
eD &°D
2 2
(—Q2H+H—3Q A+6_A\COS(¢Q)+(_3Q2A+3A)m82¢_Q)+HL+%_B:Zero
eD &D) D D gD €D

2 2
(—3Q2A+3AM—}COS 90 +(—Q2H+H——3QA+6—A\COS(¢Q)+H L 32 __B_sero
34D eD &D) 3AD 34eD 3AgD* 3A

(1_Q2)Cos2(¢Q)+(—Q2H +£_Q_2+L\cos(¢Q)+ H .1 B

——=Z€ero
D2 34 34 & &) D 34¢D  £2D7 3A
2
O’ ~1 (l—Qz)msf—szzero
D
2 2
(—Q_H+£_Q_+L\cos(¢9)+ H . 1 B __ ...
34 34 & &) D 3AeD &D’ 3A
J—WQ =Zero— H + 212 B:ZGIO
D 3AeD &°D° 3A
2 2
D 3A 34 ¢&D &D
2 2
QH+i Q +L:ZGI’O H +—1 —ﬁzzero
34 34 gD &D 34eD &°D° 3A
[a:b]:£+L:L(i+Lj la=c]m 2+ L _£DB
34 &D Q°\3A &D 34 e&D 34
2
&DGM_ €DGM
0?=1 H= ERzz—moczzl gDB=""——2= °o=1
mc mc L .s‘DGMO
- b]:£+L:l(i+Lj:Lzzero S S RN NS
34 &D 1\3A ¢&D gD 34 &D 3A &D

lp=cl=>L{ -2 )20
Q"\34 &D 3A

&DGM_ &DGM
— o _— o _—

2

= =1
L' &DGM,

eDB
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[b:c]ji(iJrLj:L
O°\34 &D) 3A

2=+ 04

&gD

Q=Q(H) The regression is a function of positive energy that governs the movement.

He Ey _mc _1
2 2
mc® mc

1,1 1 1,2 1
3A &D

gD

&eD

0? :1+6—‘2 Regression
&

[a=p]=> 2+t~ [ L2 =L zero
-

34 &D (l+6A

GM
H= ER2 A=—20
mc c?

—Q°HeD+HeD—Q?3A+6A=zero
—~QX~3A+&D)-3A+£D—0*3A+6A=zer0

0%3A—-0°%D+&D—Q3A+3A=zero

—Q’¢D+¢&D+3A=zero

3A52D2(L+L_£jzzem
34D &°D? 3A

— GMO

L2

B

HeD+3A-¢eD(eDB)=zero

HeD=-3A+¢&D

3A
gD

0*=1+

This regression is not governed by the positive energy
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VE—— 21.06
V‘2
1+
2
C
g=dv_d|_ -v' | _dt'd ( v _|_ v d| -¢ 21.50
dt dt 2 | dtdt 2 2 de 2 '
\/1 V2 L\/l V2 ) 1—"Vz
C C C

na 2 i 12 hyd | 12
3-dv_ 1_V_2—_12 1+v_2d_V_§.i 14Y"
dt c (HV'j ¢ dt - dt

1.2_-1

v - 2 2\2 2 2
a=Y= 1V 1+_'d_v_‘7'l(l+_'2j (2V dv)
dt c (1+v') c” dt' 2 c c” dt

— 2 g 2 | s
z3=dv_ jj_v -1 1 2\/1+V_dV\/1+V__ 1 adv'v
Vl

2 2 2 ' 2 2 v 2
dt c (1+vz) \/1+2 c” dt c \/1+V'2 dt'c
c c c

Eo MA _ om dv_ -m f(l +V’2)dx7’_v.dv’ 7
\/1_v2 \/1 v dt ( v,zsz dat 4t
7 17z 1+%
C C C2
F=mi=—222 = T ‘;V 2151
C C
— 2 —. —.
o — (HV_'Zjﬂ_vvﬂ%' 21.52
> c”)dat dt'c

I a = - 12 2l L |
Fopzo_ M4 _ M dv _ zr_ m, {(l+v_2)dv_v,dv%} 2153
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Bo=[Far=[F (-ar)=["Fi(-ar)

£y = [ Far=[F (-a7)-| \/mo Y g [ I_[l+‘;—'22]d—‘?—v'ﬂi}(—df')=J.;—];f(—df') 2155

2 dt 20l dr  de'
l_? [Hvzj
C
’2 \)
ardf={—Tb (1+V—2jd”'dr viay 4LV jk o
0T E ) ae dt'c

m
E =|—2 —
K ‘[ /1_7 dt -
C'2 (l"'czj

v
+7
e
2 -
Ek:J. mvdv :J. dle 3((1+V—2jdvv—vdv 2}:_[—]2<dr
\/ _ﬁ e EL c c r
c2 1+?
movdv myv'dv' V
E, J'\/ el o J'—dr
- V' 2
2 1+
B, J'mvdv deVQ—J.—dr dE, = movdvz myv'dv' —_—];dr

N

2 §
\/1 v \/l_v 2 T
C’2 l+? C2 l+?

/ —m.c?
. =—m.C? 1—— \/———+constant

2 -mc?
E,=—-mc? 1-¥ K _constant ER:—O—Ezconstant
c? r v2 r
1+
C
—mc? k mv* k —mc k
Ep=—t——S=—pf+o % E,= —f=—mc’
vor 2 r Q 00
1+ 1+
c
— E
L e, k1
v mc® mc’r
\/“ 7
_E _ k _GMm _GM
H=—"75 A=—to=—0p=—"20
mc mc®  mc c
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1+7% (1+
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L'=F' xV'=—rix ‘72 =rr 1 Kﬂf-pr_(bi)):l: 1 . 2d¢(fx¢)
v L_vil\dt Tt 2 dt
2 2 2
C C C
f':rzd—(']s];:L']:: L':rzd—¢
dt' a0
2 S r r
\/ - (1)
C C’2
dEk:HV“V_ mo 3V'dv :%Adr':%fﬁ'
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R
S
C’2
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oy | Lae? at “arar ae r2
1+
( cz)
=" (2dr dg d¢ p=zero
¢ 2 2 arar " ae?
(1+ CZ)
2
S P
r 3 12 Y 2
ol dt? \de r
V
g
1 |7d2r d¢ ‘| -6M
3 > > L
Jepldt” \ar r
1 v
( cz)
d¢ _1 dr__;dw d’r _—1° d’w d’¢ _ 217 dw
dt' r’ dt' d¢ de?  r? d¢’ de”  r’ de
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dW+H +3Ad”gl+3A - —_Glgo

d¢” r d¢” r r I

H

Hd L 0 =zero
d¢’
E GM
H= R2 A= 20
mc c
dw d*w
H=—"+Hw +3A w+3Aw +B=zero
d¢ dd’

dw _—0senl¢Q)

=11 cos
W= 8D[1+e (9o)] o -

2
HJ_)_Q%; ¢0 +H$[1+gcos(¢Q)]+3AJ—)_Q2C; 90 é[lhscos(¢Q)]+3A{$[1+£cos(¢Q)]} +B=zero

2
RIS (o) BT R N S o R<LoC.122) | SN N
D &D €D &D D £°D?
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e

d’w _—0’cos(¢0)

d¢” D

D gD gD D gD
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D D’

gD &ED
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€D gD D D?
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D D &D D &D D
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&

&b eb) D D D

2
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eD 8D &D) 3AD 3AgD 34£°D° 34

(1_Q2)COSZ(¢Q) ( QH H O 2\cos(¢Q H ., 1 . B

> —— =zero
D 3A 3A 8D &D ) D 3A8D D" 3A
2
O’ ~1 (l—Qz)msf—szzero
D
2 2
(ﬂ+£_Q \COS@Q) +— +izzero
34 3A eD eD) D 3AgD &D° 3A
ﬂ@:zeroji+%+£:zero
D 3AgD &°D° 3A
2 2
coslgo szerom>—9H H O, 2 _ ...
D 3A 3A &D ¢&D
_QH A Q —~=zero H +%+£=zero
3A 3A SD gD 3A¢D &D° 3A
- b]:£+L:L(£+Lj a=c]ms H 4 L __eDB
34 ¢ ¢ gD 34 &D 3A
2
E .
QZ =1 H= R2 — ‘moi =1 cDB= 8DGM 8DGM -1
mc®  mgc I?  &DGM,
[=b]:£+L=;(i+z):L=zm S UG S W W
34 D 1\3A ¢&D gD 34 &D 34 &D
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Q 3A ED 3A &eD

Q=Q(H) The advance is a function of negative energy that governs the movement

B _ 2
H=—% :m_o(gz_l = )— :>Q2 _b4 agvance
mc® mc eD
[a:b]:—_1+L:;(—1+ 2 ):L—Zem
34 D (1_6Aj 3 ¢D)  &D
&D
E GM GM
H=—E A=""¢ B=—"2
mc C L
2 2
QH H Q —=Zero H + 1 +£=Z€ro
3A 3A gD &b 34D &°D° 3A
2 2
3A8D( OH H_0Q j—zero 3A82D2(L+L+£j:zero
3A 3A 8D eD 3AeD &°D° 3A

—Q’HeD+HeD—Q?3A+6A=zero HeD+3A+¢D(eDB)=zero

DGM, _€DGM,
epp= PG, _ DGM, _ HeD=—3A—¢D

¥ 8DGM

—~0X~3A-¢£D)-3A—£D—0?3A+6A=zero
0?3A+0%D—eD—Q?3A+3A=zero

Q’¢D—¢D+3A=zero Q2:1—3—A
&D

This advance is not governed by negative energy

—0°HeD+HeD—Q?3A+6A=zero
—QX~3A-¢D)+HeD—0*3A+6A=zero

0?3A+0°cD+HeD—Q?3A+6A=zero

Q%D+ HeD+6A=zero Q2:—H—6—A
&D
2 2
(QH Er— 2NCOS(¢Q) 2, L +B =zero
34 3a D ep) D 3meD £ 3a
2 2NCOS(¢Q) H 1 ., B
3A$2D2( QH H_O + +=|=zero
3A 3A 8D &b ) D 34D &°D° 3A

+

2 2 212 212 212
ED(—Q H3AeD  H3AeD _(O%3AeD  2.3AsD \cos¢Q) , H3A?D?  3A¢’D?  B3A£™D

3 3 &D & ) D 346D &7
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eD(~0?HeD+HeD—0%3A+ 6A)ﬁ¢—® +HeD+3A+¢&D(¢DB)=zero
D
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eD D eD
2
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2
(—6A+18A +3AJCOS(¢Q)+3—A:zero
eD D eD
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2
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3A &D D &D

L 1
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gD D gD
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Energy Newtonian (Ey)

ST =zero

dt r° m,r m,
d¢_ L dr__;dw d&r_-L dw d¢_20 dw
dt r? dt d¢ dt?  r? d¢? dt? r* d¢

== PR =zero
d¢) r° myr m,
’ 2
d¢ r* mI°'r mL
’ 2
d¢ r* mIL'r mL
? E
dw | 42— 2k2 T-=zero
d¢ mIL° mL
2F
= 2k2 _ N2
m L m L
2
dw +W’—XWw—y=zero
d¢
_ 2 _02
w=L—Lfi+scos(po) dw _ —0sen(¢Q) d’w _ —0*cos(¢Q)
r &D d¢ D d¢? D
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D
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D?  &°D?  &D
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o
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§22 Spatial deformation

t=—Lt— t>t
1-V_
C2
t=ti+t,=—L—+-L =20 1 p=2L
c—-v cH+v c(l_vz) c
2
C
2L'
2
t=2L_ 1 ¢ —r-ph-¥ > L
C

c v 2
1_v _v
( Czj \/l c?

This is the spatial deformation.

The length L' at rest in the reference frame of the observer O' is greater than the length L that is moving with
velocity relative v on reference frame the observer O.

Now compute to the observer O' the distance d'=vt' between O <> O':

d=vt'=v<l
c

Thus we obtain the velocity v: d'=v o

Now compute to the observer O the distance d =vt between O <> (O':

d=vt :V(tl-i-tz)zv%ﬁ

2
Thus we obtain the velocity v: d = Vi% —>v= ﬂ(l—%j .
2

The speed v is the same to both observers so we have:

_cd' _cd 2
v=C —C—(l—v—zj

21" 2L o}
Where applying the relation L:L'1/1—§ we obtain:
od - _—cd [1—V—§j:>d'=d 1- d>d'
2L'\/1—V2 < <
c

Where the distance d and d’ varies inversely with the distances L and L’
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In general, we obtain (14.2, 14.4):

d(l _ VUZXJ
d=— € 2/ or

2
1_L
c2
o120
ux'=zero d= c
|
c
d'(l—kvgj
ux'=c dz—2
l-z
d'[l+v_2v
ux'=—v d= c2
1=z
4:-¥]
2
UxX=v d'= <
v
c
d(l—vgj
ux=c d'= >
-z
-]
Ux =zero d'= c
s
c

d'(l-i— vu'x'
d= ¢
2
1-V_
2
d=—<
2
1-V_
c2
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§23 Space and Time Bend

Variables with line t',v',x',y',r' etc...They are used in §21.

Geometry of space and time in the plan xy — v 1 x .

y=£(x)

x=ct' Y:J.ds'zj.w
Ids’zf(ct’)

dx=cdt' dy=ds'=+/dr" .dZ"
fzxi+y§zct’i+!ds’3 F=x'i+y'J
df=dxi+dyj=cdt'i+ds'] df'=dx'i+dy"'j

dr=L-dL :édx+zdy

r r r
_dr _dx: idyj_cdt’ + 485 i s dr'_dx'z dy;
4t dt dt'’? df T dr de de . at
ax _ . Q=E=V' c=vcosQ v'=vsen@
dt' dt' dt
dy ds' ,
tgp=F_dt'_de'_1ds dy_dfdv)_1 d(lds) 1d°s
dx dx ¢ cdt dx? dx\dx cdt’\cdt’ c? dt'?
dat'
v=C+7" G=ci T'=v"]
5=dV _ dc | dv’ d—ézzero d—ﬁzd—‘?%ézé’
de' dt' dt' de' de' dt'

ds’ =dr.dr=(dxi+dyj)\dxi+dy)=(cdt'i+ds F\cdt'i+ds' j)=dx’ +dy’ =c*dt’ +ds"

ds=+/c’dt'*+ds" ds'=+ds’—c’dt"”
2
_ds _ | ds' 2 12 y_ds'
coH| == | =" +V'">cC v'= =\vi-c?
S dt' (dt’) dt' [dt')
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K=/22 =L theoretical curve
ds
dzy
d 2
tg(pzi—y (pzarctgj—y d_(;z: dx - =
X x l+(dy) 14
dx
1d’s'
c’ dt"”
2
dp 4.1 (ds’) 1d’s
K:@: dX = c2 dt' = c2 dt,z
ds @ 1(ds 2 2 %
dx 1+ 5 p l_+_l(ds')
c\dt 2\ dt!
1ds'd’s’ 1 5dv
ds'y _ds'dP_ 9P cfdt'de? _ cf dtf
dt’ dt'ds ds 2T 2\o
' v
1+L dsj (1"‘ 2)
C2 dt! C
L‘?dﬁ'
. 0N 2 [ . prs 2 ]
FR=md@_c’ dt’ g=3¢__c'dt

ds 2 \a
+%)
c

mvdv mv'dv' -
dE, =—= = = ]gdr:%rdr'
_v o2\ T r

o2 1+ o7
2 —
C *,dV’
m=-v
dEk :f' T — OC2 dt' — k "df': k 2‘77
dt’ 3 2o dt r?
v'% )2 r r
1+ o2
dE, - do "
K=F'"V'=m sz,_(P:% v
dt' ds r
2dP ko e N
Y e - .2 K= - 2 _2
S r ds mc'r
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§24 Variational Principle

m_c
E =—= 2:k+constant 21.21
v2 T
s
m,v? , [ vz me?
E, ~—+m_,c == o =24tconstant
V2 ¢ [
c? c?
2
m.,v 2 m,v
o —mc? |1 V2+k =m,c? p=4 —mc2 1 L o
v2 cc T dv c v2
1- -V
c? o2
2
L=-m,c? ,fl—V—2+k Lagrangeana.
c: r
m,v? ) . - ,
> —L=m_c* What is the initial energy of the particle of mass mo.
v
s
—L=m, 2 —opvem c2=—m ¢ [1-¥> 4k
pv—L=m_c L=pv-mc“=-m.”, [l 2+r
c
Variational Principle
t2
A(;ﬁo:S:IL[x(t),X(t),t]dt x=9X_yx This is the velocity component in x axis.

dt

t

t2
SS:SJ-L(X,X,t)dt:zero Variation of the action along the X axis.

t1
Building the variable X'=X+81‘| in the range t;<t<t, we have seen this when €—>Zzero=>X'=x and
where g#zero we will have the conditions:

de dn ._dn
P n=n(t) n(t )=zero n(t, )=zero ;=70 U
X'=x+€n X'=X+€M —%’g = _d:d: =1 _(diz =zero —dld; =zero

tZ tZ
Then we have a new function 1(8):IG(X+8n,X+8ﬁ,t)dt:IF(X',X',t)dt and where:

4 4

t, t,
Szzero—>x'=x—)X'z)'(—)F:L:>JF(X',X',t)dt=IL(X,X,t)dt

t t

tZ t2
8¢zer0—>x'¢x—>X'¢X—>F¢L:>JF(X',X',t)dt¢jL(x,X,t)dt
t1 tl
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So we have I J F [X dt that provides derived:

81(8)_t25F(X X't dx FOF(x' X't dx
& —I P d I dt I ndt+j mndt=zero

4

d(oF \_d(eF)  oFdn_, oF . _d(@F ) d(@Fj
dt(&x‘nj dt(&x‘)n+8x'dt o dilox ™) arl ox !

8F' dt n ndt ndt+ d 8F'n d 8F' dt=zero
8x dt oX dt\ ox

j OF dt+jd( &,nj j dt( )ndt Zer0

t,
oF oF " _oF oF
Jd[axvnj axvn f _axvn( ) Gx'n

I dt( ) J.[aF. (i(g;ﬂndtzzero

1

(t,)=zero

83(8) J[gf' i(gf,ﬂndt zero:nizero—)?}lz (cllt(g;j:zero

1

ge=zero—>x'=x—x'=x—>F= L:>aL d(@L) Zero

ox dt\ox
OL_d[{JL - i
& dt( )Th|$|stheXaX|scomponent L——m002 1_C_2+?
0

o2 [1viok|_d| o 2 [|_v2 Lk
m,C lc2+rJ dt{@x( m,c 102+rH

ox dt dt

2
%):i{i_(—mocz 1-Y H This is the X axis component

2 3

O KV O (1 g ) O - L X X
axr)kax(r)k(l)r a_lx

r
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2

=\ X2 +y?+z2

r’=x2+y?+z?



c c
2
8 2 sz_ n’loV _1( 2 12 2 il_ mOV X _ n’loX
—| —m_,c”[1- = x+y+z)2 2x |=
GX( 0 c2 l—ﬁ- 2 \/X2+y2+22 ) v2
c? c? c?

i moX — mo X ( \Y4 dV _ 1’1’1 lrdt Ci2 Ci2 I X ( \Y4 dV)
dt| [ 2 (1_V2j V / kc2 dt ~ 2){ v v2\c? dt
2

, dk [y [v?
d| mX | m, | dtV 2V 2, % (Vdv): m, f(l vﬂdxwdvx}
R ) I g [ PR L

c2 c2 2 2 -
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21.21

m, | 2 dvx:? ( ) dvy: ( j dv x| _—k=
-V |Ki+ i+ 1 + + 1 kvAY X | ==Xp
2 ;L( cz)x Vdte? 9 Va2 S e T e
=
c2
m, v2 cooa AN —ka
3{(1 2 j(x1+yj+zk)+ v dV(x1++yJ+zk)}=r—%<r
22
=
c2
~ w2 wes der o ) dy - L AL
=Xi+yj+zk="-\xi+yj+zk |=== =
a=X1+yj+z dt(x1 y]+z )7dt V=Xi++yj+zk
T m, [ dv, dvv |_—ka
F= 1 +va— |=— T =21.
: SL( jdt Vite? } 2 21.16
(-2)
c2
= om, [ &, v |_—k;
F= = | - == =21.
3L( jdt dt&} o 21.19
)
c2
§24 Variational Principle Continuation
2 V'2 moc2 k
Ey=m,c,[1+-5 = ==+ constante
c /1_V2 r
o2
12 2 2 2
E, =m,c’, |1+ = MoV | me? [1-¥ =€ K, constante
c / 2 c 2 r
1-V -V
2
c c
k 2 [ v? ko mgV’ > v _k_ me¢® k_k_k
Ex—==m " [l+-—F-== +myc,[1-—5 —== —===-—>+constante
r c r l—ﬁ c r l—ﬁ r r r
2
c C
k 2 vk mgV’ N
Ey —==my " |l+—5-== —| —myc” [1-->+= |=m,c” =constante
r C r v co T
1=V
C
2 v'? 2 v2 k m,v*
T'=myc”, 1+~ T=-myc", [l--+ E,=—> pv=—""=
c C r 2
1=
o2
l'IlOV ' mOV' (] [ V'2 ' V2
pv= 2V—V = vp. p=p 1+—2 p'=p 1__2
v v c c
IEAT
C c
Eg =E +E,=T+E,=pv—(T-E,)
Ek:T‘ Ek:pV—T T'=pV—T T:p'V'—T'
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L'=T+E, L=T-E

Eg =B +E, =L'=pv-L

L'=pv-L L=p'v'-L' L+L'=pv=p'V'
p’zﬂzi m002 1+ﬁ — MoV =mgyv p:d—T:i —moc2 1—V—2 = oV =myV'
dv'  dv' 2 2 dv dv c? V2
1+ 1=
2 2
dr'=dx'i+dy' j+dzk=—dxi—dyj—dzk=—dr 21.08
oodf'_dxs dys dzp 1 (dx fle_-l di_ ¥
J+ 1T JT
at~de' e T ae [\ k dt dt / dt | Vz
1 ' dX -1 dX —Vx
X=Vy= "
dt /1_7 dt /1_7 /
p'x = ar_.d mec? 1+ﬁ _ _moX’ =—-myX px:d—T:i. —mye? 1—ﬁ __MoX =-myX'
dx'  dx' c2 2 dx  dx 2 V2
1+ -5
C C
f‘:x'i+y'3'+z‘f<:—xi—yj—zf<:—f 21.07
X'=—x y'=-y z'=—z
x'__ o', or__
ox oy 0z
o8 ger
ox dt\ox
oL d(@_L)z(?x'aL dt'd(@_sz o OL_oT _ __
ox dt\ox ) oxox' dtdt\ax) o0 L=pv-L g ok DT
ox'0L_dt'd(dL 0 ' 1 d o1
e L R —— [ fred
Ox Ox' dtdt[&‘x) VL) o el M J=zero
1+
c
0 Ny Mo dx'_ 0P ov' L', Mo dx'_
_ Y L } =— + =
PV dt o Pox ox | [ yndt o0
1+ 1+
c c
%=Zero %zzero L'=m,c? 1+‘é—'22—%
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§25 Logarithmic spiral

H‘jlW+HW+3A‘(1iWw+3AW —B=zero

1_ 1 dw _ —Qsen(¢Q)
w===——|l+¢&cos =

LL 1 scos(4Q)] Fra——
W = l = 1 = eiad) d_W — _ae_a¢

r ™ dé
Ha’e ™ +He *+3Aa%e e +3A(e_a¢ )2 —B=zero

Ha’e **+He “*+3Aa’e > +3Ae ***~B=zero
(1+a?)He ™ +(1+a® BAe 2 —B=zero

(1+a® BAe 2 +(1+a” JHe *~B=zero

(1+a® BAW? +(1+a” )Hw—B=zero

B
1+a

3AW? + Hw — = 7ero

2

B

wW=¢C
23A

—

6A 6A

2
} +H{iiL H?

—Hi\/H2+4.3A
—ab 1 il+a2i _-H, 1

6A O6A

—Med _—ks;
12 r2
1+Y-
c
r=e"

rk(x i+y J+Z'k)* =k

T

=kp
2

=21.19

d’w_ —Q’cos(¢Q)

d¢?

d’w

d¢?

/H 12AB
i1+a D

B

= 326

122/203

25 -

(1+a

’)

D

_a¢

= Z€1o

21.37

21.38



2
3A[ H j 2+ 12AB | +12AB | |_
{ 6A 6A oA\ (1+a’) (1+a?)
-H, 12AB B _,ero
6A 6A Ti+a?) (i+a?)
3A( H) 2(_HJL H2 1288 1 (g2 1248 ]
6A 6AJoA\" (1+a’) 36A2L  (1+a’)
-H, 12AB — yero
6A 6A Ti+a?) 1+a
H> , -H [;2, 12AB , 1 (2, 12AB
3A + H"+ + H”+ —
{36A2 18A%Y  (1+a%) 36A%( il+a2iﬂ

H [2,12AB B
6A ~ 6A (1+a2) (1+a?)

M’ _-H [z, 12AB , 1 (42, 12AB
A 6AY +(1+a2)+12Ak Ti+a’ ))
-H’, H [[p2,12AB__ B _

6A i6A\/H (1+a%) (1+a2)

H® , 1 (Hz+12ABj_H_2_ B
124 12A0  (1+a?)) 6A (1+a’

=Z€1ro

=Z€10

H*> H>, B _H’ B
12A 12A (1+a’) 6A (1+a?)

=ZC10

§25 Logarithmic Spiral (Continuation)
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§25 Logarithmic Spiral continued
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w=- :loo :$[l +ecos(9Q)]=zero=gecos($Q)=—1 ((:1124)\72&/ _—Q CI())S(d)Q) _=Q S:I(;S(d)Q) 2%

2 2
H3—‘(11¢‘§ +H3w+3AH2‘3iTV2VW+3AH2w2 +B=zero

W =Z€ro _sz:_ =
d¢~ €D m,c2 m,c?
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- 1)( )+( o (zer0)+3A(—1)( j(zer0)+3A( 1) (zero)’ + B=zero

2
—(Q—j +B=zero 8DQ ——+eDB=zero
eD eD
~Q’+1=zero Q’=1

This result shows that in infinity the influence of the central mass is zero M =zero .

The second hypothesis to obtain another particular solution of the differential equation is obtained by
observing that the angle (d)Q) of the equation £cos(¢Q)=—1 indicates the direction of the infinite radius

r=o where the influence of the central mass is zero M =zero and Q2=1 therefore the direction of the

center of mass is given by the angle ((I)Q+Tc) that replaced in the equation scos(d)Q):—l results in the

new equation acos(¢Q+n):—l that indicates direction opposite the direction of the infinite radius which is
the direction of the center of mass.

gcos(pQ+m)=—1 cos(dQ+m)=—cos(¢Q) g[—cos(9Q)]=-1 gcos(¢pQ)=1

2 Y Y 0?2
r €D eD eD d¢ D eD eD
2
W:L dz—\y:i H: ER :_mOC2 :—1
eD d¢~ €D my,c2  mgyc2

2 2
H3—‘é W +H w+3AH? iT"ZVwHAszz +B=zero

(- 1)( )+( 1)[ )+3A( 1)( D2)[8%)+3A(—1)2(8%)2+B:zer0
L HE R B rmeser

2
QL _2 3AQ 2 +3A 4 5 +B=zero
eD €D eDeD &’D?

Q' 2 6AQ" 12A

5_5_—8 o T +B=zero
eDQ’ 2eD 8D?A2Q L £DI2A ng 2 A ¢ cDB=zero DB ?,DGi\/I0 _gDGM, _
eD €D eD e’D’ L' eDGM |

Q2—2—6AQ l2A+1 Zero

eD €D
2
Q2 -1 ——6A§ +12A 2§ =Zero
€ €
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1_12A

2 6AQ° . 12A 2" &D

_ —1-12A =
C"p ~ep Q=1"6A
eD

Applying the results of the second hypothesis in the differential equation:

2 2
H3—‘3¢‘;" +H3w+3AH2‘21—V2VW+3AH2W2 +B=zero

[1+gcos(¢Q)] d_W:_QLn(d)Q) de__Q2 COS((I)Q)

r eD do D d¢’ D

21.38

H3{_Q2005(¢Q)}+H3 L [1+8cos(¢Q)]+3AH> {—Q Cos(d’Q)} [1+&cos(¢Q)]+
D eD eD
+3AH? %[Hscos(d)Q)]} +B=zero

CHPQReos0Q) 3 L3 L peog(90)+ 3AH2 {M} +3AH2{QLS(¢Q)} gcos(9Q)+
D gD gD D eD

eD D

+ 3AH2{ 2]1)2 [1 +2¢ecos(¢pQ)+ €2 cos? ((I)Q)]} +B=zero
g

_HQ? cos(¢Q) LH s cos(¢Q) 3AH’Q’ COS(<I>Q)_3 AH2Q? cos’(¢Q) N
D eD D eD D D?

3AH [1+28C05(¢Q)+8 cosZ(¢Q)]+B Z€ero

132 S0s8Q) , HY 3 c0s(9Q) 3AH’Q” cos(9Q) 3, py2y2€05°(4Q)
D &D D eD D D’

3AH 3AH 3AH 2
2gcos + & cos +B=zero
i T (9Q) T (9Q)

o) I g5 eos8) INIQ c0slb0) g age 0880,
D SD D eD D?

L 3AH? , 6AH? c0s(¢Q) , 5, 112 c0s”($Q) cos2(¢Q)
D’ D D

~HQ’cos(¢Q), H? . H® cos(¢Q) 3AH’Q’cos(¢Q) 3AH’Q’ cos’(¢Q)
3AH D 3AH%D 3AH’ D 3AH%D D 3AH> D’

3AH? , 6AH? cos(dQ) 3AH?cos’(4Q), B
3AH2?D? 3AH%D D 3AH? D*  3AH

+B=zero

=ZCro

“HQ? cos(9Q), 1, 1 cos4Q)_Q cos4Q) 2 cos'(4Q),

3A D 3A¢D 3A D eD D D?
2
N 21 - 2 cos(¢Q) cos (2¢Q) B = zer0
e2D? D D D 3AH
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cos’(¢Q) _Q? cos’(¢Q) HQ’ COS(¢Q) H cos(9Q) Q° cOS(<1>Q)
D? D2 3A° D 3A D eD D

L2cs9Q . H . 1 . B
"D D 3A8D ?D? 3AH?

=Z€ro

=ZCro

(1-Q?)es 0Q), ( HQ® H Q, 2 \cos(4Q), H ., 1 ., B
D? 3A 3A €D D ¢D) D 3A8D ¢D> 3AH?

E —m,c2
H: R = 0 :—1
m,c2 m,c2

2 2
1) 6Q), (=D LD Q1 2 Jeos9Q), (<D 1 B e
D 3A  3A D D) D "3AeD | o2p? 3A(=1)
20 (9Q) (Q° 1 Q% 2 Jeos(4Q) | 1 . B
(I—Q R et S — +— 5+ =Zero
D 3A 3A D €D D 3AeD ¢D
2e0s’(9Q) (Q° 1 Q°, 2 |eos(dQ) | 1 DB
(I—Q 4| V= — + +-£ =Zero
D’ 3A 3A eD D) D 3AeD ¢*p? 3AeD
DB sDGi\/IO _&DGM, _
L eDGM
1)eos”(60Q) (Q° 1 Q2 Jeos(4Q)
(1—Q px 1 R, 2 SN SRS SR S
D> 3A 3A eD D) D 3AeD ’p? 3AeD
2eos’(9Q) (Q° 1 Q° 2 Jeos(9Q) i
(l—Q | ot +— 5 =Zero
D 3A 3A e¢D €D D e D
_12A
zero<r(¢Q)<oo—>Mo¢zero—>Q=—Z£
1_7
\ €D
I 1_%—‘ _12A —’
1 gD ||cos*(¢Q) gD |, 2 [cos(0Q), 1 _ ..

1‘@J D> §16A] 3A516A SDJ D | D2
L eD eD

B ) e E G e G i e G e G

(1 6A 1, 12A)008%(0Q) (1 1 12A_ 1 1 6A 1 112A, 2 2 6Acos®Q), 1 1 6A

t =ZCro
eD  eD/) D2 \3A 3AeD 3A 3AeD eD eDeD gD eDeD) D £2D? £2D2eD

(@\Cosz(d)Q) _,_( 1 \COS@)Q)_,_L_L@:zerO
eD) D2 eD) D e?D? &D?eD
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oo b et

D 7 6A
eD

1|1 _24A( 1 1 6A)

cos(0Q) _ eD" Ve2D?2  ¢D \2D? ¢2D? gD
D 12A
eD

liJ 1 _24A 1 _24A 1 6A

COS(¢Q): eD Ve2D?2  eD £2D? eD £D?eD
D 12A
eD

141 [[_24A 24A6A

cos(®Q) _eD " eDV_ &D  ¢D ¢D
D 2A

eD

141 [j_o12A [ 144A%

COS(¢Q)= eD eD eD  gD?
D 2A
eD

141 (1 1 2Aj2
cos(dQ) _eD " eD eD
D 12A

eD

14 1 [_12A
COS((I)Q):sDiaD(l SD)

D 12A
eD

li(l_IIZAj

COS((I)Q): eD \eD €D eD
D 12A
eD
1_(1_112A)
COS((I)Q): eD \eD €D €D
D 12A
eD
1 _ 1, 112A
cos(¢Q) _e¢D eD D ¢D
D 12A
eD
1 12A
COS;((I)Q): eD eD
D 12A
eD
cos9Q) _ 1

D eD
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1
e

Where applying the result of the second hypothesis £cos(¢Q)=1=>cos(¢Q)=

11_1
eD €D

That it is an identity demonstrating that the result of the second hypothesis is correct.

|_12A oM

2___eD |_6A 2_1_6A A="No

Q 1—6A eD Q eD ¢
eD

eD=a(1—£2)=57.909.227.0000011- (020563593 |=55.460.469.56840

_GM, _6,6740831.10-'.1,9891.10%

Aa (2.99792458.108 f

=1.477,089.535.42

_12A

—eD _0999.999.920.1 = 1-8A ~0.999.999.920.1
1_% ’ Q gD >

eD

1,276.789.102.53™

1.296.000,00

$.Q=1.296.000,00=¢= Q<1 Advance Q>1 Retrocess
Adp= é—l}l.296.000,00 Ad>zero Advance Ad<zero Retrocess
Ad= %—1 1.296.000,00=0]103.549.893.544"
1_12A )2
eD
1—6A
[\ D i
Ad= %—1 1.296.00000=0,103.549.876.997"
-2
[\ €D

365,256.363.004
87,969

N=100.L2T —100 =415210.316.139
PM

> Ap=AGN=0,103.549.893.544 x 415210.316.139=42,994.984.034.7"

> Ap=AGN=0,103.549.876.997 x 415210.316.139=42994.977.164.2"
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Newtonian Energy Ey

R =zero
dt r° myr m,
dg _ L dr_ _;dw d’r _—I? d*w d’ _ 217 dw
dt r? dt d¢ dt? r? d¢? dt? r® d¢
2 )
rdw +L2 _2kl PN _pero
d¢) r° mr m,
’ 2
dw | 4 12 ——2k2 1 N2 =zero
d¢ r* mL'r mlL
’ 2F
dw| , 1 _2_k2l_ Y —zero
d¢ r* mIL r mL
’ oF
aw |42 2k2w Y-=zero
de m,L m, L
2E
xm 2k _ 28y
m,L m,L
2
dw +W’ —Xw—y=zero
d¢
_ o 2 _ 2
WZLZL[1+£COS(¢Q)] dw _—0se #0) dw _—0Q cod¢0)
r &D d¢ D d¢’ D

[—Qse m)f { [chos(q@]} ~x L+ scodgo]-y=zero

D

o [1 co sz(¢Q)] [l +2ecos(@o)+&°co sz(¢Q)]
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o 2 p) X CO§(¢92 _
2 % cos + —=—x —y=zero
o (#0) 2D2 (#0) s e
od Q2cos2(¢Q) L2 COS(¢Q)+COS2(¢Q)_L_XCOS!¢Q!—y=zero
D? D? 2D2 edD D D? &b D
> >
cosgo)_ o), 2 codgo) codlgd) ¢, 1 _x_ _ _
D? D? ed D D D? &% &D
0 cos(¢0 ! Q2 1 x
Q2M_)cos 9 ( j —=—y=zero
( D? eD D2 &°D*> €D Y
Newtonian Energy Ey
2
(1_Q2 COs (¢Q)+(X— )COS((I)Q) Q 1 _ X —y=zero
D’ eD D> &D’ €D
r=c0—>Q=1->w=—L—=1[l4+ecos(¢Q)]= COS((I)Q) ——=zero
r=o00 gD D
(1-Q?f L)~ 2Y_1).Q, 1
1- X——)(——)+(x J( J+ : X _y=zero
Q eD eD eD eD) D* &D° €D Y
Y 1 2 Qg
1- X 4 +=_4 X__y=zero
QL,ZDZ) D D’ D’ &D’ eD °
1 Q" x 42 +Q2+ 1 X _y=zero
D’ ¢D* D ¢D* D’ ¢D° D
Q Q 4 2x 2
=Zero Q=1
e’D’ D sD eD Y
1 .1, 4 2x
. . =7zero
gD’ D’ &’D° €D Y
2
82D .8[3 48D 2xe’D’ 82D2y:zer0
gD’ D &’D? eD
—1+82+4—2X8D—82D2y226r0
x=2 y=2Ex [*=eDGM 112 )
eD m,L* a €D
—l+¢° +4—2%8D—82D2y=zel‘0 —l+¢° —82D2y=zero
€
“1+&’—¢’D? 2 2By —X-=zero —1+82—82D2A=zer0
mOL m,eDGM,,
—1+&”—eD—N—=zero L(('»:Z—I)ZZEN Ey="K
M m, eD 2a



§27 Advancement of Perihelion of Mercury of 42.99” "contour Conditions"

Let us start from the equation expressing the equilibrium of forces:

f'=— 0% _£2 21.65

On the right side we have the gravitational force %f defined by Newton, on the left side we have the

physical description of Force ' = —™2%_ of the Undulating Relativity.

1;/2 E
(1+C_2>

The physical properties of equation 21.65 require its validity when its radius varies from a radius greater than
zero to an infinite radius, so the radius varies from zero < r < o, and so we have two distinct boundary
conditions. The first boundary condition is when the radius is infinite r = co and the gravitational force is zero,

which means that the particle is at rest with v’ = zero and a’ = zero and the second boundary condition is
when the radius is greater which is zero and smaller than infinity zero < r < oo which means that the particle

is in motion due to the influence of a gravitational force 21.65 with v’ # zero and a’ # zero.

In §26 following the calculations is substituted in 21.65, the equality, 21.62, 21.69 and

H=

E—R2 A:G—l\f" B= Ni" _more w = —.
m,C C L' !

After these substitutions we obtain the differential equation:
3d*w 3 2 d’w 2.2
H W+H w+3AH —2W+3AH w”+B=zero 27 1

This equation has to be valid for the same boundary conditions as equation 21.65, that is, it has to be valid
from a radius r greater than zero (r > zero) to an infinite radius (zero < r < ). Your solution is given by:

w=l=L[l+acos(¢Q)] 27.2
r €D
Which should cover the two contour conditions already described.

Applying solution 27.2 in differential equation 27.1 we have:

2 2
H3—‘(11 w +H3w+3AH2‘31—‘;"w+3AH2w2 +B=zero

w=i=1 [1+£cos(9Q)] d_W:——Qsen(d)Q) d2W:_Q2 cos(0Q)
r

— 21.38
eD do D d¢’ D

Hs{—chos(d)Q)} INTER [1+8COS(¢Q)]+3AH2{M} L [1+ecos(9Q)]+
D eD D

eD

+3AH? %[Hscos(d)Q)]F +B=zero

_1302°08(4Q) 13 1 31 2| ~Q%cos(9Q) | 1 2| ~Q%cos(¢Q) | 1
H Q O +H 8D+H 8Dsc0s(¢Q)+3AH { > LD+3AH [ o LDSCOS(d)QH

+ 3AH2{ 2]1)2 [1 +2¢ecos(¢pQ)+ €2 cos? (¢Q)]} +B=zero
g
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_Qreos0Q) Y 3 cos(6Q) _3AHQ? COS(¢Q) Qe (9Q),
D aD D eD D?

+ ?‘?gz [1+28005(¢Q)+ &’ cos’ (¢Q)]+ B=zero

_HQ? cos(¢Q) LB cos(¢Q) 3AH’Q’ COS(<I>Q)_3 AH2Q? cos’(¢Q) N
D eD D eD D D?

L3AH’  3AH’ 3AH? 2 2
=022 2¢ec0S +=2=_—g“cos +B=zero
e D2 82D2 (¢Q) 82D2 ((I)Q)

_H3Q2 COS]()d)Q) +H_3+H3 COS((I)Q)_ 3AH2Q2 COS]()¢Q)_3AH2Q2 COS;(;I)Q)_'_

eD D eD
2 2 2
3/;tz 6AH? c0s(9Q) _ 5, 1205 (6Q) (¢Q) +Bezero
D eD D
~HQ?cos(¢Q), H' . H® cos(¢Q) 3AHQ’cos(¢Q) 3AH’Q’ cos’(¢Q),
3AH> D 3AH28D 3AH?> D 3AH’sD D 3AH? D?

3AH? _, 6AH* c0s(§Q) 3AH?cos’(9Q), B

+ =ZCT1ro
3AH%¢’D? 3AH?’sD D 3AH2 D? 3AH?

—~HQ’ cos(¢Q) L H . H cos(¢Q) Q’ cos(¢Q) chos2(¢Q)
3A D 3A¢D 3A D eD D D?
1,2 cos(¢Q) cos2(¢Q) B _ o

82D2 eD D D? 3AH2

cos”(¢Q) _Q? cos’(¢Q) HQ’ cos(¢Q) . H cos(¢Q) Q’ cos(¢Q)
D? D2 3A° D 3A D eD D

L2cs¢9Q . H . 1 . B
sD D 3A8D e?D? 3AH?

=Z€ro

=ZCro

(1-Q?)es 0Q), ( HQ* , H Q' 2 )cos(4Q), H , 1 , B
D? 3A 3A &D D ¢D) D 3A8D ¢D? 3AH?

Er _—myc?

H= =-1

mc2 m,c?

=Z€ro

f1-2)ees 6Q),(_(DQ% €D Q% 5 JeosdQ), D, 1, B
! p? 3A  3A D D) D "3AeD " ¢2p? 3A(-1)

=~ = + +-2-=zero

( o) (¢Q) 1 2\005(<I>Q) 1 1 . B
3A 3A sD D] D  3AeD p’

N + + =Z7€ro

( _Qr)ees (¢Q) 1 L2 2 Jeos(4Q) 1 1 ., ¢DB
3A 3A sD D) D 3AeD D* 3AeD

_eDGM, eDGM,

¢DB = =
L eDGM
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2
(1—Q2 cos (2¢Q)+ Q_ 1. .Q 2 cos(¢Q) __ 1 n 21 —+ L _zero
D 3A° 3A eD €D D 3AeD ¢"D° 3AeD
2 c0s2(¢Q) Q2 1 Q2 2 |cos(dQ) 1
(1_Q P +—5 5 =Zero 27.3
D 3A 3A e¢D €D D €D

This equation must have solution for the same two contour conditions of 21.65.

Solution of 27.3 for the first boundary condition which is when the radius is infinite r = o, and the
gravitational force is zero which means that the particle is at rest and we have

v' = zero and a’ = zero.

Applying Q2:1 in 27.3 we get:

2 2 2
(1_ 12)cos (Q)l)+(1__i_1_+%)cos(®l)+ 1 = zero.

D2 34 3A ¢D D £2p2
(0] 1 -1
cos(@) + — = zero £ = 274
D eD cos(9)

Equation 27.4 is exactly equal to the result of equation 27.2 when the radius is infinite r = co, w = zero and Q
=1, as shown in 27.5:

-1 -1 _cos(@ 1 _
=3 [1+ ecos(BQ)] = > [1+ ecos(B1)] = ——+— = zero 27.5

w =

Therefore in 27.4 we have an exact result that describes how in infinity the eccentricity € is related to the
angle @ of the infinite radius of the particle, being € = 1 which means that the motion from infinity will be or
parabolic with e = 1 or hyperbolic with € > 1. Note that by definition € > zero.

Solution of 27.3 for the second boundary condition which is when the radius is greater than zero and less
than infinity zero < r < o which means that the particle is in motion due to the influence of a gravitational

force with v’ # zero and @’ # zero.

12A

eD

Applying Q = — in 27.3 we have:
~i>

( —Q )= (2¢Q) ——L—— 2 \COS(d)Q) 1 > =7er0 27.3

D 3 3A D D) D p
(L IZAW [ (_12A —12A 1
- cos’(@Q) | 1| eD |1 _ 1| eD | 2 [cosdQ), 1 _ ..o

1-6A || D2 3A| 1-6A | 3A eD| 1-6A SDJ D gD

L eD L eD eD

-8B )02 - S el )

(1 6A_1,12AYc08%(0Q) (1 1 12A 1, 1 6A_ 1, 112A, 2 2 6AYCOS0Q), 1 1 6A_,..
eD  eD/) D2 \3A 3AeD 3A 3AeD eD eDeD eD eDeD) D £2D? 2D?eD

(@\msz(d)Q) +( 1 \cos(¢Q) 1 6A_ oo

eD) D2 eD) D 82D2 2D? D% eD
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oo b et

D 7 6A
eD

1|1 _24A( 1 1 6A)

cos(0Q) _ eD" Ve2D?2  ¢D \2D? ¢2D? gD
D 12A
eD

liJ 1 _24A 1 _24A 1 6A

COS(¢Q): eD Ve2D?2  eD £2D? eD £D?eD
D 12A
eD

141 [[_24A 24A6A

cos(®Q) _eD " eDV_ &D  ¢D ¢D
D 2A

eD

141 [j_o12A [ 144A%

COS(¢Q)= eD eD eD  gD?
D 2A
eD

141 (1 1 2Aj2
cos(dQ) _eD " eD eD
D 12A

eD

lil(l— IZA)
cos(¢Q) _eD €D eD
D 12A

eD

li(l_ B 12Aj

COS(¢Q)= eD \eD €D ¢D
D 12A
eD
1_[1_112A)
COS(¢Q)= eD \eD €D eD
D 12A
eD
11 . 112A
cos9Q) _eD gD gD eD
D 12A
eD
1 12A
COS;((I)Q): eD eD
D 12A
eD
cos(9Q)_ 1

D eD
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500 L L sero £=— 27.6
D eD cos(8Q)
In the theory of conic for hyperbole we have ¢ = 2 equating to 27.6 we have ¢ = C; = COSEQQ) This results

a = c.cos(@Q)) which is the correct formula, of the greater half axis of hyperbola.
Therefore in 27.6 we have an exact result that describes how in the course of zero < r < o the eccentricity €
is related to the angle @ of the particle, being € = 1 which means that the motion will be or parabolic with
& =1 or hyperbolic with € > 1. Note that by definition £ > zero
§28 Simplified Periellium Advance

Perihelion Retrogression Q>1
Imagine that the sun and Mercury are two particles, with the Sun being at the origin of a coordinate system
and Mercury lying at a point A on the xy plane. The vector radius ¥ = rf connecting the origin to point A will
describe Mercury's motion in the xy plane.
In the description of the movement of the planet Mercury to the observer O' corresponds to the variables with
line for the observer O as without line being used a single radius ¢ = rf and a single coordinate system for
both observers.

Time t' is a function of time t that is t' = t'(t) and time t is a function of time t' thatist=1t(t").

dt=dt |1+ dt = dt 1% 21.02
C C

-5 1+%=1 21.03

v

v = V= 21.04
dt > dt’ vV >v vdt = v'dt’ 21.05
r=rf dt = drf + rdf #.dr = drf® + 1. df = dr 28.01

The radius can be considered a function of time t' = t'(t) ie ¢ = #(t") = 7[t'(t)] or it can be considered a
function of time t = t(t') ie I = 7(t) = 7[t(t)].

F=7r{) =7t 1] F =71 = f[tt)] 28.02
- dr dr . do = - df dr, do =
= —=—T r— V=—=—T1 r—
dtr dts + dts Q) dt dt + dt Q)
o, _df _dfdt _dfF 1 _ ¥ v_d?_d?dtl_d?l_ v
T dt T dtdv | dt d¥ T v2 T dt dtrdt dev 9t T viZ
dt 1-=Z datr 1+
C C
v vr
vV = > V= 28.03
v vr2
1—C—2 1+C—2
L, dv _ d?F  d2(r®) _ [d?r (d@)z o ( drdg | _d%¢\ =
a=—=—= =|—=—-r{(—) |T 2—— r—) 28.04
dt dt? dt? dt2 dt + dt dt + dt? 0 8.0
L, dvr 4%t d2@f)  [d?r (d@)z - ( dr do dZ(D) =
a=—=—= =|——-rl—) [T 2——+r 28.
dts dtr2 dtr2 dtr2 dts + dts dts + dtr2 0 8.05

Both speeds and accelerations are positive.

L, _dv_dtd| ¥

“w T wa| T2
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Frepe=Fe (j;;);[( ~E) Ve

Ex = [F.df = [F.dff = [ - %.dF

b= [ [ (- 2) i -
N

By = [P = [V L ar  dE, = F.dif = T

In this first variant relativistic kinetic energy is greater than inertial energy

Mercury's perihelion to recede. The planet seems heavier due to the movement.

7 m V’dV m, Vﬂ 7
dEy _ p ar _ oVarr . Mo¥ar _ _k g Kk, ar
de | at vI2 v12 3T g2 r= r2 r dt
71+ =z ( VZ)Z
1-=
C
dE movrdY moV: k
= 0 0 A
Zk_Fv= ! — dt = — —dr = — =7V
dt v/ 3 2 r2
1+—- (1 V2>2
Z
dE = myvr.ar mev.d k L =3 med
k= F V== = SR F=-—"°

> dr do d2g\ = dL
Fz = (2—— —) = zero
0 dt dt dt? 0 dt
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34 3A &D &b D £2p2 T 1484

1+12A Z(QQ) 1 1 1+12A 1 1+12A 2 (@Q) 1

cos cos
1— eD + _ eD = & |4 = + = zero
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For hyperbole eccentricity (¢)

Advance of the Periellium Q<1
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In this second variant relativistic kinetic energy is smaller than inertial energy

£— = zero
co (9Q)

1
cos(9Q)

is defined as € =

advance of Mercury's perihelion. The planet really is lighter due to movement.
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where (@) is the angle of the asymptote.
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—=F.v = = —"Le = ——=7.V
dtr v 3 r2
1_c_2 v'?\?
<1+C_2)
dE = mev.a mevr.dr k . = med’ N
_k=F,.\_;’= 02 = 0 3=——T'_V’ F’: 0 3:——7‘
dt v = r2 3 r2
e v?\? ( +ﬁ)2
<1+C_2) 2
- m d?r de\?] » dr do d =) ko,
Fro—te [ (9 ]y (80 4 £0Y5)
VI2\Z datr dtr dtr dtl dtl r?
(1+C—2)
> dr do d2g\ = dLr d do dr do d?g
F’5=(2—— )Q)zzero —=—(r2—)= r——+r? — = zero
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For hyperbole eccentricity (¢) is defined as € = ( 20
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where (@) is the angle of the asymptote.
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The movements of the ellipses will focus F '(left) on the origin of the frame.
. . . _ _ eD _ a(1-¢%) _ 5(1-08?%)
All ellipses are described by the equation r = r(t) = Treco G0 — Tre  GQ) -~ 1+08005G0)

vector radius (tQ), indicates the position of the planet Mercury in all ellipses, the movement of Mercury in the
ellipses is counterclockwise, with the value of Q being the cause of perihelion advancement or retraction.

In these the angle

The first ellipse in blue represents retrogression of the perihelion, where we have Q = 1.1.

The second red ellipse represents the advancement of the perihelion, in this we have Q = 0.9. In this ellipse
the perihelion and aphelion advance in the trigonometric sense, that is, counterclockwise which is the same
direction as the planet's movement in the ellipse.

The fifth ellipse in green represents a stationary ellipse Q = 1.
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29 Yukawa Potential Energy

Newton's gravitational potential energy Epy

F=-X¢ F=[f=VEF= [(-5¢)(-5%) = (Lz)sz: (52)2252
r r r r r r
dE

B _pe —_k —dp _ Kk

F = —Ff Epn = —- F=—=2

= dEp o

F=-SPp=_Xp

r r2
Yukawa potential energy Epy
e—ar
Epy = — = —krle=ar k>zero a = zero

Potential Core EnergyEy

Breaking apart Ey = —k%ar we get:
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F=—-—"fF= k( 5 ta— )r Attractive force
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First variant.

= me, dv _ e ar e ar
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249

datr

—ar

):

dr do
r——
dtr dtr

SR I

2 4%
r m = Zero
d?r _ -L%d*w
dat’2 ~ 12 dp?
k
B=——
mgLr2
k
B = mgL/2
r=w!



d?w 1

+w=[1+aw™) + w+ a)Ae_aw_l]Be_aW_

ag?
1 1 dw d?w
I eos® w=-= Qcos(9) = —Qsen(Q) i —Qcos(®)
—Qcos(®) + Qcos(®) = [(1 +aw™) + (w + a)Ae“’“"’_l]Be_"“"’_1
zero = [(1 +aw™1) + (w + a)Ae“"“"’_l]Be“’“"’_1
-1 —aw~ ! _ _1_ — -1 —_ 1

(1+aw™) + (w + a)Ae = zero w=-= Qcos(0) rEwT = s
[1 + Qcoi(@)] + [Qcos(@) + a]Ae™" " = zero
Qcos(@) (1 + Qcoi((z))) + Qcos(@)[Qcos(®) + alAe™V" = zero
Qcos(®) + a + Q%cos?(P)Ae W ' + Qcos(P)aAe @ " = zero
Q2cos?(@)Ae 3" + Qcos(®) + Qcos(P)ahe " + a = zero
Q2%cos?(P)Ae™ " + Qcos(®)(1 + aAe_aW_l) + a = zero

—(1+afe™ ) £ J(l + aAe‘*”“"’_l)2 — 4Ae=av ! (q)
Qcos(9) = > Ae—awT

—(1+aAe ™) + /1 + 2ahe 2V + a2A2e~2aW " — 4gAe=aW
Qcos(@) = > Ap-aw T

_—(1-aAe™ ) & V1—2aAeaW" 4 a2A2e-2aw!

Qcos(9) = S Ae—awT

-(1- aAe‘a""_l) + J(l - aAe‘aW_l)2
Qcos(9) = Py

-(1- aAe‘a""_l) +(1- aAe_a""_l)
Qcos(@) = Py

1 geos(y = 1 aAe ™™ +1—ake™ ™

w=_= Qcos(@) = VT = zero

-(1- aAe‘a""_l) +(1- aAe_a""_l)
Qcos(9) = Py
Qcos(@) = _14aa —awl_j g4 —aw™l W 1_ 0cos(9) ;e wol = 1

24 —aw~! T Qcos(0)
1 | —2+2aAe™™  —1+afe™ 1

WErT Qcos(®) = 2he-w | pe-awl 0 peaw?
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§ 29 Yukawa Potential Energy “Continuation”

Newton's gravitational potential energy Epy

= K . k k
F=-2t F=[F| = VF F_/—— \/rz rr—\/rz) ==
F=—Fp Ep=—§ de_Pzr_z k>zero
F=_%s_ ks
F= ST=—of
Yukawa potential energy Epy

Epy = -k e_:r = —kr~le " k>zero a>zero
dE d 1 _1-1dr] _ PN d
=g et = ffenr e s e (o8
dE, d e” e

P _ -1 -ary — -2,-a —1,—-ary — -2 —ar —1,—ary —
—=—(-k = —k(— - =k + = k( + )
e r( r-te™an) (—r e ar te™@r) (r%e ar~te™@n) . a—
dE, d ( ke‘ar) k(e‘ar e‘ar)
dr ~ dr r ) r2 +a r

= ~ e~ar TN L
F=——pr=—k( +a—)r
dr r2
- 2 — -
2 _ mea _ By __ Mg v\ dvr pave vr
F= 1_ﬁ_F - VIZ%I:(1+ c2>dtl Vi@
c2 (1+c_2>
o 12\ o r s —ar —ar
= mea 2 m v avr av' vr e ~
F=2=2 =fF=—T0 |(1+5 )5 v S = k(S5 +a2—)¢
v2 z c2 Jdt' dt’ c? r2
1-=Z 12\2

= 2 —ar
mea - mg v dvl ,dvl v e A 72
E,=|==.dF = [(1+—) ] ar ( )r.dr
k f v f 2 3 c2 /) dtr dtr c? r
c2 (1+—2)
(%
_ movdv _ movldvl e_ar
Ee= [T = =[—k(S+a=")ar
v v/2
c2 (1+ 2 )
dEy, = F'.di = 700 = MoV (T 4 2t ) gy
k 2 3 2
1-Z v12\2 r r
c ( +c_2)
2 v? mye 2
E,=—myc |1—5=— —(=k + constante
/2
y_
2
2 —a
2 v A
Ep = —m,cC ’1—C—2—k — = —meC
Ep = — 2= - myc? — = ( - e‘“)3 = (1 —Ae_ar)3
R 12 r 0 e mec?
1+Vc—2 (1+C—2>
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28.16

28.17

28.18

28.18

28.19



;5=(1—Ae_:r)3 Aok

av’
dv 1=
dE, 5, dF MoV myv dt’ ear e 3"\ dr e—ar e\ , df
k=== b — —¢ 3=—k(—+a—)—,=—k( +a )r.—
dtr dt Qv2 [ 2 2\3 r2 r Jdt r2 r atr
e ()
)
c
dE} R mov% moT/'/% e—ar eaN
EZF.V 2(72—32—1( 2 +a r.v
[

dEg = o myv.a movr.ar e™@ eTany .,
— =F.V =" ="—3=—k( +a I
= r r

Frete o () o (2 )0} = k(S a )

dtr dtr dtr?

= dr do a2\ = dLr  d [ 5 do dr do 5 d%p
F’A=(2——+r—) = zero —=—(r —)=2r—— — = zero
0 dtr dtr dtr2 0 dtr  dtr dtr dtr dtr dtr2
2 —ar —ar
2, mg d?r (d(z)) " (e e ),\
F'y = 3 | o) [T = k S ta—)7
(1+i)2
)
m d?r a2 e~2 e™ar
e ()] = (55D
VI2\Z atcr dat r r
(1+C—2)
g _ L dr _ . ,dw d?r _ -L"?d%w
der -~ r? dtr ag a2~ r2 dp?
1 [—L’Z d*w (u)z] K (e ar + ae—a>
vz % r2 dp? r? mp \ r? r
(1+C—2)
1 L'2 d2w (LI)Z k (e ar+ e—ar)
== =— a
o2 2| r? ag? r? mo \ r?
(1+C—2)
1 /2 g2w L2 k [e—ar e—ar
[ ()
w2z LT dag T me r
(1+C—2)
1 a*w 1 k e~ar e~ar k
3 [ 2 ] = 2 rz ( 2 +a ) B = 2
VI2\Z ao r melL r r meolL
()
1 d’w | 1 e~ar e~ar k
—3(—2+—)=BT2(—2+3 ) B=—,2
2\z \40 r r r mol
()
—ary 3 —ar —2ar —3ar —ar
1 e e e e e
s=(1-AT) =1-34"—+342" - A" —=1-34
s2\2 r r r r
<1+C—2)
—3ar
e e k
342 — = zero A=—s
r mec
e @\ rd?w 1 e e™ar
(1-342) (55 +2) =Br? (- +a"—)
ez r r2
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(1-3a50) 2wy (1 —34 e;)} =Br2 (S +a®)

dp? r2
dZW d we —ar —ar
proi prel = Br? (—+a )
da’w d?w e™ar e _ _ar —ar
W —34 W = Be + raBe
dz_wl_ clz_wi_i_i_ 34 R —ar _1
ap? r ae? r?2 = r? r3 r w=s
d*w —ar ar,,,3 —ar —ar
W —BAWe w? + w? —34e w3 = Be w + aBe
d*w d*w —ar,,,2 -a ,,3 -a —ar
WW+W _3AWE w* + 34e @ w> + Be™® w + aBe
d*w 2 g—ar
W +we = (SA WW + 34Aw?3 + Bw + aB) 28.22
1 ; _ d . . dz i _ .
w =;=xew’+ye i0 %z ixe® — jye~® _d(;:: —xe'® — ye~® i=+—1

) ) ) . . ) d?
(—xe® — ye ) (xe™® + ye ) + (xe® + ye“‘z’)2 =e <3A d(;; w? + 34Aw3 + Bw + aB)

(e = yem) (e + ye ) = [(=xe®)(xe) + (<re®) (ve®) + (e (we?) + (~ye ) e )]

= (—x%e® — xy — yx — y?e~??) = —(x2e?® + 2xy + y2e 29) = —(xel® + ye—m)z

. . . . d*w
—(xe™® +ye )" + (xe™® + ye?)” = <3Ad7)2w +3Aw3 + Bw + aB)

2

w
zero = e™3f <3A w? + 34Aw?3 + Bw + aB)

dp?

2

Adw + 3Aw> + Bw + aB
d(Z)ZW w3 w + aB = zero

34(—xe® — ye™®)(xe® + ye“'@)2 + 34(xe™ + ye“'@)3 + B(xe® + ye ) + aB = zero
34(—xe® — ye™®)(xe®® + ye“'@)2 = —34(xe® + ye ?)(xe® + ye“'@)2 = —34(xe® + ye“'@)3
—3A(xe® + ye‘i‘z’)3 + 34(xe™ + ye“'@)3 + B(xe™ + ye ™) + aB = zero

B(xe® + ye ) + aB = zero xe® + ye~® + a = zero

1 . .
w=-—=xe®+ye"®=-a
r
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§ 30 Energy

In §28 simplified calculation of the perihelion retraction we obtain:
Ek _ fmowd,\;/ _ f mavdvE _ f_rkzdr dEk _ Fz dit = mowd’\;l _ movdvE _ _%dr 28.08
vE () Poa gy
vi2 mgc? k viz  k
Ex = myc? 1+—2=\/z=;+constant Er = m,c? /1+C—2—;= m,c? 28.09
2
_ mec? k 2 1 k 1)\3 _ 13
R 2%_(1 1) =(1+4) 28.10
b (1—:—2)
2
In this first variant relativistic kinetic energy is greater than inertial energy ToC = > m,c?. This causes
28.08

Mercury's perihelion to recede. The planet seems heavier due to the movement.

mgv/dv/ mgovdv k
Ex=[—=2 = °— = [—=dr
vI2 N> r
\/1+—2 ( \4 )2
[ 1-—
C
v T\ movdv _ cr k
Ey = J‘v’:zero vz fv:zer N - J‘r:oo r2 dr
1+— v4\2
c 1—C—2
v
v
vi2 mgc? Kk|*
Ek—mOCZ 1+—2 = 02 ==
¢ ’ 1_V_ IMr=co
v'=zero 2
v=zero
2 moc? _k k
r o

12 2 12
Ex =myc? [1+ VC—Z —myc? = m°cvz m,c? :l;( m,c? /1 + Vc—z > m,c? m"CVZ > mgyc 30.1
Defining potential energy as Ep = —%: 30.2
12
And applying in 1 we have E, = myc? |1+ VC—Z —myc? = ":°CV2 — m,c? 30.3
3
In 3 we have the energy conservation principle written as E, + E, = zero 30.4
. . . v'? mgc?
With 3 the kinetic energy equal to Ex = myc? /1 +5- myc? = \/ﬁ —mgC 30.5
3
n 3 the lowest energy of the system is the inertial energy of rest Ey = m,c? 30.6
72 2
In 3 the highest energy of the system is E=myc? [1+5 =12 30.7
[« ,1_\;_2
Now defining p = m°:2 =myv vp= °‘;2 =myvv' T' = myc? |1+ VC;ZZ T = —m,c? ’1 - Z—; 30.8
1—C—2 1—C—2
2 2
E =c/mjc? +p? = m°cvz— m"vz+m0c2 1—:—2=vp—T 30.9
1-=Z -z
30.10

And knowing that

Ifin9 m, =zero So
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Applying 8 and 9 in 7 we obtain the greatest energy of the written system as:
E=c¢/mjc2+p2=T =vp—T This we have vp=T'+T 30.7b

With 8 and 9 we can write 3 in the form:

12 2 2
Ex = myc? ’1+VC—2—m0c2=\/n[%+moc2 /1—Z—z—m0c2=—Ep 30.3b
s

Ex=T —E,=vp—T—E, = -E, 30.3¢
From 3c we can define the resting inertial energy E; = m, € E; = m,, in the form:
Eo = T'+ E, = m,c? and Ey =vp—T+E, = m,c®. 30.11
Defining Lagrangean as L=T-E, = —myc? [1— ‘C'—z +lf 30.12
. . d (L) _ oL .
This Lagrangian meetsa (5) = according to §24.
So from 11 temos: Ey = T' + E, = myc? and Ey, = vp — L = m,c? 30.13
In §28 simplified calculation of perihelion advance we obtain:
B = [ B = fmovdy _ fXr dE; = F.df = B = 2oV = _ S gy 28.17
R () (e
2 v2 mgc? k 2 vZ k 2
Ex = —m,c 1—C—2=——,2=;+constant Er = —m,cC 1—C—2—;=—moc 28.18
145
_ mec? k. 2 1 k 1\3 13
ER—_—’Z_;—_mOC Vlzg_(l_mocﬁ) _(1_A;) 28.19
1+VC—2 (1+c_2>
moc2

In this second variant relativistic kinetic energy is smaller than inertial energy =< m,c2. This causes the
v

c2
advance of Mercury's perihelion. The planet really is lighter due to movement.

_ mgvdv _ ~ mgvrdvr k
Be=[Tm=l—" 5= -gd 28.17
cE ey
C
(v movdv v/ mgovidvr _ er k
Ex = J‘v:zer vz J‘v’=zero R J‘r:oo r2 dr
1——2 \4 2
c 1+C—2>
\'"4
v
2 v2 mgc? Kk|*
Ex = —myc® (1 —— = = =-
¢ 1422 Ilr=co
v=zer 7|,
v/ =zero
v2 (zero)? mgc? mgc? k k
Ex=-myc? [1 -5 —|-myc® [1 ———|=—"—=—-| —— =-—=
c c 2 (zero)? r o
v/ 1+ Vi
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2 2
\% m,C k
Ex = —myc? [1——=+m,c? = ———=+myc* =~
C v'2 r
1+ oz

2 2 2 2
Ex = myc?—m,c? ’1 —Z—z =myc? — === 1;( myc? = myc? [1— Z—z myc? > 2=
12 12
1+VC—2 1+Vc—2
. — : k.

Where applying 2 the definition of potential energy E, = -

2 2
We get Ex = myc2—m,c? /1 - Z—z =myc? — == == -E,

1+VC—2
In 15 we have the principle of conservation of energy written as Ex + E, = zero.
Being 15 the kinetic energy equal to:
v2 mgc?
Ex = myc?—m,c? ’1 — = =myc? - =
C 2

1+"C—2

In 15 the biggest energy of the system is the inertial energy of rest Eo = myc?
2 2
At 15 the lowest energy in the system is E'=myc? [1-5 ==
12
1oy
Now defining p' = LVZ =myv v'p =2 = = m,v'v
145 14
2 12 2
And knowing that E'=cymicZ—p?=-"10_=—-12_4mc? |1+ VC—Z =—v'p +T
v /2
1+C_2 1+‘L—2

If in 20 m, = zero so E' = icp’
Proving 20:

;o Mmoc” \/T
E'= — = ¢ympc —p't =
1+C—2
E’ moc? = cym2c2 —p’2 =
- VIZ_ 0 pe=
Z
2
E' = 21 Y-
=m,C -5 =c
C

Applying 8, 19 and 20 to 18 results in the lowest energy of the written system as:

E'=c/mjc2—p2=-T=—-vp +T This we have vp =T +T

With 19 and 20 we can write 15 in the form:
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30.18
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v2 mgvr? vr2
Ex = myc?—m,c? ’1 -5 = myc? + = — — myc? |1+ = ="E
1+C—2

Ex=Eo+T=E,+v'p' - T = —E,

From 15c we can define the resting inertial energy E; = m, e E, = m, in the form:

Ey = —T — E, = m,c? and Eo = —v'p' + T' —E, = myc?.
12
Defining Lagrangean as L' =T —E, = m,c? 1+ ‘L_Z +§

This Lagrangian meets 4

(ﬂ) = rova no final
dtr =% P )

axr
Ey = =T — E, = m,c? Ey = —v'p' + L =m,c?

Rewriting 11 e 22:

Eo = T' + E, = myc? and Ey =vp —T+E, = myc®.

Ey = =T —E, = m,c® and Ey = —v'p' + T' — E, = m,c.

Equating E, of 11 with E, of 22 we have:

Ey=vp—T+E, = -T —E, = m,c?

This we get vp = —2E, —E,=—=

Matching —E, = ? the kinetic energy of 3b we have:

12 2 2
2 v 2 2 v 2 T
Ex =myc* |1+ =~ Mec” = + myc” |1 2~ Mec” = E,=—=

In 3d we should have:

2 2 2
mgVv A% 1 myv
°— + myc? [1 - —myc? =2
v2 c2 2 v2
1-% 1-2
C

2 2
v v 1
myv? + m,c? (1 - C—z) — m,c? = 2

1 2 2 2V 2 v?
2 MoV + myc® —mgycC =~ M€ 1—C—2=zero

1 v2
Emov2 + myc? —myv? —myc? |1 — = = Zero

2 2
2 _1c” 2 _ 2 _r _
m,C S 2 MeV™ — mgC 1 = = zero

2 2
2(q 1V _ 2 |1 Y _
m,C (1 5 Cz) myc” |1 — = = zero

2
The approximation(l — %‘C’—z) = /1 — :—2is the cause of Mercury's perihelion setback.

2 2 2
m,c2 /1 - Z_Z — m,c? /1 - Z_Z =zero  Result that proves that E; = % m°vvz
1__

c2
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Equating E; of 11 with E; of 22 we have:

Eo =T +E, =-v'p'+ T — E, = myc?

This we get v'p' = —2E, —E, = =

Matching—E, = % the kinetic energy of 15b we have:

2 2 2 ’r 2
— 2_ 2/ _y_ 2 4 Movi” 2 vV __p _Yvp _1mw
Ex = myc“—mgqc” |1 = = MoC + myc” [1+—=—-E; = =3

12 c
J1+V—z v'?
¢ 1+

In 15d we should have:

2 mgvr? 2 v'? 1 mgvr?
m,C +——m0c 1+_—_
vi2 c2 2

1+ 1?2

30.26

30.15d

30.27

30.28

30.28

<z 14
12 2
myc? + 22 _mc2 |1+ > = Zero
2 V,z c
1+c—2
m,c? 1+£+lm v'? — m,c? 1+L2 = zero
o Cz 2 (o) (o) CZ
2 Vrz 1 12 2 12 _
myc” |1+ = T7Mev" —mec” —mev™ = zero
12 2
myc? [1+ VC—Z —myc? — %moz—zv’z = zero
2 ,2
m,c? ’1 + VC—Z — m,c? (1 + %‘L—z) = zero
12 12 . . .
The approximation(l + %‘L—z) = 1+ ‘L—z is the cause of the advance of Mercury's perihelion.
2 v'? 2 v'? 1 mgvr?
myc” |1+ =~ M,C 1+ =2 = Zero Result that proves that E, = 3 =
v
1+C—2
From 25 and 26 results vp =V'p’
Applying 25 in E, of 22:
e T—F. =-Ta4®ome2 oY pimov mocz( _av? ﬁ)
Eg=-T—-E, = T+2—moc 1 c2+2 = = VZ1 -z T e
1——2 1——2
C
_ _ vp _ mgc? vZ\ _ myc? v2 2
Eo=-T—E,=-T+2=10(1- )= 1 -2 —mc
l—c—z l—c—z
Applying 25 in E, of 11:
Eo=vp—T+E, = 2% ~T-2=-T+ Result already obtained on 28.

Applying 26 in Ej of 11
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12 12 2 12 12
Ep=T +Ey =T — ¥ = myc |14 — 1Mo _ Mo (1+2V——V—) 30.29

2 c2 2 2 2c2 2c2
1+C_2 1+C_2
2
, , ,  v'p' mgc? v'7\ _ mgc? v'? 2
Ef=T +E, =T -2 = 2 (14 Y )= 1+2 =mgc 30.29
p 2 ,2 2c2 ,2 [
1+‘L—2 1+‘L—2

The approximation that exists in 28 and 29 is the cause of the advance and setback of Mercury's perihelion.

Applying 26 in E; of 22

Ep=-vp +T —E, = — szp +T + % =T - Vzp Result already obtained on 29.
d (9L _ ol P 2 vt k
Proof that dtr(ax'r) = L'=T —E, =myc” [1 + 2 = . .

= () =% = (e 1+ 5)| = 26)

V’=%=,/X'2+}‘I’2+Z’2 ds = |ds| = \/dx? + dy? + dz? r2=x?+y?+22

O (Y 1) = k(=) 1-1=2 e AX e X o _x
Fx_ﬁx(r)_kﬁx(r ) =k(-Dr ox krzr kr3 ax T
F'=Fd+Fj+Fk=-kii—kIj-kZk=—S(xi+yj+2k) = —5F=—2¢ =19.01

1
——1=—=

a vi2 1 vi2\2 2, v ovr mev/ v

plx — o (mOC 1+ C_2> = I'Ilo(j2 5(1 + c_2> 2— = 9 = ——

2 9xr vI2 9x1
1+—2
C

av/ d (\/m) 12 12 12\a—l=—t, 0K X! X!
= X Z =-X Z 2 22— ===
% 0x Tyt ( Ty t ) oxr  x2+y'2+z'2 v

;0 m. 2 1+v12 _ movr 9v/ _ meV/ X/ moX
Px= % o c2 V12 %1 viZ vr vi2
1+—2 1+—2 1+—2

C C C

, dpry d mgX/ my |dxs vr2 . d vr2 mg " vr2 . d vr2

e - E el L 1+Z )| = ¥ 1+ v L [1+2

F X dtr dtr B vi2 (1+v/22> du 1 + 2 X av + o2 (1+V722> + c2 du + c2
C C

+c—2
1 1 vrdv/
d n vr2 (1 n vrz)z 2 vrdvr Zdu 1 vrdws
dtr c2 c2 cZ dtr vr2 vr2 c2 du
—5 1+—2
[ C

dpr d mgX/ m . vr2 . 1 vrdwr
Fo= w752 |~ [\t e ¥ —Fow
1+c—2 (1+C_2> 1+C—2
_dpry _ d mgX/ mg [
T dv T du V12 -~
/ e 2
1tz (1+%)
C
F'=F,d+Fj+F,k

P (1) oo () -y e 1) - 23]

vi2\2
(1+C—2)
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B Mo fr (14 20) 1o ey g (14 20) o g ey (14 ) R )
F' = E{X(l"'c =X ,1+y 1+C2] chdt,]+Z 1+C2 k Z 3w

F=—t {(1 + "C—;) i +y7+2k)i— (X +7i+2k) S d"'}

w2\z c2 dt
(1+C—2)
= m vi2\ dvr i dw
Fro o f(1420)a0 _wdvg) =28.16
( VI2\Z ¢4/ dtr c*du
1+—2)
C

§30 Energy Continuation Clarifications

With 3d, 6, and 9 we get:

2 2 2 2
Ex=E—E;= m"cvz -myc? = m"vvz +myc? |1 - :—2 -m,c? = % m"vvz = %vp 30.30

1—(:—2 1_c_2 1 (;_2

. . v2 _ 4-E]2(
This we get: = 2 30.31
That applied in 8 results: p=—2_ 5 E = g,/pZ—mgvz 30.32
2

If at 32 m, = zero then: Ey =%=%vp sv=c 30.33

For a particle with velocity c = Ay and zero resting mass m, = zero we have:
h

E =hy p=3 30.34
Applying ¢ = Ay and 34 in 33 results:

_¢cp _Ayh _ yh __hy
Eg=—=77="-E== 30.35
From 34 and 35 we have:
E = 2E; 30.36
Applying 36 in 30 we have:
Ek=E—E0—>Ek=2Ek—E0—>EO=Ek=§ 30.37

Applying E, = m,c? in 37 we obtain:

E0=Ek=§=m0c2—>m0=%=2% 30.38
With 33 and 38 we get:
Ex = c?p =myc? - p = 2m,c 30.39
Clarifications
From 30 and 8 we have E; = % m"vzz = %Vp, E= m°cz2, Ep = myc?, p = 2 30.40
Let's apply 40 in energy conservation E, = E — E, 30.41
Ex=E—E, - 1mov? _ mec? _ Eop = ~mgv2 = myc? — EO\/E 30.42
2\/1_7\;_5 1_\Cz_§ 2 c?
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Doing at 42 m, = zero we get:

1 _ 2 _ _ 2 V2 V2 _
E(m0 = zero)v* = (m, = zero)c* — E; |1 — =~ —Eo |1 -5 =zero 30.43

Ifin 43 E, = zero » —(E, = zero) |1 — ‘C'—j = zero without any desirable results.

2
Now if in 43 E, # zero » —(E, # zero) |1 —Z—z= Z€ero —>Z—2= 1-v=c 30.44

In 44 we get v = c regardless of the value of E, # zero.

. Mg 2Ex _ E _Pp

Of 40 we get: 1—Z§ == =T, 30.45
L v? _ 2B _ 4Ei _ c?p?

Of 45 we get: 5 = — = ap? = B2 30.46

2
But :—2 =1 of 44 was obtained from the conservation of energy E, = E — E; when m, = zero and E; # zero

. 2 2E 4E% 2p2
soin 46 we should have = = =k = "7k — 2P g 30.47
c2 E C2p2 E2

When we have m, = zero, v = c and E; # zero out of 47 we get

2
== ZEﬂ =1-E=2E, equalto36 30.48
2
‘c’_2= :2?2 =1-E=- equalto33 30.49
v2 c2p?
=7z =1->E=cp equalto10 30.50

Applying 9 and 32 to the energy conservation equation E, = E — E, we obtain:

Ex=E-E; - E\/pz—mgvz = cym3c? + pz — E, 30.51

In 51 doing m, = zero we get:

g\/p2 — (m2 = zero)v2 = ¢/ (m? = zero)c? + p2 —E, - E, = % =Eyx equalto 37 30.52
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§31 Quantum mechanics deduction of Erwin Schrédinger's equations

Let's start with the equation 8.5:

a  x/td

ax 2o zero 8.5
o  xto _0  co _0 10 _ _*
ax = c2at 6x+c2 at 6x+c6t zero ¢ t 31.1
a 19
a-l'za—Ze‘rO 312
The variables involved will be:
h 21
c=y P=7 E=hy K=7 w = 2my 31.3
h h h w h
p—z—¥—§K—flK E=hy=h_=ho h=_— 314
p = hK E = hw E=cp K=% w=cK 31.5
Function construction ¥:
c=y =§—>§=yt —>§—yt = zero — i2n(§—yt) = i(%nx—Znyt) =i(Kx — wt) = zero 31.6
ellr=0) — grero 1 i =1 2= -1 317
Y= WY(x, t) = elkx-ov 31.8
Some derivatives of the function Y = ellKx—wb.
. 2 .
Z—\: = el Kx=0Y (i) = —jwP % = (—iw)(—iw)elK*¥—vY = _42y
v . w5
E = —iw¥Y F = —w‘¥Y 31 9
I = eilx-wDig = Ky I _ ellr-anig ik = —K2y
dox ox2
v _ . [k A
dv =Zax + P gr = d(1) = zero — iIKWdx — iwW¥dt = zero S e & 1.13
ax at dt K dc ¢
Applying the function W in 2 we obtain:
v 19%
5 T o5 = zero 31.11
XL 1% kY — LiwW = zero K=2
ox c ot c c

Construction of the wave equation:

(6= 16)x(6_‘1’= 36_“’)_>62_‘P_162_‘P_>_K21p=_‘:_21p_>x=§ 31.12

ax  cat ox  cot ax2 2 at?

%y 1 9%w . .
Sz T gz T Zero Where we have ¥ = Y(x, t). This is the wave equation 31.13

Construction of the first Erwin Schrédinger equation using the wave equation:

%y 1 9%¥ 2y 1 2 %y 2

— —=—=2zer0 > — —=(—w*Y) = zero > — + K“¥Y = zero 31.14
d0x2 c? 9t2 dx2 c? ( ) 0x2 +

%y v  dv

— + K?*W¥ = zero ¥ =¥(x) —=— 31.15
9x2 ox dx
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2
4% L K2W = zero

dx?
n? a?v  n? n? a’v  w?
——+ —K*¥ = zero —————K?¥ = zero
2m dx 2m 2m dx 2m
h? d?w  h? h? d?y 2
“oma " KY = o o ¥ = 7ero p = hK

If at 30.4 we have Ej + E,(x) # zero then we can write E = Ej + E,(x) = hw.

Erwin Schrédinger adopted for energy E = % + E, (x) where we have E; = %-

pZ

Of 20 we get —om = E,(x) - E that applied in 18 results in:
h2 a2y p2 K2 d2y

“amae = “amaw T Ep ()~ E|¥ = zero

—h—zdz—w-i-E()‘P—E‘P In this we have: ¥ = ¥(x)
S B0V = is wi ve: ¥ = P(x

This 23 is Erwin Schrédinger's equation independent of time for single dimension.

Construction of the second Erwin Schrddinger equation using equations 14 and 11:

C o n . 2, n2o*w | n? o
Multiplying 14 by S aives — -+ me Y = zero
v | 19w v | oW . v . ow
Of 11 we get: —+-—=2zer0 > c—+—=zero — ciK¥Y +— = iw¥ + — = zero
ax  cot ax | ot at at

. oy .. ., 0¥ ., OW
iw¥ + o = zero - iiho¥ + lﬁ; = zero - —hwV¥ + lh; = zero

2 42 2
Adding24and25 = (224 K2W=zero)  + (—hw¥+ihI = zero)
2m dx 2m at

2 52 2
h—a—‘f—i- 2 g2y — how + in 2 = zero
2m dx 2m at

2 52 2
POy E Ry — how = —in e
2m 0x?  2m at

2
S0 Mgyt how = in 2
m Jat

h* o*w hAwW ZKZ‘P— ha
2m dx2 @ —"7%
n* 92y [ _ o 0¥ _ 2 _ p2p2
~ o+ (ho =S K?) W = ih T £ =ho pm =Rk
n? 9%y p L
“pmaa T (E-D) ¥ =%

From the energy of Erwin Schrédinger we obtain E = % +E,(x) > Ey(x) =E — %

Applying 31 out of 30 We get:

2 p2
L E,(x)¥ = ihi;—lf In this we have: ¥ = W(x, t)

2m 9x2

This 32 is Erwin Schrédinger's equation dependent on space and time.
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31.22

31.23

31.24

31.25

31.26

31.27

31.28

31.29

31.30

31.31
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§31 Simple Quantum Mechanics Deduction of Erwin Schrédinger's Equations

From 30.8 and 30.3d we get:

p=—= 31.33

2 2 2
mgV 1 mgyv
E,. = =2—+m,c? |1 myc? =-—=2 31.34
k v2 ° c? ° 2 v2
1-= 1-=
C C

If in both equations in the % ratio the speed of light is considered to be infinite, then we will have C:Lm = zero
resulting in:

p =myv 31.35
myv? + myc? —myc? = %mov2 - Ey = %mov2 31.36

This is what happens in Quantum Mechanics, the speed of light has the character of being infinite and
2

therefore Erwin Schrddinger's energy equation E = E; + E,(x) where we have Ej =5—m presents perfect

results. We should note that at 36 the inertial energy m,c? also disappears.

Function construction Y:

C=§=§—>px=Et—>px—Et=zero—>%'(px—Et)=zero 31.37
erPX=ED) _ gzero _ i=+v-1 i2=-1 31.38
Y= Y(x, t) = enP¥ED 31.39
Some derivatives of the function Y = enP*ED.

¥ _ pox-B) (_ip) _ i w_ i _ _how

= e ( hE) = —2EY = —EY By =22 31.40
Y _ tox-E0) (_ip\(_ip\— _1p2 ?Y _ _1po 2y _p20%¥

=i (—3E)(-+F) = -5 E*w = —SEW B2y = —p2 2 31.41
¥ _ sox-E0) (L) _ 1 v _ i _how

ax (hp)_hplp ax _hplp p¥ = i ox 31.42
%% _ tx-E0) (L V(1 \_ _1 2y _ 1.9 2y — _p29?%

oz~ (hp) (hp) =PV o2 = P Y P =—hos 31.43

From the total differential of W we obtain:

oy ow . _ i i _ dx _E _ & _x
d‘l’—adx+§dt—d(1)—zero—>(hpll’)dx+( hE‘l’)dt-zero—»dt—p—c—>dt—lt 31.44

Applying the function W and its derivatives in E = cp and E? = ¢?p? we obtain 31.11 and 31.13:

how how ow v oY | 10¥ _
E‘P—Cp‘P—)—;;—C;a%—g—ca—>§+;;—zero =31.11 31.45
E2W = ot it = 2 (-2l Y) S Y o 2T T LT =31.13  31.45b
p at2 dx2 at2 dx? 0x2 2 ot2 ' !
2
Let's write Erwin Schrédinger's energy equation E = Ej, + E,(x) where we have E, = ;’—m:
_ _r p? _
E—Ek-l-Ep(x)—%+Ep(x)—>%+Ep(x)—E 31.46

In this we apply the function W and its derivatives:
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g - 2 (22
2m+Ep(x)‘P—E‘P—>2m(h )—i—E(x)‘P EY

n? 92w 2y q?y
—Eﬁﬁ'Ep(X)lp—qu In this ¥ = ly(X) a——ﬁ
h? d?w

S +E,()¥ =EY

T omax?

This is 49 is Erwin Schrodinger's equation independent of time for a single dimension.

2

Let's write Erwin Schrédinger's energy equation £ = Ej, + E,(x) again where we have E;, = ;’—m

2 2
E=E+E,(x) = -+ E(x) > -+ E,(x) = E
In this we apply the function W and its derivatives:

P - 1 2""*’ = _how
+E,(0)¥ = E¥ - — ( h )—i—E(x)‘P 2

1 26 y ih 0¥ h% 22w hd

o (TR 52) H B, )W = =50 o — RIS+ B, (0¥ = ih %)
h %y v : . —
—omaz T Ep (Y = ih— In this we have: ¥ = W(x, t)

This 53 is Erwin Schrodinger's equation dependent on space and time.
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31.50
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§ 32 Relativistic Version of Erwin Schodinger Equation

A particle moving with velocity v along the x axis is associated with an infinite wave in the form:

Y =Y(xt) = Aet® = AerPX-ED A = Constant 32.1

For a plane wave of constant phase @ = @(x,t) = px — Et = constant we obtain the velocity u of phase equal
to:
dx E

— Oy + P g = — pdx — Edt = S =2
d@—axdx+atdt—zero—>d®—pdx Edt—zer0—>u—dt—p u=- 32.2

The energy E, and the moment p being properties of a particle in motion with velocity v, and the frequency y
and wavelength A being properties of the wave motion associated with the particle. Louis De Broglie listed
these properties in the following equations

o 2 o 1

E=hy =725 p=hk=-—2 k== 32.3
From 3 we get the phase speed u:

_Y_E_¢
u=p=-=7 324
In 4 we have m, > zero because if my = zero then E = cp (30.10) and we would have:

—Y_E_
u=g = o= c 32.5
And in 4 the phase velocity would be u = cand not u = % 32.6
As m, > zero then v<c and in 4 we have u>c. 32.7
Ifat4 u= % the phase velocity then ¢ # % because if at 4 ¢ = ithen we would have:

2 2

y_E__® v_® oY
u_E_E_V_T_)E_T_)u_V_C_E' 328
And in 4 the phase velocity would be u = v =cand notu = % 32.9
From 4 we get the velocity v written as:
P G . 32.10

k p v E
Applying 10 in kinetic energy E, = %Vp = % m"‘fz we gettomy > zeroev<c:
ez
_ 1 _1 o] _ lczp2 _ lczp2

Bo=3vp =3 (P R)p =3 T 2 =3 a
When m, = zero then v = c and we have Ex = % (30.33) and E=cp (30.10).
Multiplying 30.33 by 30.10 we obtain:
ExE = Lcp o Ey = 252 32.12

kb = —Cp k=37g -

2,2
And we have 11 equal to 12 demonstrating that the equation E; = %% is ambivalent and has general
validity for my > zero and v < c.

We know from mathematics that the group velocity v, is given by: v, = % 32.13
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From 3 we get the speed in the form:

mgc? v? V2 m3ct m?c*
E=hy=—vz—>(hy)z(l—c—z)=m§c4—>c—2=l—hzoyz sv=c ’1—}12"7 32.14

s

In 14 we have the particle velocity only as a function of the frequency v = v(y).

Deriving the velocity of 14 in relation to the frequency we obtain:

v2 —1_ mgct v —1_ m3ct o wdv m%c? (=2)y2 > dv _ c (méc‘*)

c2 h2y2 c2 h2 c2dy h2 dy v \h2y3

ﬂzﬁ(méc“) =z(m5°‘*) = Mgt | dv_ mjct 32.15
dy v \h2y3 k \h2y3 h2ky? dy  h2ky? ’

Deriving the velocity v from 10 in relation to the frequency and considering that k is a function of the
frequency k = k(y) we obtain:

22 =c%ky > -2 [j—l;y‘l + k(—l)y_l_l] = ¢? (l% - L) ST 2 (3%— 5) 32.16

2Db
v=c‘==c =
E dy ydy v? dy ydy v?

< I=

We should have 15 equals 16 so:

dv _ mic* (1 dk k) m3c2 _1dk  k  m3c® _dk k L m3c? |k
dy ~ h2ky2 =~ \ydy ¥2/ h%ky? ydy 2 h%ky dy y dy hZky vy
EZ
dk _ mgc? |k dk _ m3c? | hZkk _ m%c2+h2k? _ m3c2+p? _<Z _1E
dy h2ky vy dy  h2ky  h2ky h2ky Ep Ep c2p
dk 1E 1 dy
—_—=—_——_—=-Vy, =—=V >V, =V 217
dy c%2p v & dk g 3

And at 17 we have the group velocity v, equal to the velocity v of the particle.

From 30.9 we obtain:

2
E=c,/m§c2+p2—>§—2=p2+mgc2 32.18

Applying 3 out of 18 and deriving the frequency y with respect to k we obtain:

E2 2 2.2 _ b%? 21,2 2.2 _ h%, dy 2 dy 2K

== mgc® - —— = h°k mgc? » —=2y— = h?2k > —=c*- 2.1

2= P +my 2 +my 2 “Y 4 dk v 32.19
dy 2k

V,=—=C-=V-oV,=V 32.20

g dk v g

And in 20 we have the group velocity v, equal to the velocity v of the particle.

The equation E = E, + E, = % + E, by Erwin Schodinger of Quantum Mechanics equals the total energy E
with the sum of the kinetic energy E; with the potential energy E, functions, to proceed with this recipe it is
necessary to name some functions.

The name of kinetic energy in relativity should only be attributed to differences between energies, the best
examples are:

2
E = 2= —m,c? =E — E, 32.21
2
E, = myc? — 2= == E,— E' 32.22
1+

177/203



Writing 30.3:

Ex =myc? [1+ %2— myc? = = —m,c? = —E, 30.3
In this denominating T, the kinetic energy:

T, = myc? [1+ %2 —mgc? 32.23
And it remains as kinetic energy the term Ey = m"czz — m,c? 32.21
In 30.3 we have the exact result: Tp = Ex 32.24
The result is exact because applying /1 - :_z /1 + VCLZZ = 1 in either one we get the other.

And we have 30.3 written as: Ty = Ex = —E, 32.25
Writing 30.15:

Ex = myc? — / = m,cC _ch__Ep 30.15
145

In this denominating the kinetic energies:

v2 mgc?

T, = mgc? —mgyc? [1— = and E;, = myc? — = 3226
1+"C—2

At 30.15 we have the exact result: T, = E;, 32.27

The result is accurate because applyin J:J: = 1 in either one we get the other.

And we have 30.15 written as: Ty = E, = —E, 32.28

From the kinetic energy 21 we obtain:

mgc? myv? v2
Ey = == —m,c* = ==+ myc? |1 - —m,c? 32.29
1-2 1—‘C’—2 ¢

c2

2 2 2
vp = 2= = | & — m,c? —i—(mocz—moc2 ’1—Z—z>=Ek+Tk—>vp=Ek+Tk32.30

l—c—z 1—C—2
_ mov? _ mgc? 2 vZ _
Vp = — = = — M, C 1—C—2—E+T—>vp—E+T 32.31
1-% 1%
In thls vp is the d|fference between the highest and lowest energy. Therefore, the average kinetic energy
Ex = —Vp = 3 mov? is the average energy of the difference between the highest and the lowest energy.

v2

-z

From the kinetic energy 22 we obtain:

Ej, = myc? ~ Mo 2 mov” 32.32

o2 12 =2
1455 1455
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1.1 moV’2 2 V’Z 2 2 mocz ’ ’ 11 ’ ’
vp' = == | mC 1+C2 myc” | + | myc? — - =T, +E,-»Vvp =T, +E, 32.33
v/ v/
1+—C2 1+_c2
7 mov/ 2 VIZ moC2 1 1 11 ’ I
vp = =mec” |1+ —5— =T —E ->vp =T —-E 32.34
v'? ¢ v/?
ez ez

In this v'p’ it is the difference between the highest and lowest energy. Therefore, the average kinetic energy
r_ 1 g 1 movr?
Be=sve =3 7

c2

is the average energy of the difference between the highest and the lowest energy.

Comparing 30 with 33 we see that all terms in the sequence are exactly the same so we have:
vp =v'p’ Ex =T, Ty = Ej, 32.35
Comparing 31 with 34 we see that all terms in the sequence are exactly the same so we have:
vp =v'p’ E=T T=-E 32.36

The energies E, and Ty are related by:

2 mgc?-mgc? |1 v
mgC ot —Ho T2 T
Ex=—"=-myc?=—F++—% Ep = == 32.37
2 o 2 2
L L L
c2 c2 c2

/2
2 v__ 2
mocz mgoc® |1+ P mgC , T,:
_ E, 32.38

From 25 and 28 we get:

Ex = —E, - Ex + E; = zero E, = —E, - E, + E;, = zero 32.39
Now naming the Hamiltonians H and H’ as:

H=E+E, H =E; +E, 32.40
The Hamiltonians being the total energy of the particle, which by hypothesis is not necessarily equal to zero.
Now we must also define the Lagrangian in terms of kinetic energy.

Now from 30 and 33 we get:

vp=Ex+ Ty > Ex =vp— Ty vp =Ty +E > E  =vp — Ty 32.41
Applying 41 out of 40 we get:

H=Ex+E, =vp—Tx +E, H =E, +E,=v'p =T, +E, 32.42

Defining Lagrangian as:

vZ k
L =Ty — E, = myc? — myc? 1-5+- 32.43
’ l 2 V'2 2 k
L'=T,—E, =m,c 1+c—2—moc +- 32.44
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Applying 43 and 44 to 42 we obtain the relationship between the Hamiltonians and Lagrangians:
H=vp—Tk+Ep=vp—(Tk—Ep)=Vp—L—>H=vp—L 32.45
H =vp —Tg +E, =v'p’ — (T — Ep) =vp -L->H=vp-L 32.46
Now to redefine the Hamiltonians let's add H and H’ to 40:

(H=Ex+E,)+ (H =E; +E,) > H+H =Eq+E; +2E, 32.47
Applying T, = E}, from 27 to 47 we obtain:

H+H =E +E,+2E, =E + T, +2E, > H+H =E + T, + 2E, 32.48

Applying 30 vp = E; + Ty in 48 we obtain:

H+H' =Ex + Ty + 2E, =vp+2E, > H+ H =vp + 2E, 32.49
Now defining the Hamiltonians according to 49:
1
H= Zvp+ Ep 32.50
I __ 1 4
H =svVp +E, 32.51
These Hamiltonians are H = H’ invariants.

Adding 50 plus 51 we get:

1 .7

(H=2vp+E,)+ (W =1vp' +E,) > H+H =1 (vp+v'p) +2E, = vp + 2E, 32.52
And we get 52 = 49.
The Hamiltonian H = %vp + E, must agree with the Hamiltonian equation v = z—g.

oH _

b b r) =2 (i) = sr

0H J (1 10v 1_0p 10v 1
— va — —

= a"P) = 2P TV, =2 P 7Y 3254

Deriving the velocity of 10 v = c2 % we have
o) _ @

v _ 0 ( 2P\ _ 20 -1y _ .29p o1 2 _ 2,.p-1-1=—29E
= (c )—cap(pE )_CapE +cp pE

E dp E dp E dp

av c2 2 —1-1=-2 OE c? 2 p OE

XL _rppimt=2 2B OE 32.55
dp E p ap E EZ dp

Now deriving E with respect to p in 18 we get:

9 (E2 2 2 2) 2E 9E E 9E 9E 2P
—|5= mgc’) >S5 —-=2p>S—-—=p—o>—-—=cCc'-=V 32.56
ap (cz p” + mp cZ ap p cZ ap p ap E

Applying 55 and 56 out of 54 we obtain:

2

OH 1ov 1 1(c2  poE 1 [ ,p
= —v c p =
2 E ° EZap

op  20p B

OH 1[c? zp() +1 _1c? 1 ,p? 1 1 1v? 1
op 2| S EWV|PTVTREP TS -
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oH 1 1v2 +1 3 1v? _o(1 1v?
ap 27 22 VTV TV T\ T2

6H_V(1 1v2)_v
ap 2¢2)

32.57

2
In 57 we consider the term %:—2 = zero or we could consider that the speed of light has the character of being

1 v?
= — = zero.

infinite in Quantum Mechanics (QM) Y-

Applying the formula 10 of the velocity v = c? g to the Hamiltonian of 50 we obtain:

1 _1(.2P —1¢%p? _1cp?
H=2vp+E,=2(c2D)p+E, =" +E, > H =12+,

2.2
And at 58 we have the ambivalent kinetic energy of 11 E, = %C;

From 58 we get the value of p:
2E 2 mgc2 _ 2mg
p= /C—Z(H —Ep) = J;JTZ_;(H —Ep) = JE(H —Ep)

In this doing ¢ = o we obtain:
%(H ~Ep) = [2my(H—E,) > p = [2m,(H - E,)

In 60 we have the p value of the theory of Erwin Schodinger.

Applying 60 out of 10 we get the particle velocity:

2
C

v=c22=X%

E

= [ (H-Ey) »v= %(H—Ep)

In what follows the development is approximately the method of the own Erwin Schédinger.

In Hamiltonian 58 applying the Hamilton Jacobi equations to the x axis we obtain:

s as as as as as

3" ox P —x-H S=-H(ag t)=-H(x3 1)
_ 1¢%p? _1¢? (05)2 s

H_ZE +EP_2E ax +Ep = at

1¢2 (05)2 as
—— (= E — = zero
2 E \0x tEp+ ot

For a conservative system the Hamilton Jacobi equations are given by:

as as _

w=P wx-"H

From 65 it is concluded that the action S can be in the form:

S =S(x,t) = f(x) + g(t) = constante

Where f = f(x) is a function of x that should result in % = % =p
Applying g = % e g = —H in 64 we obtain:
1c2 (dS 1c2 (of

2 as 2 2
25 () +Ey+ 5 =zero > 15 (5) + By — H = zero
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Now let's make the transformation in 68 f = f(x) = kin¥ 32.69
Where k is a constant.
The f function of 69 has an analogy with entropy.

Applying 69 out of 68 we obtain:

2 () + By — = zero > LS P 5y — i = e 3270
3% [0(kln‘}’) +E,—H=zero- ——(%‘;—t) +E, — H = zero

12 5 4 =m0 15 2 4 5y )

%CZCZ (5> + (E, —H)W? = zero 32.71

Now suppose 71 is not null and has a remainder R in the form:

_ o _ iczkz (A4 _ 2
R=R(¥5x) =25 (ax) +(E, — H)¥ 32.72
The rest R must be a minimum so it must meet the functional:

[*7R (w2 x) dx 32.73

And we get from the Euler Lagrange equation of the functional:

= ;—x[a(‘%)] = zero - %ECZE"Z (5) + (B, — H)‘PZ] E{a(z g E CZ‘Z (5) + (B, - H)‘PZ]} = zero

S+ | - i B G+ (o v = 205, - v - 25 2()] -

zZero
1c%k? 1c%k? 02y 1c%k? 92w
28, — )% - - ;52 (5)] = (B )W = 3550 = =155 + (Bp — W)W =zero
1c%k? 32w 1c?k? 3%y
— ==+ (E —H)‘P—Zeroe—ETaz +E,W = HY
_1c%k% 9%y
— S+ E W = HY 32.74
2 2
In 74 we have W = W(x) » 2> =27 32.75
ax dx
25,2 42
LAY L B = HY » -1 32.76
2 E o0x 2 E
Applying the energy E = —= in 76 we obtain:
1‘c—z
2 2 2 2
1Y pw =Ry 1S Y gy H‘P—»—l,lf,—qu+E Y=HY 3277
2 E dx 2 MoC” dx 2—=2-d
2 v2
1—:—2 1=z
Making in 77 ¢ = oo we obtain:
2 2
—%,’,‘1—0‘”’+Ew HW—>—%,’,‘,—O‘”’+EW qu_)_lk_‘;f +E,W = HY 32.78
-5 1"<c=vo2o)2
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Now in 78 making k equal to Planck's constant k = A and replacing H with E because now it doesn't cause
any more confusion:

1 k? d?w 1 h? d?¥

_Em_dxz Eplp—Hlp%—E axZ Eplp—EqJ

_ YL gy Ry 32.79
2m, dx? pr T '

And we have 79 equal to Erwin Schddinger. equation 31.49. The method used in this work is approximately
the one used by Erwin Schodinger.

§33 Hyperbolic Relativistic Energy
Next, we will conclude that relativistic energy is a hyperbolic function.

From the energy of 30.9 we obtain:

E = ¢y/p? + mjc? 33.1

E? = ¢?p? + m3c* - E2 — ¢?p? = mic* 33.2
(E + cp)(E — cp) = myc2. myc? 33.3
(E+cp) (E—cp) _ 4 33.4

mgc2 * mgc?

In this denominating:

moC CmoV

VZ
o0 — Erep) _ K a - / 1 N 147 (1+%g 33.5

2 2 2 2 v
mgc mgc 1_v_ , _v_ \/ 1__ 1+ 1-7

o= [0+ 33.6
()
moC _ cmgoVv

v2 v2 -
R BN < e (=) 33.7

moc? moc? r r J(l_z)(uc) (1+9)

-0 =1In \/@] 33.8

e®.e® =1 thatis in agreement with 4. 33.9

Now calling the hyperbolic cosine (ch) as:

Dy a0 2
e’+e 1 [(E+cp) (E-cp) E 1  mgc 1
x=chd = = e T | T mE T T T 33.10
2 2L mye mgc mgcC mgcC v2 v2
=z 7z

And naming the hyperbolic sine (sh) as
—e? 1[(E+cp) (E-cp) cp 1  cmgv z
y = sho = £=° e =P - =< 33.11
2 2 L mqyc? mgc? moc?2  mgc? fl_ﬁ 1_ﬁ
c2 c2
To prove that cosine and sine agree with the hyperbola equation let's make cosine equal to x and sine equal
to y of the hyperbola equation 12:

x2—y?2=1 33.12
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2 2 2_.202 204
) ~ (o) =T =mea =1 33.13

v V2 1 V2
1 < 1 Zz 1=
= = | ===z =1 33.14
v v
1-5 1-— 1-z 1z 1z

0400
x = chg = &2 =L=;v>zero 33.15

So there is no negative energy.

Now defining the hyperbolic tangent, secant cotangent and cosecant have:

cmov
2
cp 1-v-
shg _ eP—e® o2 _ op 2y
0 chg eP4e=0 Lz E mgc? c
mgc
0 v
2
InoC2
(9 [} £ 1_%
cho e’+e” 2 E c c
cothg =S8 —&+e? _me? _ B _y < _¢ 33.17
shp  eP-e~? cp v
mqc2 2
v
i
1 2 1 _ mec® _ moc? _ v2
SEChQ—ﬂ—m— EZ—T—mocz— 1—C—2 33.18
mgocC 1_ﬁ
2
1 2 1 mgc mgc c v2
COSSQCh@=%=m=T= cop =crr(1)7=; 1_c_2 33.19
mqc2 v2
-2

Trigonometric Functions < Hyperbolic Functions
Construction of relationships that transform hyperbolic functions into trigonometric functions.

The Pythagorean formula for a right triangle with hypotenuse “h” and side “a” adjacent to angle a and side

“b” opposite angle «a is:

h? = a® + b? 33.20
For this triangle we have the following trigonometric functions ft = ft(a) with angle a:

a = h.cosa b = h.sena 33.21

Reshaping the Pythagorean formula gives:

R=a?+b? b=k -a?=(h+a)h—a) - (20)(5%) =% P =1 33.22
This is divided into the following hyperbolic functions fh = fh(@) with angle @:

e? = % > zero 33.23
e =25 zero 33.24

b

Where applying the trigonometric functions we obtain fh(@) = ft(a):
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h+a h+h.cosa 1+cosa
e? = = 33.25

b h.sena sena
— h—a h—h.cosa 1-cosa
e P="-= = 33.26
b h.sena sena

The real equality of the functions fh(®) = ft(a) only occurs if the angle of the hyperbolic function is equal to
the angle of the trigonometric function, that is, if fh(@) = ft(@) where both are hyperbolic functions or

fh(a) = ft(a)
where both are trigonometric functions.

From trigonometry we have:

a) _ 1-c _ sema __  [1-cos
tg (;) = sena  14cos \’1+cosa 33.27
Applying 27 we obtain the fundamental function of the trigonometric angle « as a function of the hyperbolic
angle @, a = a(9):

¢ _ ltcos 1 1 _ [|1+cos
e? = = = = 33.28
sena tg(%) Jl—casa 1—cos

1+cosa

e_@ _ 1—-cosa =tg (g) _ ’1—cos¢x 33.29
sena 2 1+cosa

a = 2arctg(e™®) 33.30

The substitution of the angle 30 @ = a(®) in the trigonometric functions transforms it into hyperbolic functions
with the necessary restrictions of existence, in the following form:

fh(®) = ft(a) = ftla(®)] = ft(®) - fh(®) = ft(D) 33.31

From 28 and 29 we obtain the fundamental formulas of the hyperbolic angle @ as a function of the
trigonometric angle a, @ = @(a):

In(e?) = In [@] > 0=0()=In [tgz%)] 33.32
in(e-®) = n[eg (£)] = ~0 = in[t (£)] = 0 = 0@) = |t 33.33

The functions (30) a = a(®) and (32) @ = @(a) are inverses of each other.

The substitution of angle 32 @ = @(a) in the hyperbolic functions transforms it into trigonometric functions
with the appropriate existence restrictions, in the following form:

ft(a) = fh(®) = fh[#(a)] = fh(a) - ft(a) = fh(a) 33.34
In the unitary hyperbola x2 — y? = 1 applying the functions x = ch® and y = sh@ we get:

x% — y? = ch?@ — sh?@ = (ch@ + sh@)(ch® —sh@) = e®.e? =1 33.35
Breaking it down into two functions yields the hyperbolic cosine "ch@" and hyperbolic sine "sh@" functions:

eP+e?

2
P9

ch® 4+ shg = e® - x =chp = 33.36

ch® —sh® = e™® - y = shg =

33.37

In 36 and 37 we have the fundamental properties of the hyperbolic functions.

Applying to the hyperbolic cosine ch@, the previous variables are obtained:
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1
=-= = = coseca 33.38
b h.sena sena

2 2

_e%4e? 1 (h+a h—a) h h
b b

Applying to the hyperbolic sine sh@, the previous variables are obtained:

a _ hcosa _ cosa

= cotga 33.39

_e%-e? 1 (h+a h—a)

2 2 b b b hsena  sena

Applying the hyperbolic cosine x = ch® = coseca and the hyperbolic sine y = sh@ = cotga to the unitary
hyperbola equation x? — y? = 1 we get:

x2 —y% = ch®@ — sh?@ = cosec?a — cotg?a =1 33.40
Which is a result of trigonometry.

With the relations of the hyperbolic cosine ch@® and the hyperbolic sine sh@ we can define the other relations
between the trigonometric functions and the hyperbolic functions:

tgho = % = 2% = cosqa 33.41
1

cotgh® = % = % = wlsa = seca 33.42

sech® = ﬁ = 1 = sena 33.43

cosech® = ﬁ = % =2 = tga 33.44

sech?® + tgh*@® = sen’*a + cos?a = 1 33.45

cotgh®® — cosech?@ = sec’a — tg?a = 1 33.46

Construction of the already known relationships that transform the hyperbolic functions into the exponential
form of a complex number.

Next, we will use Euler's formulas:
e'® = cosa + isena e~ = cosa — isena 33.47

Reshaping the Pythagorean formula, we get:

h? = a? + b2 = a® — (ib)? = (a + ib)(a — ib) — %% =% %=1 33.48

This breaks down into the following complex hyperbolic functions:

a+ib

e? = — > zero 33.49

— a—ib
e ® =

> zero 33.50

For this triangle we have the trigonometric relations:

% = cosa - = sena 33.51
Applying trigonometric relations, we get:
00210 — cosa+i 33.52
e’ =——=—+i-= cosa + isena .
—¢ a—ib a . b i
e ? = =-—i-=cosa — isena 33.53
h h h

To conform to Euler's formulas we must change the hyperbolic arguments to @ = ia and thus we obtain the
hyperbolic functions written as the exponential form of a complex number:
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e? = e'® = cosa + isena 33.54
e ® =e % = cosa — isena 33.55
Calling the cosseno chia hyperbolic complex as:

el qe~ia 1 , i
x = chia = — =3 [(cosa + isena) + (cosa — isena)] = cosa 33.56

And naming the sine shia hyperbolic complex as:

y = shia =2 _Ze_ = % [(cosa + isena) — (cosa — isena)| = isena 33.57

Applying the cosine x = chia = cosa hyperbolic complex and the sine y = shia = isena hyperbolic complex
in the equation of the unit hyperbola x? — y% = 1 results:

x? —y? = ch?ia — sh?ia = cos?a — i’sen’a = cos’a + sena =1 33.58
Which is a result of trigonometry.

With the relationships of the hyperbolic cosine chia = cosa and the hyperbolic sine shia = isena we can
define the other relationships between complex trigonometric functions and complex hyperbolic functions.

Construction of relationships that transform hyperbolic functions into trigopnometric functions similar to those
that occur in Gudermannian functions.

The Pythagorean formula for a right triangle with hypotenuse “h” and side “a” adjacent to angle a and side
“b” opposite angle «a is:

h* = a® + b? 33.59
For this triangle we have the trigonometric relations:
a = h.cosa b = h.sena 33.60

Reshaping the Pythagorean formula gives:

h? = a? + b? > =h2—b2=(h+b)(h—b)—>(%)(%)=eﬁ.e‘ﬁ =1 33.61

This is divided into the following hyperbolic functions:

ef = % > zero 33.62

e B = % > zero 33.63

Where applying the trigonometric relations we obtain:

h+b h+h.sena 1+sen
ef = htb _ = 33.64
a h.cosa cosa
— h—b h—hse 1-sen
e h="= = 33.65
a h.cosa cosa

From these we obtain the fundamental formulas of the hyperbolic angle f:

in(ef) = In (“ﬂ) Sf=In (“ﬂ) 33.66

cosa cosa

In(e™®) = In (ﬂ) >f=-In (ﬂ) 33.67

cosa cosa
Denominating the hyperbolic cosine chf as:

Bie—B -
x =chp =22 =l(h+b hb)zﬁ— L — 1 — seca 33.68

2 2 a h.cosa cosa

a a
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And calling the hyperbolic sine shf as:

a a

2 2

B_e—B -
yZShﬁZE e _i(h+b_u>_2_h.sena=w:tga 33.69

a h.cosa cosa

Applying the hyperbolic cosine x = chff = seca and the hyperbolic sine y = shff = tga to the unitary
hyperbola equation x? — y? = 1 we get:

x2 —y% = ch?B — sh?f = sec’a — tg*a =1 33.70
Which is a result of trigonometry.

With the relations of the hyperbolic cosine chf and the hyperbolic sine sh8 we can define the other relations
between the trigonometric functions and the hyperbolic functions:

_ ShB _ cosa _
tghp = e 5 = sena 33.71
chf e 1
cotghf = v szé;,zg = — = coseca 33.72
1 1
sechf = Fv e calsa = cosa 33.73
_ 1 _ 1 _ cosa
cosechf = T S oy T cotga 33.74
sech?B + tgh?p = cos?’a + sen’a = 1 33.75
cotgh?B — cosech?B = cosec’a — cotg?a =1 33.76
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§34 Hyperbolic equations similar to Paul Adrien Maurice Dirac's equations
In what follows we are always dealing with the free particle E, = zero.
Writing the relativistic energy equation 30.9:
E = c¢y/m2c? + p? - E? = ¢?p? + m3c* 34.1
E? = c?pg + c®pj + c®pZ + mjc* p® = p% +p;y + p7 34.2

2
= pZ+p2+p2 + mic? 343

2
Dirac proposed that the product of the two following equations results in 3.

= o4py + azpy + azp, + aymge 344

alme |m

= aqpx + a;py + azp, + A,mMyC 34.5

Making the 4x5 product we get:

EZ
oz = 01 0 PxPx + QA0 PxPy + 30 PxP; + MoCAL 0 Py + O APy Py + 00 Py Py +
030 PyP; + MCoL APy + 0 A3 Py P, + A 03Py P, + A303P,P; + MoCaL 03P, + 34.6

M C0y 0Py + MoCUR 0Py + MyCAZ0,P, + MoCMHCOL 0y

For 6 to be equal to 3, you must meet the following requirements:

i=k-al=a=1 34.7
i+ k- aa, + apa; = zero 34.8
Breaking down product 6 into two equations we get 9 and 15:

p® = o0 Pxpyx + 0,0, PyPy + Az03p,P; + (az0y + alaz)pxpy +
(az0y + aya3)pgp, + (az0; + Ay 03)pyp,. 34.9

In this case, if the matrices that represent the «;, are in accordance with 7 and 8, we will have:

a0 + 040, = zero 34.10
0304 + 0,03 = Zero 34.11
o300, + a,03 = zero 34.12
00 = 0,0, = az03 = 1 34.13

Com isso resulta de 9:
p® = pi +p; +p: 34.14
The rest of product 6 is:

mgc? = (a0 + 0y 0)pxmyC + (00, + 0y 00)pymoc + (a3 + aza,)p,myc 34.15
+a,0,mycmgcC.

In this case, if the matrices that represent the «;, are in accordance with 7 and 8, we will have:

40y + 0y, = zero 34.16
040, + 0,0, = Zero 34.17
0,403 + 0304 = zero 34.18
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34.19
34.20

1

c? = mycmyc
The so-called Dirac oy, matrices are:

And the final result is 6 equal to 3.

This results in 15:

Ay 0y
2
o

m
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[ coo oo O
[ [ o Too
So-HO oco~°S _goo
ccee— ococo T +
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™ | oo o
Y o-Hoo co. o
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T 1 r | o co—9 D — .
—_— — — [
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oo o O o OO . ! . !
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34.32

34.33
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And the requirements from 10 to 13 are fulfilled:

Let's do operations 16 to 19:
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0 0 0 1 0 0 0 -1 0 0 0 O
R LR e N R R
-1 0 0 O 1 0 0 0 0 0 0 O
00 0 —-13r0 0 0 -1 1 0 0O
10 0 1 0|0 O 1 O|_f0 1T 0 O
“%=1o 1 0 oflo 1 o 0“[0 010 34.46
-1 0 0 0dl-1 0 0 O 0 0 0 1
And the requirements from 16 to 19 are fulfilled:
Therefore, applying requirements 7 and 8 on the product results in 4x5 = 3:
E_ 2 2 2 2.2 _ (E _ E_ 34.47
2 px + Py + pz + mgcC c O(1px'|'fJ‘zI)y"‘("3I)z'|'0(4mocXC 3Py + APy + a3p, + ayMpC .
In matrix form the 4x5 product is equal to:
E? 00 00, 003 00y || Py
C—Z—[px Py Pz mg(C] Go @, aa  aal| p, 34.48
040y 040y 003 004l [myc
In this we have:
o 000 00 003 004
oy _|apay 00, 00z 00y
o [ 0y a3 ] = Wl Aty Ul Oy 34.49
And applying 49 out of 48 we get:
oq Px
2
E—2=[px Py P, mgyC] gz [ap oy a3z oy Py 34.50
C 3 z
Oy m,C
Breaking apart we get 4 or what is the same 5:
(Xl-
%I[px Py Pz mgC] g; = 1Py + Py + 03P, + aamye 34.51
(X4__
Px ]
§=[a1 0y Q3 Oy gy = o px + 0Py + Azp, + My 34.52
VA
mgC|
Isolating the energy in 52 we obtain:
E = a;cpy + aycpy + azcp, + agmgyc? 34.53
Let's apply the matrices a; to 53:
01 0 O 0 —-i 0 O 1 0 0 0
— _|11 0 0 0 i 0 0 O 0 -1 00
E—alcpx+(x2cpy+(x3cpz+a4cm0c2— 00 0 1ch+ 00 0 icpy—i- 00 1 0 cp, +
0 0 1 0 0 0 —-i O 0 0 0 -1
0 0 0 -1
00 1 0 2
0 1 0 o0 |mec 34.54
-1 0 0 O
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01 0 O 0 -i 0 O 1 0 0 0 0 0 0 -1
_11 0 0 O i 0 0 0 0 -1 0 O 0 0 1 O 2
E=lo o 0o 1|/T|o 0o o i|®T|o o0 1 0o|PT|o 1 o o™
0 01 0 0 0 —-i O 0 0 0 -1 -1 0 0 O
On this one we must write everything in matrix form:
2

E] [0 1 0 O01fPx] [0 —i O 07[Py 0 0 1[CPz 0 0 0 —17/moc?]
El_|1 0 0 O0]|¢Px + i 0 0 0 pr - 0 [|€Pz + 0 0 1 0 ||meC
E 0 0 0 1||CPx 0 0 0 i pr 0 0 [|CPz 0 1 0 0 ||mgyc?
El lo o 1 ollepy 0 0 —i olflcpy 0 —udlepd -1 0 0 0]y 2
In this replacing the following quantum operators we obtain:

0 ., D ., 0 ., @
E—H—lha pX——lfL& py——lfla—y pZ——lfla

. a

[in [inc 2] [—ircS] [ifc 2]
lpol 1 oo 5 =i 0 0y ol ptoo 0o0g Tl oro oo 0 —1q[me
[Mocj_[1 0 0 of| ™|, i 0 0 0 ay[,fo =1 0 o7 [0 0 1 o0 ffmoc?
linZ| |0 0 0 Lff_jpc0f (O 0 0 if_gpc 0 (O 0 L1 0 sz, 0] |0 1 0 0)imye
aal lo 0 1 0 ax 0 0 —i ol v lo o 0 -1 z[ L1 0 0 0
['hi [_ e im0 [—'h 9 o€
Mo Mo [~ R
By respectively multiplying each level by ¥;, ¥,, ¥;, ¥, we obtain
L, 0% L 0%, i 0% L 0y
s R I e -
qpoval 010 01 L ow i [0 =i 0 O 0w 10 0 071 ow 0 0 o—1f0211
|l¢?t 1000|1Cax+1000 o 00|‘°az+001o|mocq’z
n2%| 710 0 0 1| ipc?¥:| |0 0 0 | jpe?%s 00 1 0fl_jp|"[0 1 0 0[[myc2w,
| at| 0010| ox 00 —i 0 ay 0 0 0—1| oz | L1 0 oolmczq,J
L, OV, L, 0V, 0w A 0 4
|_1f1 atJ |_—1f1c axJ l_lflca_y“J l—lfL ?J

From this matrix product the following Dirac equations result:

ihaalt= —ihc ( ™ '%—%)-i—mochﬂ

ih—2 a% = —ihc (a& +iley a%) + myc?¥,
X ay 0z

aa& = —ihc (% % - %) — myc?¥,;

Hyperbolic equations similar to Dirac's equations 60 to 63
In what follows we are always dealing with free particleE,, = zero.

From the 30.9 energy equation we obtain:

EZ
E = ¢/p? + mic? - Pl p? = m3c?

2

iz p? = m3c? —( +p).(——p) mgC. myC
Em) E)_ o0

mgc ~ mgc

That broken down into two equations results:

E _
==p+mgce™”
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34.60
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34.65

34.66

34.67



o= —p +myce? 34.68
In these applying p = a;py + a,py + a3p, 34.69

Note that the hyperbolic coefficients e® and e~? already break the term m3c? into two fractions, making the
coefficient a,. unnecessary.

% = oyPy + azPy + azp, + myce™® 34.70
% = —a; Py — APy — 3P, + myce? 34.71
The product of both should result in:

= P2+ mic? = p? + pi + p? + mc? 3472

Let's make the 70x71 product:

EZ
pr = — 04 03 PyPx — Q03 PxPy — A3y PxP, + moceq)“lpx — 01 0;PxPy —
0 0z Py Py — 030, PyP, + mocewazpy — 01 03PxPz — K03Py Pz — 34.73

(0] _ -0 _ -0 —
Q303p, P, + Myce azp, — Moce "y Py — MyCe APy

myce ®asp, + myce®myce?.

Breaking down the product 73 into two equations X and Y we get 74 and 82:

X = —03 03 PxPx — Q20 Py Py — A303PzP; — (0(20‘1 + O(10(2)pxpy -
(azay + aya3)pgp; — (a30; + A2a3)pyp,- 34.74

The remainder Y of product 73 is:
Y = mgc(e® — e™®)(aypy + azpy + azp,) + moce®moyce. 34.75

From 33.11 we get:

o_g—0
shp = —— = NN 2p = moc(eq) — e_q)) 34.76

2 mgc?
In this applying 69 we obtain:
moc(e® —e™®) = 2p = 2(aupx + azpy + asp,) 34.77
Applying 77 out of 75 we obtain:
Y = 2(aypx + azpy + azp,) (01 py + azpy + azp,) + moce®moce?. 34.78
Making the product we get:

Y = 2(aypx + aypy + azp,)(aypy + aupy + azp,) + moce®myce™® =
2 04103 PxPy + APy Py + A303P,P, + (azoy + alaz)pxpy +

+ myce®mgyce®. 34.79
(az04 + aya3)pgp, + (az0, + az03)pyp, 0 0

Y = 20,04 pypyx + 20(zfle)ypy + 2a303p,p; + 2(az0q + alaz)pxpy +
2(a304 + 0303)pyp, + 2(a30;, + 003)pyp, + moce®’myce™®. 34.80

Adding 80 and 74 we get:

EZ
= =X+ Y = —a0,pgPy — 0Py Py — A303P,P; — (a0 + oy a3)pkpy — (0304 + 0y 03)pyp, — (a3, +
a2a3)pypz + 204 04 pxPx + 20‘z(xzpypy + 2a303p,p; + 2(0z04 + alaz)pxpy + 2(az04 + ay03)pyp, + 2(az0, +

?

®,03)pyP; + Myce m,ce? 34.81
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Simply put, we get:

E2

myce®myce?

For 82 to be equal to 72, you must meet the following requirements:

i=k-al=a=1

i # k- aa, + aa; = zero

To meet the requirements of 83 and 84 we must have:
a,04 + a0, = zero

0304 + 03 = zero

o300, + a,03 = zero

G0 = 00, = az0z =1

That makes 82 equal to 72:

EZ
= =P’ +mjc? = pg + p§ + p; + mgc?

The so-called a;, Pauli matrices are:

a=[]
ef

10
%=1 —1]

Let's do the operations from 85 to 88:
wa=[i 10 ol=[o ]
we=[y o[ 1=l
watan =g {+ [ Ol=[) ¢
war =g Y[ ol=15 o

ma =y olfp 1=

wa +aw=[0 o]+ [} =[5
we =l O S1=14 3
wa=[7 Jllo Sl=[ ol

wa o =% [0 ol =[) g
=7 ol[? ol=[5 9

195/203

= = W PxPx + 0Py Py + A30zp;p; + (ap04 + oy 0)pykpy + (0304 + A 03)pxP, + (030, + aa3)pyp, +

34.82

34.83

34.84

34.85

34.86

34.87

34.88

34.89

34.90

34.91
34.92

34.93

34.94

34.95

34.96

34.97

34.98

34.99

34.100

34.101

34.102



a2a2=[? ][0 i [é (1’ 34.103

A3 = [é —01] [(1) —01] = [é (1) 34.104

Therefore, requirements 83 and 84 are met and we have:

E2 E _ E
—p +m c? _px+py+pz+m c? _{‘=0‘1px+a2py+0‘3pz+moce Q}X{;=—0‘1px—azpy—a3pz+

moce@’} 34.105
Isolating energy at 105 we obtain:

E = aycpy + aycpy + azep, + moc?e™ 34.106
E = —0ycpy — apcpy — azcp, + myc?e? 34.107

Let's apply the matrices a; and the matrix | to 106 and 107:

0 1 0
-0 _ -0
E = aycpy + azcpy + azep, + myce [1 0 cpx + [i 0 cpy + [0 1] cp, + [0 1] myce 34.108

E = —aycpy — 0ycpy — azcp, + moc?e? = — [(1) (1) cpy — [ - [0 _1] cp, [O 1] myc?e®  34.109
E= (1) (1) cpy + [ Bl] cpy + [(1) 1] cp, + [0 1] mycZe™? 34.110
E=-— [2 (1) Cpy — [? Bi cpy — [é _01] cp, + [é (1)] m,c2e? 34.111

On these we must write everything in matrix form:
- ) 2,0
A e e 5 Y RN e R P i 34.112
—i ) 2,0
AT e | e RN i S Rt

In this replacing the following quantum operators we obtain:

E=H=ihs Px = —ih— py=—iflaiy p, = —ih— 34.114
i 2] —ihcZ [-inc —ihc L 2,-0

at =[0 1] o +[0 | ay +[1 0] 2 +[1 0 [moce ] 34.115
inl| ool _jpelf b 00 _jpcl) 10 U _jpe 2| 10 U [myce®
| ot ax ady 0z
[ir 2] —ihcZ [=ineZ —ihc L 240

ot - _ [O 1] 0x _ [O _l] 3}’ _ [1 0 ] 0z + [1 0 [mOC € ] 341 16
in Lol _jpel| bt Odj_jpc 2] 10 =L _jpc 2| 10 1 [mgyc?e?

ot 0x ay. 0z
By respectively multiplying each level by ¥, ¥,, ¥;, ¥, we obtain:
[., 0¥, ] L 0¥ ERT R4S L 0¥
1)‘1? _ [0 1 —1hca—x1 N [0 —i] ihc v |, [1 0 1|—ifc AR [1 01 [mgcZe=?y, 34117
inZzf 110 _jpcZ) L 00 _jpc 22 L0 U jpo 22l 010 1 [mgcte?W, '
| ot | 0x ay 0z
[, 0W5] .. 03 RTINS L 0¥
lhT — 0 1] _1hC? _ [0 —i th ay _ [1 0 th 0z + [1 0] mOC € lIJ3 34 118
ih—= alm i i 0 —ihc% 0 -1 _jnc 3:4 0 myc?e®W, .

These matrix products result in the following hyperbolic equations:
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% = —ihc (% - i% + %) + myc?e %W,
1h% = —ihc (a%+ i% - %) + myc?e™?Y,
1h% = —ihc (—%+ i%—%) + myc2e®W,

% = —ihc (—%— '% + %) + myc?e?y,
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34.120

34.121

34.122



§ 35 The Geometry of Transformations by Hendrik Lorentz
Let us consider two functions f(@) = n and g(®) = u inversely proportional in the form:
f(9).g(@) =n.u=1 35.1
That applied to the unitary hyperbola x? — y? = 1 results:
-y =x+y)x—-y)=npu=1 35.2

Breaking down 2 we can define the hyperbolic cosine x = ch® and the hyperbolic sine y =sh® in the
following form:

x+y=n—>x=ch(2)=3(n+p)—>A
2 35.3
Xx—y=p->y=shd=-(M—-pw->B

Where we add A+B to get the ch@ and subtract A-B to get the sh@.

The hyperbolic cosine x = ch® and hyperbolic siney =sh@ functions are the fundamental hyperbolic
functions.

Applying x = ch® and y = sh@ to the unitary hyperbola x?> — y? = 1 we obtain the inverse functions:

2 2 2 2 1 2 1 2

x* —y* = ch*@ — sh ®=[E(n+u)] —[E(n—u)] 35.4
2 _ o2 — oh20 _ oh2 — 12,1 12 12,1 _1.2

x4 —y* =ch?*@ — sh (2)—47] +42nu+4u l +42nu M
xz—yz=ch2(2)—sh2(2)=i2nu+i2nu=n.u=1

x*—y?=ch?@—sh?p=n.p=1 35.5

The sum of ch@ and sh@ results in n and the subtraction of ch@ and sh@ results in p:

ch@ +sh ==+ 1) +> (0 — W) 35.6
1 1 1 1

ch@ +sh@ =-n+_p+-n—-pu=n

ch® + shp =1 35.7

ch@ —sh® = >+ W) -2 (-1
1 1 1 1

ch@ —sh@ =-n+_p—-n+-pu=un

ch® —shg =p 35.8

So for two functions to be hyperbolic it is only necessary that they are inversely proportional in the form
f(@).g(@) =n.pn=1.

We can construct with the unit hyperbola x? — y? = 1 a right triangle described as follows:
x2—y?=1->x*=y*+1% =h? = a% + b?, 35.9

In this triangle we have the hypotenuse h equal to x, the leg “a@” equal to y and the leg b equal to 1.

With 3 and 9 we get:
h=x=ch®=>1n+p a=y=shg==-(n-w b=1 35.10

h+a=ch® +shp=n

=
|

<5}
I

ch® —shp =p 35.11

198/203



We can define the following trigonometric functions on this triangle:

1
sena

a = h.cosa b=h.sena =1->h=

h? = a2 + b2 - h? = (h.cosa)? + (h.sena)? — sen?a + cos?a = 1

cosa
a = h.cosa =
sen

35.12

35.13

From 10 and 12 we obtain the relations between the hyperbolic functions and the trigonometric functions:

h = chg = — a=shp = 2

sena sena

With 11 and 14 we get:

1 cosa 1+cos sena 1
n= h+a= +—=———=— -
sena sena sena 1-cos Hn
1 cosa 1-cos se 1
u:h—a: —_—— = = ==
sena sena sena 1+cos n

2 _ (1tcosa sena _ 1+4cos _ 1+cos _ 1
n° = ~eos ) = Tocose N = 1oeose np=
sena 1—cos 1-cosa 1-cosa
2 _ (1=cos sena _ 1-cos _ 1-cos _ 1
pe = = Sp= [ np=
sena 1+cosa 1+cos 1+cos

From trigonometry we have:

t (g)_ 1—cosa
8 2/~ 4] 1+cosa

This applied in 17 and 18 results:

n= tg(g) 1-cosa np=1

[04 1-cos
u_tg(z)_\/lﬂtos nu=1
In §17 we define the proportion factors n and p as:

{X_Ct=“(X_Ct)A—>17.04 nu=1

X'+ct' =ux+ct)B
Equations 22 and their inverses are:

{x—ct=u(x—ct) C {X—Ct =nx—ct) A17'04

x+ct=nEx"+ct) D X'+ct'=px+ct) B
Applying 20 and 21 to 23 we get:

x—ct=tg(§)(x’—ct’) C X’—Ct’=®(x—ct) A

2

1 I !
X+Ct—@(X +ct) D x’+ct’=tg(§)(x+ct) B
t (g) _ x-—ct t (g) x4t
8z) T v—w 87 T Tt
t (g) _ x-—ct t (g) x4t
8z) T v=w 87 T

In 27 we have the description of two right triangles with the same angles.

In the following table according to 23 we have the geometry that describes 27.
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np=1

35.14

35.15

35.16

35.17

35.18

35.19

35.20

35.21

35.22

35.23

35.24

35.25

35.26

35.27



The Geometry of Transformations by Hendrik Lorentz (GTHL)

Axle Coordinate Coordinate D|stange bet\f/veen Dlstanqe bet\f/veen
X LY X Y pomts_ o) pomts_ o)
X axis Y axis

Ponto Observer O Observer O’

0 zero zero X0 X1 [x—ct| X0 Y1 | x' —ct

1 Xx—ct=pu —ct) x'—ct' =nx—ct) X1 & X2 ct Y1 & Y2 ct’

2 X X’ X2 & X3 ct Y2 & Y3 ct’

3 x+ct=nE"+ct) x4+ ct' = px +ct)

The X and Y axes are perpendicular X_LY.

Observer O is on the X axis and Observer O'is on the Y axis.
The line joining X1 < Y1 makes angle a/2 with the Y axis.
The line joining X3 < Y3 makes angle a/2 with the X axis.

Doing on 23 the additions (C+D) and (A+B) and the subtractions (D-C) and (B-A) yields the H. Lorentz
Transforms of 28 in primary form without any consideration of the propagation of a light ray. The same is
obtained from the GTHL table if, for both coordinates, we average the sum of point 1 with point 3 or the
average of the subtraction of point 3 minus point 1.

{x—ctzu(x’—ct’) C {x’—ct’zn(x—ct) A

x+ct=nK +ct) D X+t =px+c) B 04 np=1 3523

le[n(x’+ct’) +ux —ct)]»x>ct-> AX =1[u(x+ct) +nx—c)] »x'>ct' > C
2 2 35.28

ct= %[n(x’ +ct') —pu' —ct)] > ct<x-> Bect’ =%[u(x+ ct)—nmx—ct)] >ct' <x' > D

In the Lorentz Transforms of 28 for both observers Space is greater than time. Consequently space

propagates at a speed that is greater than the speed of propagation of time which propagates at the speed
of light.
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§ 35 Continuation

In §17.07 we obtained the proportion factors 1 and p described as follows:

147 1-2
n= u= nu=1
/1—% 1+7

Considering ct = zero and ct’ > zero and the variables 1 = n(v) and p = p(v) being functions of velocity, thus in 29
when v = zero we will have 1 = p = 1 and when zero < v < c then we haven > 1 > . 35.30

17.07 35.29

With 17.02 and 17.03 we can write:
ab=cd = (x+ct)(x—ct) = (x' + ct')(x’ —ct’) = x2 — c2t? = x'* — c2t'? 35.31

where is denominated:

a=x+ct c=x"+ct
{b =x—ct {d =x' —ct' 35.32
a2 —b% = (x+ ct)? — (x — ct)? = 4xct c2—d? = +ct')? - (x' —ct')? = 4x'ct 35.33
The inverses of 32 are:

x=-(a+b)>a+b=2x X =-(c+d)>c+d=2x

2 2 35.34

ct=E(a—b)—>a—b=2ct ct’=;(c—d)—>c—d=2ct'
From 34 we get:

1 1 1, 5 2 por 1 1 1, 5 2
Xct=z(a+b);(a—b)=z(a —b*) x'ct =E(c+d);(c—d)=z(c —d%) 35.35
And we have 35 equals 33.

Applying 34 by 31 we get:
1 2 n 2
ab= (X +ct)(x —ct) = x2 — c?t? = [5 (a+ b)] - [5 (a— b)] =ab 35.36
2 2

cd= (X +ct)(x —ct) =x"> —c2t'? = E (c+ d)] - E (c— d)] =cd 35.37
Applying 32 to 23 and writing in alphabetical order we get the fundamental proportions:

a=nc c=pa B
{bz pd {dznb np=1 35.38
With the following properties:
ab=cd ad = n?bc bc = p2ad ac = ca bd = db 35.39
From 32 and 38 we get:

_a_d_ xtct _x'-cv _c_b _x'+etr _ x-—ct
n_c_b_x’+ct T x—ct p'_a_d_ x+ct | x'—cts 35.40

_ ab_ X+ct X—ct) _
-n= 1_>c'd_ 1_)(x’+ctl>'(x’—ctl)_ 1 35.41
Applying 30 v =zero —» 1 =1 in 39 results:
— 2 a_n2b_q2b_a_0b =

ad-nbc—»c—n d—ld—>c—d—>ad—bc 35.42

With ad = bc —» % = gwe build the following proportions:
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ad=bc—>ad+ac=bc+ac—>a(c+d)=c(a+b)—>%=g—>A
ad:bc—»ad—bdzbc—bd—»d(a—b)=b(C—d)—’g=g_’B

. a b a+b a-b
From 43 we get the proportions: ad = bc - T i oa T

3=ﬂ—>ac+ad=ac+bc—>ad=bc—>n=1
c c+d
%zgaac—adzac—bceadzbcenz1

b a+b
= —ad+bd=bc+bd—ad=bcon=1

b a—b
E_;abc—bd—ad—bd—)ad—bc_’n—1

a+b

c+d

g—%a+b)(c—d)=(c+d)(a—b)—>ad=bc—>n=1

a

Making n =;in39where ad =n2bc—>%.%=n.n forzero<v<cen>1>uw

d d 1 c_ b
—)%,Ezn,n—)n:%:Eeabzcdeuzﬁzgza—)n>1

n>1-n=

ol

With the proportion ) = % = % — ab = cd and 43 we obtain forn > 1:

n=%=%=ﬁ=ﬂ—>(a+b)(a—b)=(c+d)(c—d)—>a2—b2=c2—d2

c+d a-b

b_d 2D a+b)@a—b) = (c+d)(c—d) - a?—b? =c? — g2

C
H= =37 0 ca

nu= () (5) =1

In 51 and 52 it is only useful for zero < v < ¢ which results in the ratio ab = cd which is best described as:

a d a+b c—d
‘ oy —ab=cd- (a+b)(@a—b)=(c+d)(c—d)
”ZQZ_ p'_a+b=c— - B

Forn > 1 in 54 we only have the fundamental proportions of 38 and the proportions:

{a+b=n(c+d)—>A {c+d=u(a+b)—>C
a—b=pulc—d)—>B c—d=n(a—-b)-D

From 55 we get:
(@a+b)(@a—b) =n(c+ dulc—d) - a®? — b? = c? — d?
(c+d)(c—d) =pu@+b)nla—b) > c?—d? =a? —b?

Adding and subtracting 55 we get the alpha transformation:

a=zc+d) +pc-d]-A c=;l@+b) +n@-b]-cC
b=;Me+d)—pe—d]-A d=;[u@+b)—n@-b)]-C

Applying 58 to a? — b? we get:
1 1
a? —b? = Z[H(C +d) + p(c - d)J? —Z[H(C +d) — plc— d)J?

2 _ bZ —
a 2 [
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35.43

35.44

35.45

35.46

35.47

35.48

35.49

35.50

35.51

35.52

35.53

35.54

35.55

35.56

35.57

35.58

n?(c+d)? + 2n(c + dplc — d) + w?(c - d)*] - % *(c + d)? — 2n(c + Dulc — d) + u?(c — d)?]



a? — b? =%[2(c+d)(c—d)]+%[2(c+d)(c—d)] =(c+d)(c—d)=c?—-d?
a?—b?=(c+d)(c—d) =c?-d? 35.59

Applying 58 to ¢ — d? we get:

1
[1@@+b) +n(a-b)]* - ZH@+b)—n@- b)]?

NI

CZ_d2=

1
c? —d*=—[p?(a+b)* + 2p(a +b)n(a —b) +n*(@@ —b)?] —Z[uz(a +b)? —2p(a+b)n(a —b) +n?*(a—b)?]

A

c? —d? =l[2(a+b)(a—b)] +l[2(a+b)(a—b)] = (a+b)(a—b) =a? —b?
4 4
c?2—d?=(a+b)(@a—b) =a?-b? 35.60

. I U S 2 . n 2 )
Applying 34 to the equality (a®* +b%) = [E (a+ b)] + [E (a— b)] we get:
2 2
%(a2 +b?) = E (a+ b)] + E (a— b)] = [x]* + [ct]® = x? + c2t? 35.61
. o1, 2 1 2 n 2
Applying 34 to the equality S +d9) = [E (c+ d)] + [E (c— d)] we get:
2 2
(P +d) = E (c + d)] + E (c— d)] = [x]2 + [ct']? = X2 + 2t 35.62

In 61 and 62 we have the mean square where x and x' are the radii, so again we have Space greater than time, that is,
x> ctand x' > ct’.

"Although nobody can return behind and perform a new beginning,
any one can begin now and create a new end"
(Chico Xavier)
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